INFiviT Y

ENGINEERED PRODUCTS

SUPER-CUSHION
wim»  AIR SPRINGS

2y FOR TRUCK, TRAILER AND BUS SUSPENSIONS
AND FOR CAB AND SEAT SPRINGS

N
GOODSYEAR INFINITY

AIR SPRINGS ENGINEERED PRODUCTS



GOODSYEAR.
AIR SPRINGS

INFINITY ENGINEERED PRODUCTS
AIR SUSPENSION FEATURES & BENEFITS

TOP BEAD PLATE THICKNESS
* Reduced leakage at crimp — Longer Life

OZONE RESISTANCE — 2.4 TIMES PROTECTIVE MATERIALS
* Reduced Cracking — Longer Life

EPOXY POWDER COATED PISTONS (STEEL)
* Reduced Bellow Wear — Longer Life

EXTEND-AIR: DOUBLE WRAPPED FABRIC
* Reduced DOT Downtime (Up to 20 Times Life)

TYVEK TAG WITH PART NUMBER
*Easy Identification

GOODYEAR & INFINITY ENGINEERED PRODUCTS BRANDS
* Customer Confidence

4 YEAR WARRANTY
*longest in the Industry

INFINITY ENGINEERED PRODUCTS SALES TEAM
* Sales Support & Training

ENGINEERED PRODUCTS

TABLE OF CONTENTS

AIR SPRING PRODUCT INFORMATION PAGE
Super-Cushion® Air Springs for Trucks, Trailers, and Buses. . . ........... ... .. .. . ... 2
Components of Super-Cushion Air Springs . . .. ... ... o 3

Unique Product Identification System. . . ... ... .. 4

How to Choose the Correct Replacement Air Spring . ... ... ... oo 5

Air Spring Identification . . .. ... 6-7

Air Spring Installation .. .. ... 8-9

Air Suspension Vehicle Maintenance Checklist. . . ... ... ... ... . . L. 10
Selected Non-warrantable Conditions. . ... ... ... . o 11-13
NEW ADDITIONS

2018 New Air Springs Additions . . . . ... oo o 14
IDENTIFICATION & APPLICATION INFORMATION

Bl oS, . . . 16-45
Rolling Lobes. . .. ..o 46-123
lOBVES. . o 126-137
FLEXMEMBER INDEX. . . ... ... oo 138-141
FIRESTONE FLEX MEMBER CROSS REFERENCE. . ........ ... ... ... .. ... ... ... .. ............. 142-143

PISTON INDEX

Pistons for Rolling Lobe Air Springs . . . . ... oo 144-147
CROSS REFERENCE INFORMATION

Competitors to Super-Cushion . . . ... ... oo 148-172
TERMS AND CONDITIONS. .. .. ... 174-175

INFINITY



GOODSYEAR. GOODSYEAR.
AIR SPRINGS AIR SPRINGS

. COMPONENTS OF SUPER-CUSHION® AIR SPRINGS
SUPER-CUSHION

AIR SPRINGS FOR TRUCKS, TRAILERS, AND BUSES ROLLING LOBE AIR SPRING (IR DESIGN)

Super-Cushion air springs for trucks, trailers buses, and cab & seat springs protect cargo, provide constant-level hauling, and deliver

Combination Stud/ Stud
long, trouble-free service. Super-Cushion air springs give your trucks, trailers and buses a new high in productivity and long life. They Air Fitfing
offer a quiet, cushioned ride. Truck, trailer and bus bodies last longer than with steel springs because there is less vibration. The driver
rides in greater comfort, becomes less fatigued and stays more alert. Plus cargo has better protection from shock and vibration. Whenever
you want to add an axle, Super-Cushion air springs fit right in. Super-Cushion air springs, when used with leveling valves, also maintain Flexible Member

. . . . . . . Rolling Lobe
consistent trim regardless of the load. That means clearance heights remain constant,and that trailer floors are flush with loading dock (Roling Lob)

floors for ease of loading and unloading. For driver comfort, load cushioning, and long life for your trucks, trailers, bus, and cab and seat

Lower Retainer
springs specify Goodyear Engineered Products Super-Cushion air springs.

Piston
Air Fitting
Blind Tap
Flexible Member
(Bellows)
Girdle Ring

Internal Rubber
Bumper (Optional)

2 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY



GOODSYEAR. GOODSYEAR.
AIR SPRINGS AIR SPRINGS

UNIQUE PRODUCT IDENTIFICATION SYSTEM HOW T0 CHOOSE THE CORRECT REPLACEMENT AIR SPRING

The Super-Cushion air spring assembly part number consists of the Product Description and the Assembly Number. Elements of this
system are shown in the following example for ordering a 2B12-300 Assembly:

2812 - 300

L

These three numbers represent a unique identifier for this particular air spring.

This is the nominal outside working diameter of the air spring assembly, in inches.
(It is not the maximum diameter.)

This letter refers to the type of air spring:
B - Bellows

R - Rolling Lobe (bead type conventional)
S - Sleeve (beadless rolling lobe type)

Many air springs appear to be similar in design and size at first glance. However, differences in the manufacturing techniques used for
similar looking air springs may create substantial differences in operating dimensions. Specifically, the inflated (or operating) diameters
of seemingly identical air springs will vary depending on the angle of the reinforcing fabric used in the flexible member.

For example, air spring models 1R12-092 and 1R13-039 appear very similar when first examined. However, the TR12-092 model will

Number of convalutions in the assembly: inflate (operate) on vghmle af upprommately 12 dmmetgr, while Thg 1R13-039 model w!II operate ot.13 diameter. In a sgbsntuhon of
1 single convolute the TR13-039 air spring for the TR12-092 in a truck trailer suspension, the larger air spring inflated diameter would most likely rub on
2 - double convolufe another suspension component (such as a fire, shock absorber, or bracket) and cause failure within a few miles.

3 - triple convolute Air springs with interference type failures will not be considered for warranty claims. Be sure to select the

correct replacement!
To select the proper Goodyear Engineered Products Super-Cushion® replacement air spring, use the procedure on the next page.

CAUTION: Numbers molded on the rubber bag (flexible member) are NOT the assembly part numbers. Bags with the same numbers
are used with different combinations of top and bottom metals. They may or may not have an internal rubber bumper.

4 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 5



GOODSYEAR.
AIR SPRINGS

AIR SPRING IDENTIFICATION

1. Start with the original equipment or aftermarket part number. It is usually located on a label affixed to the top plate of the air
spring. If it is a Goodyear Engineered Products part number, simply double check the product photo in the main body of the catalog.
If you have an 0.E. number or a Firestone number look in the cross-reference section.

2. Ifthe 0.E. part number or aftermarket part number is unknown you should begin your search with the bellows number. The number is
molded into the rubber part of the air spring. Once identified you can narrow down the choices in the Flexible Members Index section.

3. Measure the width of the top plate and make a note of the bolt pattern or taps.

4. Measure the width of the piston or bottom bead plate and make a note how the bolt pattern is oriented compared to the bolts on the
top plate (Inline or Rotated). The view of this orientation should appear as if you are looking directly through a clear drinking glass
from the top to bottom. This is how the catalog illustrations are drawn.

5. Measure the height of the air spring with no air pressure from the top plate to the bottom of the piston. This is the extended height.
6. Compress the bag as far as possible with no air pressure and measure the height. This is the compressed height or minimum height.

7. Measure the distance from center to center of each bolt on the top and bottom of the air spring.

GOODSYEAR.
AIR SPRINGS

2B DESIGN

NOTES: If the air spring you are replacing has studs (retainers) attached to the

top or bottom plate, and the Goodyear Engineered Products Super-Cushion® air spring
is identical except that it has recessed, blind taps, use the optional shoulder studs
578-92-9-056. (Pictured to the right.) Screw these into the plate using Lockite
#1271, or equivalent, thread lock to insure that the studs do not loosen in service.

If you wish to use cap screws or your own bolts to attach air springs with recessed
blind nuts to the suspension, the screw must have 3/8-16 threads and must extend
no more than 0.562" into the blind taps. Deeper penetration will cause the new
air spring to leak and it cannot be repaired satisfactorily.

Air springs with damaged blind taps cannot be considered for
warranty claims.

3B DESIGN

2.50"

L

l

|

{

|

i

A -!-_I 1

o —
—
—

— -
13UNC-3A

— 38"-
16UNC-3A

SHOULDER STUD
578-92-9-056

NiTY Find Products and Order Online | www.infinityairsprings.com

Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



GOODSYEAR.
AIR SPRINGS

AIR SPRING INSTALLATION

Before you start installing air springs, make sure you have all the necessary tools and equipment to perform the repair safely. Familiarize
yourself with the suspension on which you are performing the repair by reviewing the manufacturer’s sewvice guide. If you are in doubt
about something, ask for assistance from a qualified suspension specialist, the suspension manufacturer or the air spring manufacturer;
it can save you a lot of time and aggravation later in the job.

Here are important tips to remember when installing a new unit:
* When disconnecting the leveling valve linkage, check for bent or broken link-age; if you find any, replace the damaged parts.

* Check shock absorbers for possible replacement. There are usually two warning signs indicating a worn shock. If it can be easily
compressed or extended, it is time for a new unit. Also, if the vehicle has just been brought in for service, the shock should be warm
to the touch. If not, it needs to be replaced. Remember, proper shock maintenance is one of the keys to long air spring life.

* Once the air lines are disconnected, check the line for cracks or damage. Also check for loose fittings, and replace any worn components.

* Some times the cause of air spring failure is visible and/or readily apparent; other times it is not. When it is not, inspect the air
spring after you have removed it to determine the cause of failure and then correct the root cause of the problem.

* With the air spring removed, other parts of the air suspension become more accessible. Check for wear or damage of the frame
hangers, trailing arm bushings, torque rods, the trailing arms and the air spring mounts. Again, replace components where
necessary.

*Also check the area around the air spring mounting fo ensure there are not any obstacles or sharp edges that can damage the
new air spring.

Before installing the new unit, clean the air spring mounting plates to ensure proper attachment to the suspension.
* Always use new atfaching bolts for the installation. Old bolts should never be reused since they may fail.

* (Check the leveling arm for proper operation. Under load, the leveling arm should move from the neutral position up to the intake position.
This lets air into the springs, which brings the arm back to the neutral position. When the load is removed, the leveling arm should move
down to the exhaust position. That opens the exhaust valve, allowing air to escape until the arm returns to the neutral position.

INFINITY Find Products and Order Online | www.infinityairsprings.com

GOODSYEAR.
AIR SPRINGS

AIR SPRING INSTALLATION

NOTES
Add Shoulder Stud #578-92-9-056 where required.

SAFETY & LONGEVITY RULES
1. Use Goodyear Engineered Products Flexible Members on Goodyear Engineered Product Pistons Only.
2. Replace ALL ir springs on each axle instead of just one.

Following Rule T will prevent component failure due to interference with other suspension parts or other truck/frailer components.

Following Rule 2 will give equal riding heights & bounce response to insure a stable and safer ride.
Any old air spring assemblies which are sfill serviceable could be carried.

AIR SPRING TORQUE REQUIREMENTS
The following values are considered to be the maximum allowable torque for the designated mounting hardware.

MAXIMUM TORQUE (FT. LBS.)
3/8" - UNCBLIND TAPS 25
172" - UNCBOLTOR STUD 25
3/4" - UNCSTUD 55
3/4" - UNF COMBO STUD 50

AIR FITTINGS

174" NPTF 20
172" NPTF 20
3/4"NPTF 20

Air springs failing due to over torqueing will NOT be considered for warranty claims.

Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFiNi



GOODSYEAR. GOODSYEAR.
AIR SPRINGS AIR SPRINGS

AIR SUSPENSION MAINTENANCE VEHICLE CHECK-LIST SELECTED NON-WARRANTABLE CONDITIONS

* Check air lines and fittings for leaks: rubbing on air spring.

* (Check proper clearance around air spring when inflated. Generally, a minimum of 1-1/2" will allow for the increased diameter
which occurs in heavy jounce.

*Periodically, check suspension for proper ride height. This dimension should be maintained +/- 1/4" to protect the springs
and shocks from over-extension or frequent bottoming out of the suspension.

* When doing routine vehicle maintenance, block up the suspension and check for irregular wear or material build-up on the
flexmember. Clean, if necessary, using a non-petroleum based cleaning solution.

* Check rolling lobe piston for material build-up. Hardened debris on the piston will shorten spring life and should be removed
as part of your regular maintenance.

* (heck shock absorbers for any signs of leaking hydraulic fluid, broken end connections, worn bushings or cylinders,
and over extension.

* Periodically, check nuts and bolts for proper torque. See manufacturer’s manual for specific recommendations.
* (heck height control valve to see that it is functioning properly. Clean or replace, if necessary. A properly maintained valve will

save hundreds of dollars in unneeded maintenance expense.

Routine inspection of all of the above, according to a predetermined mileage maintenance schedule will
extend the life of your vehicle and reduce your overall maintenance expense.

OVER-EXTENSION

Eventual tearing away of the bellows from the top plate or the
bottom piston.

The top plate may appear convex.

Commonly seen on lift axle applications, particularly on trucks
and tractors used in severe on/off road service such as
consfruction, logging, or quarrying.

Results from operation of the air spring beyond its rated
maximum extended height or long-term operation at or near
its maximum extended height.

Possible causes:

* Improper restraint of the downward travel of the axle that
allows the air spring to operate beyond its rated maximum
extended height.

* The ride position is too high due to improper adjustment
or improper functioning of the leveling valve.

* (Can result in long-term operation of the air spring at
or near its rated maximum extended height.

* Shack absorbers are not functioning properly, are missing
or are improperly sized.

*Incorrect air spring for application (too short).

NORMAL CYCLE FATIGUE

Fatigue cracks will appear on the outer surface of the rubber
as a normal part of the aging process.

Minor cracks are not ordinarily a cause for removal.

The air spring will still function properly provided there is no
air leakage.

g
=

=

OVER-EXTENSION

NORMAL FATIGUE

10 INFINITY Find Products and Order Online | www.infinityairsprings.com

Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297

INE

Yyl

wr
»

n



GOODSYEAR.

AIR SPRINGS

SELECTED NON-WARRANTABLE CONDITIONS

RUBBER DAMAGE FROM CHEMICALS

* Grease and oil are common examples that can cause this condition

after prolonged confact with the rubber flexible member.

Possible causes:

Excessive oil in the air supply.

Excessive greasing of universal joints.
Excessive greasing of the fifth wheel.
Leaking seals in suspension components.

Use of petroleum based cleaners on the air spring
(use only soap and water for cleaning).

CORROSION AND IMPACTS

* Deterioration of the top plate or piston.

Possible causes:

Chemical exposure.

Road debris being flung into the piston causing a crack.
Pitting from salt.

Excessive oil or water in the air supply.

Build-up of debris on the piston, top plate, or girdle hoops
(keep clean with soap and water).

DAMAGE FROM CHEMICALS

CORROSION AND IMPACTS

12 INFiNiTY

Find Products and Order Online | www.infinityairsprings.com

GOODSYEAR.
AIR SPRINGS

SELECTED NON-WARRANTABLE CONDITIONS

EXTERNAL ABRASION

* Ahole rubbed into the side of the bellows.

Possible causes:
* Bellows contact with components on the vehicle (such as air lines).
* Road dirt and debris.
* Worn or failed parts in the suspension.
* Worn bushing
* Broken shock
* Misalignment

* Leak or pinch in air line causing spring fo be under-inflated.

ABRASION

Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297

INFINITY

NGINEERED PRODUCTS

13



NEW AIR SPRINGS

NEW PART #
1R12-1097
154-235

155-190
154-234

1R12-1204

1R11-292
1R12-1093
1R12-1094
1R12-1095
2B9-495

FIRESTONE PART #
W01-358-8864
W02-358-7155

W02-358-7093

W02-358-7132
(formerly W02-358-6754)

W01-358-8813

W01-358-9626
W01-358-9663
W01-358-8203
W01-358-9697
W01-358-7897

COMPETITOR PART #
Peterbilt/Paccar 81-1011

Paccar 20-19036
Peterbilt R81-6002

Peterbilt 29-06016
Peterbilt R81-6003

Kenworth 81-1003
Peterbilt (81-6000

Hendrickson Trailer $23720
Hendrickson 60271-2
Gillig LF Rear 82-19159-000
Holland 90557329
Hendrickson $23114

TYPE
Rolling Lobe Air Spring
Cab Spring

Cab Spring
Cab Spring

Rolling Lobe Air Spring

Rolling Lobe Air Spring
Rolling Lobe Air Spring
Rolling Lobe Air Spring
Rolling Lobe Air Spring
Bellows Air Spring

PAGE #
103
129

136
129

103

62
102
100
102
27

Find Products and Order Online | www.infinityairsprings.com

NOTES

Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING BELLOWS AIR SPRING BELLOWS

?‘lEl}lbloBVEv; SI:BE)%I(EI‘CIVP‘:!\,EI;;IEEDXITIEET(?I-EI'II? UPPER MOUNTING VIEW LOWER MOUNTING VIEW MA“H:’VII\:::SRER ?‘lEl}lbloBVEv; SI:BE)%I(EI‘CIVP‘:!\,EI;;IEEDXITIEET(?I-EI'II? UPPER MOUNTING VIEW LOWER MOUNTING VIEW MA“HK\:::SRER E
(7.
N
556-33-8-335 3B14-450 ASA-92-028 ASA-92-6-013 st 556-33-8-335 3B14-456 ASA-92-8-031 ASA-92-6-015 st =
FIRESTONE FIRESTONE %
C@Pﬁ@w) W013587845 7839 el
t =
wC_ D S
Vo 2 ) S
6.25
11.30 11.30
556-33-8-335 3B14-451 ASA-92-8-100 ASA-92-6-015 AN ot 556-33-8-335 ASA-92-8-100 ASA-92-6-015 pr s
. 0 0 et
® ® y FT330-35 456 ' = ® ® y FT 530-35 455
® 1.38 FIRESTONE - @ 1.38 FIRESTONE
7846 5/ . 7843
013587846 026 A
HENDRICKSON 5
S-7853 i .
<775 8.84 TRIANGLE <775 6.25
<« 1130 ——» 11.30 4456 <« 1130 ——» 11.30
556-33-8-335 3B14-452 ASA-92-8-174 ASA-92-6-056 N e o 556-33-8-335 3B14-459 A5A-92-8-100 ASA-92-6-050 st
200177
CONTI B 0 787 conTi
64580 TRIANGLE »
7 P FI530-35 441 4dd] T " @'3 ® 3 Fro30-35 457
205 p— = ® F%R[E]STONE w%rsou 2057 2 138 ;gl}l;STONE
. Y 785 & CHALIN p
49 gy —= W013587850  AS-0086 61) QJ }—E 013587847
\ Sy J HISTEER _
L» @..aNNANI G o T 10301 (,-@ i LA : @e) <%
11.30 11.30 +«— 1130 —» 11.30
556-33-8-335 3B14-453 ASA-92-8-028 ASA-92-6-013 st 556-33-8-335 3B14-462 ASA-92-8-031 ASA-92-6-013 st
CONTI FIRESTONE
64576 7855
FT530-35 436
FIRESTONE
7838
W013587838
6.25
11.30 11.30
556-33-8-335 3B14-455 ASA-92-8-031 ASA-92-6-113 556-33-8-335 3B14-463 ASA-92-8-174 ASA-92-6-013 PP
I OBSOLETE [ 625 FIRESTONE
r A il 4 7859
8 %7@ E—ag 193 ¢
L"L 6.25 iﬁ@ﬂmw 6.20
U U 1130 1130 11.30
@ Boltor Stud —1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10 @ Boltor Stud — 1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10
@ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting: @ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting:
on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF

16 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFiINITY 1]



AIR SPRING BELLOWS AIR SPRING BELLOWS

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER h
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS =
[
AUTOMANN AUTOMANN )
556-33-8-335 3B14-464 ASA-92-8-100 ASA-92-6-013 ABSP3B32RA-7862 578-91-3-301 1B12-313 ASA-92-8-002 ASA-92-6-002 ABSP1B224-7008 =
i i S
FFE'“ ''''' -l@,) ® j FT 530-35 534 250-18 NPTF FS 330-11 474 =
kI ) 1.38 FIRESTONE = = o (DRYSEAL) FIRESTONE ~
205 7862 W013587008 ()
0. ( 013587862 N\ : S
B - Y et it XK
7.2
Q—@ . m__jgh) ] A578620 23 620
-« 1130 —> 11.30 9.00
NEWAY AUTOMANN
578-23-8-329 2B14-469 ASA-92-8-352 ASA-92-6-016 905-57-257 578-91-3-301 1B12-322 ASB-92-8-164 ASA-92-6-002 ABSP1B22A-6994
CONTI
64594
® ‘%_: | FS 330-11 467
312 i ®
Y [ &
625 625 12 550 620
11.30 11.30 : 9.00 9.00
AUTOMANN  TRIANGLE AUTOMANN  INL/NAVISTAR
578-91-3-301 1B12-301 ASA-92-8-002 ASA-92-6-002 ABSPTB22A-7009 4468 578-91-3-310 2B12-305 ASA-92-8-026 ASA-92-6-002 ABSPIB22RA-7443 55478601
CONTI TRP 2?521" LOAD GUARD
7} 64595 AS70090 FD330-22323  RIDEWELL
288 FS330-11 468 DAYTON 1003587443C
y FIRESTONE 3547443 S-2683-C
7009 FIRESTONE I?}Q‘NG“
013587009 7443 TRP
NEWAY 013587443 AS74430
905-57-002 GRANNING WATSON
6.20 6.20 6.20 1218 & CHALIN
9.00——» 9.00 9.00 1589 AS-0027
AUTOMANN AUTOMANN  SUSPENSIONS
578-91-3-301 1B12-305 ASA-92-8-006 ASA-92-6-002 ABSP2B22RA-7443 578-91-3-310 ASA-92-8-004 ASA-92-6-004 ABSP2B22RA-7499  INC.
FIRESTONE CONTI 201602
6920 64539 TRIANGLE
7%4]33586920 F0330-30502 4502
Wi
013587043 ® ;!t';f)“o"i
013587499
6.20 550 6.20
9.00 9.00 9.00
AUTOMANN  FIRESTONE
578-91-3-301 1B12-306 ASA-92-8-002 ASA-92-6-002 578-91-3-310 ASA-92-8-017 ASA-92-6-002 ABSP2B22RA7447  CONT.
ABSPOB2RA-7790  W013587447
CONTI W013587790
64532 HENDRICKSON
250-18 NPTF 33030340 1475
A Gy | Q. S 1[G (DRYSEAL) DAYTON B-6242
w 354-7447 INT'L/NAVISTAR
( ) E-Z RIDE 554790C1
Y —an e 8030150 LOAD GUARD
72 FIRESTONE 502028
- 7447 TRIANGLE
4.2 6.20 6.20 7790 4340
9.00 9.00 4513

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

@ Tapped Hole on Top Refainers — 3/8-16,
Stud — 3/4-16, Air Fitting — 1/4 NPTF

on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING BELLOWS AIR SPRING BELLOWS

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER h
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS 5
(%Y
AUTOMANN  TRIANGLE AUTOMANN LOAD GUARD 5
578-91-3-351 1B14-350 ASA-92-8-028 ASA-92-6-013 ABSPTB34A-7103 4442 578-92-3-202 2B9-201 ASA-92-8-016 ASA-92-6-010 ACBOSP':?IWR-6935 :;igLO =
CONTI TRP 64515 227004001 %
64523 AS71030 . 7\ FD200-19 499 R&S TRUCK
FS 530-14 442 7 175 DAYTON & BODY E
v 354-6902 1027505 m
. FIRESTONE 108 FIRESTONE RIDEWELL ~
| \7\1100133587103 3.8 7 - 51728 %
e . 0@ A/ SAUR AXLES
72 i o/ e tn |
23 0550-00015 - 50 50 FREIGHTLINER ~ 789-493
- - 16-14318-000 SUSPENSIONS INC.
11.30 6.40———» 6.40 GRANNING 200042
AMERICAN FIRESTONE [:ISI;‘:\3 X‘S‘ZU]Z%OZ
578-91-3-351 1B14-351 ASA-92-8-028 ASA-92-6-013 CARRIER 7105 PIABG-69028 TmANﬁLE
8003007 W013587104 ;IEZIZ?(:II(KSON ﬁ;g
WO013587105 -
AUTOMANN "
ABSP1B34A-7104 TRIANGLE INVLNAVISTAR RO o
2?5';!' :::,7 AUTOMANN LOAD GUARD
TR ASTIOS0 578-92-3-202 2B9-206 ASA-92-8-040 ASA-92-6-010 ABSPBIZR-4905 Q2071
CONTI RIDEWELL
44510 1003586905
020019315 S-2845
175 DAYTON TAURUS
1130 354-6905 A5218-6905
E-Z RIDE TRIANGLE
8030120 4315
578-91-3-351 1B14-373 ASA-92-8-174 ASA-92-6-056 FIRESTONE TRP
6905 A569050
W013586905 WATSON
£l 350 350 HENDRICKSON & CHALIN
MRS 6.40 6.40 ésgélag £5-0020
g ® 6.20 85270
Q e D _l INT'L/NAVISTAR
ol = o 16851751
7.2
AUTOMANN TRP
26 6.20 578-92-3-202 2B9-210 ASA-92-8-040 ASA-92-6-010 ABSP2B12R-6908  AS69080
11.30 Ny —-> CONTI WATSON
AUTOMANN  LOAD GUARD 64511 & CHALIN
578-91-3-352 1B14-358 ASA-92-8-031 ASA-92-6-015 ABSPIB34A-7112 SC2012 175 FD200-19 362 AS-0035
CONTI NEWAY FIRESTONE
64521 905-57-026 6908
FS 530-14 339 905-57-028 W013586908
DAYTON 905-57-041 TRIANGLE
354-7112 AR-1834 v 4362
RIDEWELL . 350
;:I]ISSTONE 1003587112¢ 6.40 6.40
Wo13587112  S-3364-C
U TRIANGLE DINA
6.25 !;%Lg%VISTAR 4339 578-92-3-202 2B9-216 ASA-92-8-060 ASA-92-6-010 AZ-8127-19
1.30 PREVOST
AUTOMANN MASA T - : i 63-0174
578-92-3-202 2B9-200 ASA-92-8-016 ASA-92-6-010 ABSP2BIZR-6910 227138412 7 \ 750-14 150 TRAILERS DE
CONTI PREVOST NPTF y MONTERREY
64267 63-0173 .
2001930  pesTRUCK 108 oy ¥ 733128
A DAYTON & BODY 3.2 =~
"1.75 ff.:jﬁm 1027405
, 4127-19 Rosssestoc l : y
! Z;I]zgsrous S-4512-C Siaan 3.50 3.50
e 013586910 SPRINGRIDE 040 —> 640
l 3 GRANNING TAURUS
e o s
6.40 ——»> 6.40 PIABG-69108 A
HENDRICKSON
fsats 3 oo —
/ WATSON @ Boltor Stud — 1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10
s 1400
LOAD GUARD As-0001 & Tapped Hole on Top Refainers — 3/8-16, &R Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting:
SC0T1 on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF

0N INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFiNITY ]



AIR SPRING BELLOWS AIR SPRING BELLOWS

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER N
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS =
(%)
FIRESTONE AUTOMANN  REYCO ]
578-92-3-202 2B9-225 ASA-92-8-117 ASA-92-6-004 6928 578-92-3-206 2B9-218 ASA-92-8-113 ASA-92-6-010 ABSP2BT2RA-6927  12906-01 =
noon 013586928 CONTI 12906-02 =
™ 64553 TAURUS @
1999408 FD200-25453  AS218-6927 =
FIRESTONE  TRIANGLE ~
4927 4453 S
W13586927  ygp =
INT'L/NAVISTAR A569270 a
1685176C]
350 350 LOAD GUARD
6.40 6.40 6.40 52072
AUTOMANN AUTOMANN  SUSPENSIONS
578-92-3-202 2B9-230 ASA-92-8-113 ASA-92-6-044 ABSP2B12R-6940 578-92-3-206 ASA-92-8-040 ASA-92-6-010 ABSPZBIZRA-6943  INC.
CONTI CONTI 200835
64513 64549 TRIANGLE
FD 200-19 450 175 FD200-25426 4426
FIRESTONE ' FIRESTONE TRP
\?vgo4103586940 \?V9()4133586943 1967430
WATSON
TRIANGLE LOAD GUARD & CHALIN
4450 52122 A5-0041
3.50 TRP 3.50 350 NEWAY
6.40 6.40 As9400 6.40 6.40 905-57-237
FIRESTONE AUTOMANN  RIDEWELL
578-92-3-202 2B9-240 ASB-92-9-151 ASB-92-9-151 719 578-92-3-206 ASA-92-8-040 ASA-92-6-010 ABSPIBIZRA-6948  1003586948C
s s Wo13587119 CONTI TRIANGLE
o o mcl 64552 4429
7 . 12-1-36 175 202549 1pp
PREVOST FIRESTONE  AS69480
10.8 63-0166 6948
. ) 013586948
LOAD GUARD
502123
350 350
707 707 6.40 6.40
AUTOMANN  LOAD
578-92-3-202 ASA-92-8-172 ASA-92-6-044 578-92-3-206 ASA-92-8-172 ASA-92-6-044 ABSP2B12RA-6944 GUARD
CoNTI 502124
64512 SUSPENSIONS
64554 INC.
FD 20019448 200118
® ® 202545 ol
FIRESTONE 4448
6944
TRP
Wovaseesss AR
3.38 350 3.38 350 HISTEER
6.40 6.40 6.40 6.40 10302
AUTOMANN AUTOMANN  RIDEWELL
578-92-3-202 ASA-92-8-113 ASA-92-6-108 ABSP2B12R-7788 578-92-3-206 ASA-92-8-040 ASA-92-6-010 ABSPIBIZRA-6945  1003586945C
g%']‘g' CONTI TRIANGLE
FD200-19 510 ?352%%25 . i
;I7%§STONE P FIRESTONE Xgép9450
350
W013587788 6945
TRIANGLE _l 013586945
4510 LOAD GUARD
WATSON 52125
& CHALIN 350
6.40 6.40 A3-0088 6.40 6.40 ——>

@ Bolt or Stud — 1/2-1

Jor1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Bolt or Stud — 1/2-1

3or1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

@ Tapped Hole on Top Refainers — 3/8-16,
Stud — 3/4-16, Air Fitting — 1/4 NPTF

on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING BELLOWS AIR SPRING BELLOWS

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER h
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS =
“y
AUTOMANN  RIDEWELL )
578-92-3-206 2B9-254 ASA-92-8-172 ASA-92-6-010 ABSP2BT2RA-6946 1003586946 578-92-3-208 2B9-607 ASA-92-8-270 ASA-92-6-010 =
CONTI SUSPENSIONS n Tl %
84555 INC. i
FD200-25463 200180 Ve w =
350 | FIRESTONE ~ TRIANGLE l —
© 6946 1463 N _J/ @ ()
WOI3586946  pp ) /;@%n_\ §
LOAD GUARD  AS69460 — ‘
5(2126 - I
3.38 . ) 3.38 350
6.40 640 —> 2| = 640 6.40
AUTOMANN  HENDRICKSON AUTOMANN  SPRINGRIDE
578-92-3-206 ASA-92-8-016 ASA-92-6-010 ABSP2BT2RA-6947  B-8701 578-92-3-211 ASA-92-8-113 ASA-92-6-077 ABSP2B12R-6897  2B9-494
CONTI LOAD CONTI TRIANGLE
84551 GUARD 84517 4505
FD200-25428  S(2127 20019505  pp
DAYTON RIDEWELL FIRESTONE  AS68860
354-6947 1003586947C 6897 £568970
FIRESTONE  TRIANGLE WOT35B8897 warson
6947 4428 FLEETRITE & CHALIN
013586947 289-490 £5-0058
350 TRP
6.40 Ase3470 6.40 6.40
AUTOMANN AUTOMANN  TRP
578-92-3-206 ASA-92-8-270 ASA-92-6-044 ABSP2B12R-6941 578-92-3-211 ASA-92-8-016 ASA-92-010 ABSP2BI2R-6902  AS69020
CONTI CONTI WATSON
44512 A 64509 & CHALIN
FD 200-19 448 175 FD200-19310  AS-0002
® FIRESTONE y FIRESTONE
013586941 6902
TRP 013586902
AS69410 RIDEWELL
1003586902C
338 350 350 350
6.40 6.40 640 ——> 6.40
RIDEWELL AUTOMANN  TRIANGLE
578-92-3-206 ASA-92-8-298 ASA-92-6-010 10028092706 578-92-3-211 ASA-92-8-172 ASA-92-6-108 ABSP2B12R-6932 4452
CONTI TRP
44514 £569320
FD 200-19 452
J50-14NPTF | 350 ® FIRESTONE
6932
_¢ W013586932
RIDEWELL
1003586932¢
350 338
640 —» 6.40 6.40 6.40
CONTI TRIANGLE CONTI TRIANGLE
578-92-3-208 ASA-92-8-292 ASA-92-6-044 44554 4454 578-92-3-211 ASA-92-8-172 ASA-92-6-044 44512 4478
20025454 oo FD200-19448 4448
FIRESTONE  AS69440 FIRESTONE  TRP
W013586944 6941 AS69410
W013586941
HISTEER
© 10307 © HISTEER
10302
338 350 338 350
6.40 6.40 6.40 6.40
@ Boltor Stud —1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10 @ Boltor Stud — 1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10
@ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting: @ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting:
on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF

U INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY D5



AIR SPRING BELLOWS AIR SPRING BELLOWS

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER h Y
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS 5
“vy
AUTOMANN AUTOMANN )
578-92-3-211 2B9-288 ASA-92-8-016 ASA-92-6-010 ABSP2B12R-6926 578-92-3-217 2B9-495 ASA-92-8-113 ASA-92-6-010 ABSP2B12RB-7897 E
, an L. D, 5
175 FD 200-19 504 HENDRICKSON E
y 350 EIgI;ESTONE 523114 8
013586926 S
TRP “
£569260
350 350
6.40——> 640 —> 6.40 640
AUTOMANN  TRIANGLE
578-92-3-211 2B9-296 ASA-92-8-113 ASA-92-6-125 578-92-3-250 ASA-92-8-113 ASA-92-6-010 ABSP2B12R-7795 4524
F% CONTI TRP
= 67705 £577950
”// \\u F0 200-19 713
FIRESTONE
04 o 779
2 \ W013587795
| ,:»,:» sogecon
N A -
T — 350 350
O 640 640 640 640
AUTOMANN NEWAY
578-92-3-211 2B9-606 ASA-92-8-040 ASA-92-6-010 578-92-3-309 ASA-92-8-003 ASA-92-6-001 ABSP2B22R-7424  905-57-014
CONTI 161442
rgwrwg—ﬁ: ® 44283 R&S TRUCK
- s = FD 330-22 327 & BODY
‘ 3 173 288 1090215
\ ) 350 DAYTON
§ / 10.9 354-7424 SAUR AXLES
[T S— 34 FIRESTONE FI0.755
e N 7424 TAURUS
‘.\\ /‘J = — — Woizsezazs  ASZI4-T424
, . : : TRIANGLE
e i e HDA
2l R As 6.40 640 —» 9.00 9.00 At PR
, TRP
578-92-3-211 ASA-92-8-270 ASA-92-6-134 e TR 740
WATSON
LOAD GUARD
502024 A&Sfo'aﬁém
AUTOMANN  FLXIBLE
© 578-92-3-309 2B12-304 ASA-92-8-005 ASA-92-6-006 ABSP2B22R-7344  6-336-13
CONTI 6-336:5
64501 SMOOTH RIDE
Y FD330-22500  P10-755C
6.40 ® FIRESTONE
7344
013587344
578-92-3-211 ASA-92-8-270 ASA-92-6-134
6.20
9.00 9.00
®
338
640
@ Boltor Stud —1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10 @ Boltor Stud — 1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10
@ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting: @ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting:
on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF

2% INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 1]



AIR SPRING BELLOWS AIR SPRING BELLOWS

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER h
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS =
“y
AUTOMANN  R&S TRUCK FIRESTONE ]
578-92-3-309 2B12-307 ASA-92-8-017 ASA-92-6-002 ABSP2B22R-7403 & BODY 578-92-3-309 2B12-318 ASA-92-8-006 ASA-92-6-002 7185 =
CONTI 1040201 013587185 =
64488 1090201 \ D
FD330-22318  RIDEWELL o
DAYTON $-4302-C , 288 -
354-7403 Suspenions S
INC.
5!}55‘”"‘ 200448 §
W013587403  TRIANGLE
620 SRANNING :;:,8 620 620
9.00 LA 1 9.00 —» 9.00
PMABG-7403B WATSON AUTOMANN LINT'L/
HENDRICKSON & CHALIN 578-92-3-309 2B12-319 ASA-92-8-005 ASA-92-6-004 ABSP2B22R-7409 NAVISTAR
B-1159 AS-0007 CONTI 1685178(1
B-2883 64497 0AD
INT'L/NAVISTAR FD330-22367  GUARD
55478701 02074
® DAYTON
AUTOMANN LOAD 354-7409 TAURUS
578-92-3-309 2B12-309 ASA-92-8-002 ASA-92-6-002 ABSP222R-7400 GUARD FIRESTONE  S214-7409
CONTI $C2020 7409 TRIANGLE
84270 MASA W013587409 4367
e F330-22313 227002002 6.20 6.20
v 9.00 9.00
DAYTON NEWAY
354-7400 905-57-016 AUTOMANN  INT'L/NAVISTAR
FAB TEK 11444 578-92-3-309 2B12-320 ASA-92-8-003 ASA-92-6-004 ABSP2B22R-7401 ~ 554789C1
40080 R&S TRUCK ﬁBOS':ZT':m'”” Lot
& BODY
b0 > b0 ;ZROESTONE 1027319 T A ' 288 ?3%83% 22334 -
00 00 013587400  RIDEWELL ' DAYTON NEWAY s
FREIGHTLINER {200 00t 109 5 3547437 TC.144-3A
16-10769-000 ) FIRESTONE  RIDEWELL
GMC TAURUS 7401 1003587437¢
693230 AS214-7400 PN 7437 1006587437
TRIANGLE 6.20 6.20 W013587401  S-3363-C
GRANNING a1 9.00 9.00 WO13587437  TRIANGLE
. TRP %v7|6co95 gg?
HDA
PABG 7400 Ao74000 711954 VoLVo
WATSON HDA 2076095
HENDRICK-SON g cHauI PABG-74018  yyaTsON
: A5-0003
& CHALIN
INT'L/NAVISTAR A5-0014
554788C]
FIRESTONE
578-92-3-309 2B12-340 ASB-92-9-153 ASB-92-8-153 7124
AUTOMANN  LOAD 0 s 013587124
578-92-3-309 2B12-313 ASA-92-8-004 ASA-92-6-004 ABSP2B22R-7405 GUARD mcl
i e 5/16 x 24-UNF-2A 5/16-24 UNF-2A .~
44494 SUSPENSIONS x 24-UNF- -24 UNF-
F330-22364  INC. Zg%‘{%“
® DAYTON 200981
354-7405 TAURUS
FRESTONE AS214-7405
7405 TRIANGLE
p — WOT3587405 4364
' ' HUTCHENS IND. TRP
.00 .00 10384-01 1574050
INT'L/NAVISTAR
168517701
@ Boltor Stud —1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10 @ Boltor Stud — 1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10
@ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting: @ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting:
on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF

B INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY D)



AIR SPRING BELLOWS AIR SPRING BELLOWS

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
578-92-3-309 9B12-406 ASA-92-8-005 ASA-92-6-002 APIENTEI0 NAVISTAR 578-92-3-309 9B12-425 ASA-92-8-002 ASA-92-6-002 st A

>

<

=
£
S
=
D
L)
-
~
o
S

CONTI 55479201 CONTI PEERLESS
64268 LOAD GUARD g
FD330-22331 52023 - ] RIDEWELL
2.88 E-Z RIDE 1003587180C
® 620 | DAYTON TAURUS \ 8030190 5-4538-C
20 | 354-7410 £S214-7410 . FIRESTONE TAURUS
_l FIRESTONE  TRIANGLE . 7180 452147180
7410 4331 WOT3587180  TRIANGLE
013587410 : INT'L/NAVISTAR 4363
TRP 168517901
w20 FREIGHTLINER  AS74100 6.20 6.20 -
- 16-11378-000 - - LOAD GUARD AS71800
9.00 | 9.00—> 9.00 502075

578-92-3-309 2B12-410 ASA-92-8-017 ASA-92-6-004 T 578-92-3-309 ASA-92-8-003 ASA-92-6-002 s T

CONTI fNi’4I6.? CONTI SC2076
64492 64495 RIDEWELL
FD330-22346  NAVISTAR FD330-22365  1003587406C
5547931 o) 2.88

DAYTON L0AD : DAYTON 5-3159-C
354-7404 SUARD ) 354-7406 TAURUS
FIRESTONE 02022 - ‘ FIRESTONE AS214-7406
7404 TAURUS . A 7406 TRIANGLE
WOI3587404  ycora-7a0a \| ) WoT3se7A06

6.20 TRIANGLE alify : 6.20 6.20 INT'L/NAVISTAR

9.00 4344 9.00 9.00 16851801

AUTOMANN KWIK-LOC/

o
o
(=]

(o

AUTOMANN INT'L/

578-92-3-309 2B12-411 ASA-92-8-088 ASA-92-6-006 ABSP2B22R-7181 NAVISTAR 578-92-3-309 ASA-92-8-004 ASA-92-6-002 ABSP2B22R-7429  TODCO
CONTI 5547941 CONTI (P-5223
64500 LOAD 64491 LOAD
fD330-22472  GUARD FD330-22343  GUARD
DAYTON SC2018 DAYTON 5C2077
354-7181 TAURUS ® 354-7429
FIRESTONE £S214-7181 TAURUS
7181 FIRESTONE  AS214-7429
Wo13se7161  TRIANGLE 7429
47 Wo13s87429  TRIANGLE
FRUEHAUF 1343
2.88 UAB-5620 550 6.20 INT'L/NAVISTAR
9.00 9.00 UCC-3054-1 9.00 9.00 16851811
AUTOMANN  FRUEHAUF AUTOMANN
578-92-3-309 2B12-412 ASA-92-8-088 ASA-92-6-038 ABSP2B22R-7183  UCA-0112 578-92-3-309 ASA-92-8-006 ASA-92-6-002 ABSP2B22R-7184
CONTI UcA-01128
CONTI
64499 INT'L/ \ 66300
33022471 NAVISTAR 288 FD 330-22 780
?5%??3 %;%‘)Rm ' ;:gjsroui
FIRESTONE 502019 W013587184
WDaserigy  TAURUS
£5214-7183
2.88 TRIANGLE 6.20 6.20
9.00 9.00 n 9.00 —» 9.00
TRAILERS DE AUTOMANN  LOAD
578-92-3-309 2B12-424 ASA-92-8-006 ASA-92-6-002 MONTERREY 578-92-3-309 2B12-432 ASA-92-8-005 ASA-92-6-001 ABSP2B22R-7423  GUARD
733124 CONTI SC2101
\ i i 44498 TRIANGLE
TS i
109\ & ® 20 | FIRE
3.4 J—L\ _l W013587423
L( _J INT'L/NAVISTAR
: NG 168175001
6.20 6.20 ] 6.20
9.00 —» 9.00 9.00 9.00 —»
@ Boltor Stud —1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10 @ Boltor Stud — 1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10
@ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting: @ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting:
on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF

0 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFiNiTY 3]



AIR SPRING BELLOWS AIR SPRING BELLOWS

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER h
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS =
[
AUTOMANN AUTOMANN  TRIANGLE )
578-92-3-309 2B12-463 ASA-92-8-257 ASA-92-6-002 ABSP2B22R-6850 578-92-3-315 2B12-345 ASA-92-8-005 ASA-92-6-002 ABSP2B22RB-7545 4514 =
CONTI CONTI WATSON %
64502 64597 & CHALIN
E FD 330-22 540 F331-26514  AS-0087-1F )
® 150 FIRESTONE =
: 6.20 ® 6.20 | FIRESTONE ~
4 4586850 745 =]
_l W013587545 s
RIDEWELL >
1003586850C :‘759’2""""50"
475> TRP 6.20
«— 900 —» 9.00 —» AS68500 9.00 9.00 —»
AUTOMANN LOAD GUARD AUTOMANN TRIANGLE
578-92-3-310 ASA-92-8-005 ASA-92-6-002 WSGTIRTH Sa 578-92-3-315 ASA-92-8-005 ASA-92-6-002 ABSPZB22RB7550 4541
LR om - we
DAYTON, SILENT DRIVE 033126541 \arsoN
FIRESTONE TRIANGLE FIRESTONE & CHALIN
? sserass o ? 7550 hs-0087
o TR 0 013587550
o { B
6.20 6.20 37 : 6.20 6.20
9.00 9.00 INTL/NAVISTAR 9.00 9.00
AUTOMANN  LOAD AUTOMANN
578-92-3-310 2B12-428 ASA-92-8-002 ASA-92-6-002 ABSPIBZ2RA-7473  GUARD 578-92-3-315 ASA-92-8-002 ASA-92-6-002 ABSP2B22RA-7444
CONTI SC078 CONTI
7\ 64536 RIDEWELL A 64533
f 288 FD330-30372  1003587473C 288 FD 330-30 369
v FIRESTONE  TRIANGLE v FIRESTONE
125 \y 7473 1377 7444
HENDRICKSON
INT'L/
D‘w@uﬂ NAVISTAR B-9830
6.20 6.20 168518201 6.20 6.20 TRIANGLE
9.00—» 9.00 9.00——» 9.00 4369
AUTOMANN  INT'L/ AUTOMANN  REYCO
578-92-3-310 2B12-434 ASA-92-8-017 ASA-92-6-002 ABSPZB22RA-7472 NAVISTAR 578-92-3-315 ASA-92-8-005 ASA-92-6-004 ABSP2B22RB-7555 1881301
CONTI 168175101 CONTI 20018-01
64535 LOAD 64284 TRIANGLE
F0330-30371  GUARD FD331-26480 4480
FIRESTONE >0 ® FIRESTONE  TRP
7 SAUR AXLES 7555 A575550
W013587472  PB10-784 013587555
HENDRICKSON  TRIANGLE HENDRICKSON
365145 437 20018
6.20 B-12514-005 4464 6.20 6.20
9.00 9.00 9.00
CONTI AUTOMANN  MACK TRUCK
578-92-3-310 2B12-446 ASA-92-8-002 ASA-92-6-002 64533 578-92-3-353 2B14-354 ASA-92-8-028 ASA-92-6-013 ABSP2B34R-7145 5701239
CONTI RIDEWELL
1003587145C
FD530-22374  S-4540-C
DAYTON TRIANGLE
354-7145 4374

FIRESTONE TRP

FD 330-30 369 44548
\ FIRESTONE
288 7444 _ Qa_j;
v 013587444 N\
E»%’;?OR'CKSON 7 #, 7145 4571450
TRIANGLE pn 01 ‘
4369 554
6.20 6.20 ;
9.00 ——» | _ 1130 502016

W013587145 VOLVO
INT;I(}/(!H\VISTAR 35203-0005

35203-3204
LOAD GUARD
9.00
@ Boltor Stud —1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10 @ Boltor Stud — 1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10
@ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting: @ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting:
on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF

32 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 33



AIR SPRING BELLOWS AIR SPRING BELLOWS

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER b
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS 5
(%)
AMERICAN INT'L/ AUTOMANN INT'L/ )
578-92-3-353 2B14-355 ASA-92-8-028 ASA-92-6-013 CARRIER NAVISTAR 578-92-3-353 2B14-367 ASA-92-8-049 ASA-92-6-043 ABSP2B34R-7123  NAVISTAR =
8003005 554797C1 CONTI 1685184(1 —
AUTOMANN  LOAD GUARD 44547 KWIK-LOK/ D
ABSP2B34R 7146 SC2017 5092345 TobCo w
CONTI NEWAY 53671 L"
64546 905-57-039 ® 8.84 | DAYTON ~
53022342 pp-1520 354-7123 Lo %
DAYTON RIDEWELL FIRESTONE
354-7146 1003587146C 7123 SC2080 (™
FIRESTONE RSSRSL e 7133 TRIANGLE
o I%\NGLE 5.50 6.20 W013587123 4345
11.30 W013587146 11.30 11.30 —» W013587133
AUTOMANN INT'L/NAVISTAR
578-92-3-353 2B14-356 ASA-92-8-028 ASA-92-6-013 i ss a 578-92-3-353 2B14-473 ASA-92-8-046 ASA-92-6-014
64545 SC2014
FD 530-22 321 RES TRUCK
DAYTON & BODY
354-7136 1027556
FIRESTONE RIDEWELL
7136 1003587136
W013587136 TRIANGLE
GRANNING 430
1626 WATSON
HDA & CHALIN
PMABG-7136B £5-0004 62
11.30 HEN CooN 11.30
AUTOMANN INT'L/NAVISTAR FIRESTONE
578-92-3-353 2B14-359 ASA-92-8-031 MSA92-6-015 | Msiicha SO 578-92-3-356 ASA92-6-013 | ang
o 5C2015
FD530-22 316 gxssorg\}lcx
DAYTON. 1090214
FIRESTONE RIDEWELL
FIRE 1003587140C
1.3 W013587140 TRIANGLE
4.2 4314
GRANNING TRP
+ qﬁ_%_ﬁ, :ﬁ;i AS71400
625 PMABG-7140B mﬁmlu
11.30 HENDRICKSON 450008 11.30
AUTOMANN NEWAY
578-92-3-353 2B14-360 ASA-92-8-031 ASA-92-6-015 WSHESIRTISS 90700 578-92-3-356 2B14-363 ASA-92-6-013
f0229m e
. r(c-w
354-7135 5-1326-C
FIRESTONE TRIANGLE
7135 E 152 \ _
W013587135 TRP 3.8 P —
HENDRICKSON ~ AS71350 "
B-12514.014 TRUCKSTELL !
e (3 PP
o S W o
1130 e 11.30
AUTOMANN LOAD AUTOMANN INT'L/NAVISTAR
578-92-3-353 2B14-366 ASA-92-8-100 ASA-92-6-015 ABSP2B34RB-6803 GUARD 578-92-3-356 ASA-92-6-014 ABSP2B34RB-6801  1685183C1
CONTI 52129 CONTI LOAD GUARD
64589 TRIANGLE ?35593% 30451 SC2079
3 RIDEWELL
® ® j FO530-30 449 4449 DAYTON 1003586801
, 1.38 DAYTON TRP 354-6801 TRIANGLE
? 354-6803 568030 gf]g(ﬁlé%i 4451
TRP
Z:;RUESTONE FIRESTONE AS68010
013586803 6801 WATSON
W013586801 & CHALIN
7.75—> 6.25 HENDRICKSON HENDRICKSON AS-0021
<« 1130—> 11.30 B-6412 11.30 B-2734
@ Boltor Stud —1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10 @ Boltor Stud — 1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10
@ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting: @ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting:
on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF

M INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 35



AIR SPRING BELLOWS AIR SPRING BELLOWS

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER h Y
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS 5
“vy
AUTOMANN  REYCO AUTOMANN HENDRICKSON )
578-92-3-356 2B14-383 ASA-92-8-174 ASA-92-6-118 ABSP2B3ARG-7557  19983-01 578-93-3-100 3B12-300 ASA-92-8-017 ASA-92-6-002 ABSP3BIZR-8008  B-11637 =
ABSP3B22R-8025 | 0AD GUARD =
CONTI TRIANGLE CONTI 130 S
64404 4530 N 64567 RIDEWELL %
f530-35530  1pp | F133029431  1003588008C m
® FIRESTONE  AS75570 ; ¢ DAYTON TRIANGLE -
7557 WATSON 18.0 Y 354-8008 4431 o
013587557 5.1 FIRESTONE 4469 s
& CHALIN AN 8008 TRP S
HISTEER £5-0089 % 8025 A580080
10316 ' W0T3588008
620 6.20 '\ % M)‘ 6.20 WOTISB025 el
11.30 11.30 wn VAU o, 9.00 £5-0019
AUTOMANN AUTOMANN  LOAD
578-92-3-356 2B14-462 ASA-92-8-030 ASA-92-6-013 ABSP2B34RB-6805 578-93-3-100 3B12-301 ASA-92-8-002 ASA-92-6-002 ABSP3B22R-8010 GUARD
CONTI — Fjumm-w% ABSP3B22R-8030 2119
.750-14 NPTF 64593 H | A CONTI RIDEWELL
FD 530-30 532 ) 288 64563 1003588010¢
FIRESTONE ¥ o \ FT330-29432  1003588030C
6805 180 ) 5-5844-C
W013586805 51 ) 0 TRIANGLE
RIDEWELL )/ E—_{ 8030 143
1003586805¢ l () ) wg}gggggé g IRP
T . , 6.20 6.20 £580100
1130 AS68050 el s | o 9.00—» 9.00
AUTOMANN  TRP AUTOMANN  LOAD
578-92-3-356 2B14-470 ASA-92-8-031 ASA-92-6-015 ABSP2B34RC-7782  AS77820 578-93-3-100 3B12-303 ASA-92-8-005 ASA-92-6-002 ABSP3B22R-8018 GUARD
CONTI WATSON ;_gugp CONTI SC2131
64606 & CHALIN L 2 64285 TRIANGLE
FD 530-35544  AS-0032 ( ) FT330-29434 4434
;|7'§§ST°NE xg ;4 ® FIRESTONE TRP
/ .‘ 8018 £580180
013587782 B ! WOT3588018  \yarson
TRIANGLE ﬁ:% HISTEER & CHALIN
— [ “ } o — 10303 £5-0075
11.30 ool s | oad 9.00 9.00
AUTOMANN  TRIANGLE AUTOMANN  SUSPENSIONS
578-92-3-356 2B14-476 ASA-92-8-352 ASA-92-6-016 ABSP2B3ARC-6799 4543 578-93-3-100 3B12-304 ASA-92-8-002 ASA-92-6-000 ABSP3B22R-8006  INC.
CONTI TRP CONTI 200620
64605 £567990 64568 TRIANGLE
53035543 \yarsoN FT 330-29 503 328(3)
FIRESTONE & CHALIN FIRESTONE
6799 £5-0034 8006 TRP
W013586799 W013588006  ASP1710
NEWAY LOAD
905-57-023 GUARD
6.25 6.20 502132
11.30 9.00
578-92-3-356 2B14-479 ASA-92-8-030 ASA-92-6-013 578-93-3-100 3B12-305 ASA-92-8-006 ASA-92-6-002
SO . A
Tf j 1 ! \
; < 2.88
y
15.2 : 180 | p
3.8 [ 4.8 : /:‘
Lﬂn_[_E_n@/ . '* ) 620 620
. 11.30 w0 S0 9.00 —» 9.00
@ Boltor Stud —1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10 @ Boltor Stud — 1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10
@ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting: @ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting:
on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF

B INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 3]



AIR SPRING BELLOWS AIR SPRING BELLOWS

I:‘El:'h‘OBVEV; SI\IB[E)‘Q(E[‘CIVP‘:{V[I;;IEEDXLEE?(?:? UPPER MOUNTING VIEW LOWER MOUNTING VIEW MA“H:::::SRER I:‘El:'h‘OBVEV; SI\IB[E)‘Q(E[‘CIVP‘:{V[I;;IEEDXLEE?(?:? UPPER MOUNTING VIEW LOWER MOUNTING VIEW MA“H:::::SRER E
(7.
N
578-93-3-100 3B12-310 ASA-92-8-005 ASA-92-6-002 it ZEE::‘SIONS 578-93-3-100 3B12-32 ASA-92-8-017 ASA-92-6-111 o og =
i \ g&rgl TRIANGLE L g%’g' @
| FT 330-29 466 4466 FT330-29546 E
y ® FIRESTONE TRP ) FIRESTONE '.:
18.0 8027 AS80270 7994 o
4.5 | W013588027 W013587994 s
()i—<r iglg(’)';s"m“ II;I@NGI.E (%)
L\m%m/ o 50 - 62 WATSON & CHALIN
578-93-3-100 3B12-312 ASA-92-8-005 ASA-92-6-035 it W P 578-93-3-100 ASA-92-6-111 Ao s) TeGLE
- i 620 CONTI TRIANGLE WSFIBIRTT  yuatson
: : \ @) e 64571 4508 CONTI & CHALIN
H | FT 330-29 525 4525 64573 AS-0048-1F
>]:@< ® FIRESTONE TR gop | 133029546
18.0 ﬁ ) @) 3\/%3133588033 AS80330 _l ;!?I;(E)STONE
45 )
>g:g< HEADRCON W013567990
\ ;
‘Ezm%ufd 3(213 9.00 9.00 —»
578-93-3-100 3B12-315 ASA-92-8-017 ASA-92-6-111 g%’i%‘zg N 578-93-3-100 ASA-92-8-005 ASA-92-6-111 e T
rﬁm—ﬂz\\ et 19940
{ \ FT 330-29 520
>u—a< 6.20 ® 62 ;!;I;ESTONE
I:.so ( \ _l _l 013587996
L\@&z’ 9.00 —» 333 9.00 —»
578-93-3-100 3B12-319 ASA-92-6-002 e W 578-93-3-100 ASA-92-8-331 ASA-92-6-002
CONTI TRP
T i ‘\T 64560 AS80320
{ FT330-29 413 WATSON
C R ® 620
el _l 013588032 _ _l
e 'i, s oM
Kmﬂ.%m! 9.00 —» 12408 ggg 9.00 —»
578-93-3-100 3B12-324 ASA-92-6-002 g‘é;.g%’.‘% 578-93-3-100 ASA-92-8-431 ASA-92-6-002 gﬁ;ﬁ’f%
fﬁr“‘"—%\ V“‘““E‘““\..
i ] \
>:< 6.20 180 > '< 6.20
lsaf.lo & . _l 45 '; i _l
I % -\I V "
l \ /é 4 000 — l San i LE 0 9.00 —

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING BELLOWS AIR SPRING BELLOWS

I:‘El:.b‘oBVEV; SAIB[E)‘éI(EmP‘:{v[I;ISIIEEDXLE[?g:]P UPPER MOUNTING VIEW LOWER MOUNTING VIEW MA“H::;J:SRER I:‘El:.b‘oBVEV; SAIB[E)‘éI(EmP‘:{v[I;ISIIEEDXLE[?g:]P UPPER MOUNTING VIEW LOWER MOUNTING VIEW MA“H::;J:SRER E
(7.
N
578-93-3-103 3B12-322 ASA-92-8-230 ASA-92-6-110 preerie 8 578-93-3-104 3B12-337 ASA-92-8-406 ASA-92-6-110 =
gBI}lgSTONE %
® ® v 013588042 =
® 1.38 HENDRICKSON ® ~
1015 22.1 %
4.6
yoﬂ%se “
5.50 6.20
<« 1030 ——» 10.30 10.30 10.30
578-93-3-103 ASA-92-8-367 ASA-92-6-110 e N 578-93-3-105 3B12-415 ASA-92-8-017 ASA-92-6-002 APSPORITR 0%
FIRESTONE 9’1‘1”‘—5’& 5 CONTI
SV%A]33588043 K \ﬁ ??%%%)29 554
HENDRICKSON /—< FIRESTONE
S-14795 19.5 8038
46 013588038
S S s
i o i
578-93-3-103 ASA-92-8-363 ASA-92-6-106 e o 578-93-3-105 3B12-416 ASA-92-8-005 ASA-92-6-002 Ha O
W013588048 W013588039
'\ i =\ HISTEER
257 . 10303
\ 4
195 ; At ?
{ % \
il i LW i i
578-93-3-103 ASA-92-8-364 ASA-92-6-106 %5;‘8‘;::7 578-93-3-350 3B14-351 ASA-92-8-028 ASA-92-6-013
6.20 6.25
10.30 11.30
578-93-3-103 ASA-92-8-367 ASA-92-6-121 578-93-3-350 ASA-92-6-013 ASROEIR Ta08  08Eq 0obi0
CONTI RIDEWELL
438 64506 1003587808C
Q) FT 530-32 336 S-4830-C
E-Z RIDE TRIANGLE
8030170 4336
Q FIRESTONE TRP
7808 AS78080
W013587808 TRUCKSTELL
INT’L/NAVISTAR 63640
554801C1
6.20 LOAD GUARD
1030 10.30 1130 502031

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,

on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF

& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297




AIR SPRING BELLOWS AIR SPRING BELLOWS

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER h
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS 5
“y
AUTOMANN HDA CONTI )
578-93-3-350 3B14-356 ASA-92-8-028 ASA-92-4-013 ABSP3B32R-7798  PAMABG-7798B 578-93-3-350 3B14-364 ASA-92-8-100 ASA-92-6-015 64581 =
CONTI INT'L/NAVISTAR FT530-35 455 %
44504 554802C1 HENDRICKSON
530239 |00 cump ® E B-7100 =
DAYTON 502029 138 TRIANGLE ~
354-7798 TRIANGLE f 4455 o
FIRESTONE 4329 s
7798 4436 <\
WOL3SBTI98  \rcon
GRANNING & CHALIN 775> 6.25
11.30 1613 £5-0006 «— 1130 —> 11.30
AUTOMANN  INT'L/
578-93-3-350 3B14-359 ASA-92-8-031 ASA-92-6-015 ABSP3B32R-7818 NAVISTAR 578-93-3-350 3B14-365 ASA-92-8-100 ASA-92-6-015
554803C1
CONTI
Hanms  con e - = y \
- GUARD £
DAYTON (2032 T C J O ix
354-7818 RIDEWELL 18.0
£-7 RIDE 1003587818 49
8030180 1003587839C l 7 ‘
5-2685-C & ) i @)
FIRESTONE 5! i
6.25 7816 TRIANGLE I I 1.75
11.30 7818 4325 «— 1130 —> 11.30
W013587816 4437 CONTI
WOISSBEIE — warson 578-93-3-350 3B14-367 ASA-92-8-100 ASA-92-6-050 64583
GRANNING & CHALIN FT 530-35 457
1014 £5-0025 787
1476 £5-0033 i i j : DAYTON
HENDRICKSON O3 3547847
B-6861 : FIRESTONE
7847
AUTOMANN  INT'L/
578-93-3-350 3B14-360 ASA-92-8-031 ASA-92-6-015 BSPIBIIR-T00  NAVISTAR NN DRICKSON
CONTI 554804C]
?f‘ 2%% 37333 LOAD 175 LR;I;NGLE
@Q——E—Q@ - GUARD
F ’:j‘ DAYTON 52030 o 130
; 354-7800 RIDEWELL
18.0( FIRESTONE 1003587800C 579-91-3-501 1B5-510 ASC-92-8-109 ASB-92-6-045
50 ; = 013587800 i;&oriéu
L@@n_ﬂ_ﬁ..}j) ?S%NNING 1%
6.25 HOLLAND HITCH
1130 4514
578-93-3-350 3B14-361 ASA-92-6-013
175
275
579-91-3-532 1B8-564 ASC-92-8-171 ASB-92-6-055
7}
138
¥
275 275
503 —» 503
@ Boltor Stud —1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10 @ Boltor Stud — 1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10
@ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting: @ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting:
on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF

42 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297




AIR SPRING BELLOWS AIR SPRING BELLOWS

fﬁm‘é’; S‘:RE ‘é'gmp‘a’g's"iibxﬂi’l'g:? UPPER MOUNTING VIEW LOWER MOUNTING VIEW MA“‘J:::::SRER fﬁm‘é’; S‘:RE ‘é'gmp‘a’g's"iibxﬂi’l'g:? UPPER MOUNTING VIEW LOWER MOUNTING VIEW MA“‘J%&"ER E
(7.
N
579-92-3-510 2B6-530 ASC-92-8-154 ASB-92-6-051 579-92-3-526 2B7-548 ASC-92-8-171 ASC-92-6-122 gli’,?gl] s E
VRSV ®
TT‘% D28 \~ Y HENDRICKSON E
) TRP ~
ng ) ;’ ASC7750 (=)
.' = \.. §
175 By SN 275 275
415 503 —» 503
579-92-3-515 ASA-92-6-052 S0 579-92-3-530 2B8-550 ASA-92-8-114 ASB-92-6-049 CARRIER . TRUCK
FD110-15766 8003006 270532
LOAD AIR automany  /OKITIS
P10-7540 MBSPIBOBRA7325  TRIANGLE
CONTI 4509
646401 TRP
12020509  AS73250
FIRESTONE  WATSON
N o 7305 & CHALIN
W12l 275 275 WOT3567325  AS-0030
A A 415 5.03
579-92-3-525 ASB-92-6-049
275
503
579-92-3-525 ASB-92-6-049
i 275 j
5.03
579-92-3-525 2B7-542 ASC-92-8-171 ASB-92-6-058
A7 \
138
Y
275 275
503 —» 503

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,

on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF

& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:

Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF

& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297

45




AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND CONPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND CONPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AM GENERAL  FLXIBLE
566-16-3-007 1R8-009 ASC-16-8-003 566-18-3-004 1R9-003 ASC-16-8-004 5973923 6-336-11
i AUTOMANN  GMC
PISTON PISTON ABIDKI0B-5409 662743
566-16-7-000 566-16-7-021 CONTI NEW FLYER
ALUMINUM ® COMPOSITE ® 665135056 5920815
68136 5973877
5973923
FIRESTONE
PG 5993113
013585409
338 338 W103585435
531 8.25 531 8.00
FLXIBLE
566-16-3-007 ASC-16-8-004 566-18-3-004 ASC-16-8-004 6-336-166
b
PISTON PISTON =
566-16-7-000 NOT INCLUDED v
USE EXISTING
ALUANUM ® ® SUPER CUSHION =
PISTON %
=
(=3
338 338 =
531 8.25 531 =~
>
FIRESTONE ~ GMC CONT GMC
566-16-3-007 ASC-16-8-004 25138 g%gggg] 566-18-3-004 1R9-053 ASC-16-8-003 472755 8
013585710 5 mci =]
PISTON W013585730 ]lgga‘})ggg"”s PISTON 120-4-212 m
566-16-7-021 FXIBLE J0ss00 566-16-7-021 121-4-8
COMPOSITE ® 6-304-156 65001705 COMPOSITE ®
6336175 NOVABUS
GMC 65001705
1053086 65001706
661755
338 698634 PREVOST 338
531 8.00 531 8.00
INT'L/
566-16-3-007 ASC-16-8-004 566-18-3-004 1R9-054 ASC-16-8-020 NAVISTAR
B 201394702
OBSOLETE PISTON . /
566-16-7-000
PISTON ALUMINUM
566-16-7-021 ® Q
COMPOSITE
338 338
531 8.00 8.62 8.25
AUTOMANN  HENDRICKSON INT'L/
566-18-3-003 ASC-16-8-024 ABIDKI0A2119  B-23%4 566-18-3-004 1R9-056 ., ASC-16-8-020 NAVISTAR
BIDKIODE ey | 20139482
PISTON CONTI 905-57-029 PISTON Lo [ al %
566-16-7-009 A ?1(:15::\17\:;]133 566-16-7-000 r g g '
STEEL ® FIRESTONE 1003588997 ALUMINUM | 1
119 179 |
TRIANGLE
8997
woissgaily 825 90 & A
OIS WATSON, A l
338 GRANNING & L ~ N
740 750 512 5-0026 8.25

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN  RIDEWELL VOLVO
566-18-3-004 1R9-070 ASC-16-004 ABIDKIOB-5410 1003585410 566-20-7-038 1R12-423 ASA-92-8-199 3180673
CONTI TRIANGLE W03
PISTON 665135446 8446 PISTON N -
566-16-7-021 68123 WATSON 566-20-7-246 Al
COMPOSITE FIRESTONE & CHALIN STEEL R
179 © 5410 A5-0029 r “ T Q
56 013585410 20.0
GRANNING 8.1
212
338 L 6.20
740 8.00 i 9.00 10,13
AUTOMANN CONTI TRIANGLE
566-18-3-004 1R9-071 ASC-16-8-018 ABTDK10B-5410 566-20-7-076 1R12-421 ASA-92-8-164 910-14P345 8345
64238 WATSON >
PISTON PISTON FIRESTONE  &CHALIN =
566-16-7-021 566-20-7-158 ‘%’%03589010 £5-0044 v
COMPOSITE COMPOSITE =
© © REYCO =
12928-01 S
RIDEWELL
1003589010 3
338 550 =
531 8.00 9.00 =
>
CONTI
566-18-3-010 1R9-025 ASC-16-8-004 566-20-7-076 1R12-422 ASA-92-8-013 910-124104 ~
OBSOLETE 68438 8
PISTON - PISTON NOVABUS m
566-16-7-017 7 566-20-7-036 N21361 “
ALUMINUM ® ALUMINUM ®
12.0
49
| 7l 338 620
L A1 | 531 750 9.00
AUTOMANN  GMC PREVOST
566-18-3-010 1R9-038 ASC-16-8-004 ABTDKI0B-5406 2021085 566-20-7-120 1R12-406 ASA-92-8-268 63-0162
CoNTI 667512 . .
PISTON 665135039 ool PISTON R/ /
566-16-7-017 68121 SRANNING 566-20-7-223 7/
ALUMINUM ® FIRESTONE 1971 SIE 19.6 . ©
013585406 (LA e
338 L S N PN 575 412
531 750 u 0 9.00 10.10
CONTI KENWORTH
566-20-7-038 1R12-419 ASA-92-8-311 566-22-3-006 1R11-018 ASA-20-8-004 99140322 102
DAYTON -303-
352-9073 LOAD GUARD
5460995 T X TN " 352-9415 02049
il NPTF  175-66 il FIRESTONE RIDEWELL
COMPOSITE STEEL ® 9073 1003589073
9415 1013580708
W013589415 TAURUS
HENDRICKSON  A5103-9073
B-7193 TRIANGLE
476 412 INT'L/NAVISTAR 8322
9.80 7,50 1012 53476101

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
FIRESTONE  LES AUTOBUS FIRESTONE
566-22-3-021 1R10-085 ASA-92-8-151 9017 661759 566-22-3-021 1R10-091 ASA-92-8-152 9380
; W013589017 NOVABUS W013589380
PISTON FLXIBLE 15558 PISTON eirar
NOT INCLUDED 7240153 peevost 566-20-7-240 33018
USE EXISTING 6MC 63-0044 COMPOSITE Gmc
© SUPER CUSHION 6617594 e © 662744
PISTON 861759 b mcl
667302 12F-4-34
i
476 476 412 4
000 61019449 900 e 120-4-6
BLUEBIRD DINA
566-22-3-021 ASA-92-8-152 990671 566-22-3-021 ASA-92-8-309 224-8020030
. _ FLXIBLE mcl e
PISTON . 6-336-212 PISTON 1496372 >
566-20-7-240 GMC 566-20-7-240 9
COMPOSITE 201 ® 412 | 61019452 COMPOSITE ® 412 =
. —
71 : T PREVOST _l =
' 63-0047 ()
- - 63-0158 =
o
Alal SN 476 476 =
9.00 927 —» 9.00 927 —» =
AUTOBUS  GMC FIRESTONE )
566-22-3-021 1R10-089 ASA-92-8-151 10530087 10530087 566-22-3-021 ASA-92-8-151 9043 S
FIRESTONE  (5)7>¢ NOVOABUS S
PISTON 9017 prihtes PISTON 61076863 m
566-20-7-240 9067 434193 566-20-7-240
COMPOSITE ® 412 %gﬁHR 684195-3 COMPOSITE ®
piae 8870485
o 8875032
W013589017  NOVABUS
W013589067 15558 -
476 W013589236 476 41
9.00 927 —» WOI3589386  pRCYOST 9.00 927
W013589436
W013589610 FIRESTONE
566-22-3-021 ASA-92-8-152 8899
FLXIBLE 1013568899
6-304-157
6-336-174 PISTON 2’ PREVOST
3-78‘21]‘-92 566-20-7-120 b 63-0077
-240-153 COMPOSITE 5 ® 412
20.1 o
GMC LES 81 E _i
566-22-3-021 1R10-090 ASA-92-8-151 10530087 AUTOBUS
661756 10530087 :
684192 698935 £ 476
; 62"25(}?'120 684193 65008052 i | 9.00 008 —
20-7- 6989635 e
COMPOSITE 412 | 61019450 ORION
? 09T ey 566-22-3-021 ASA-92-8-017 TSI 4
484193 T14-1044
6989635 PISTON
e 61020957 566-20-7-077-03
9.00 10.00 — ALUMINUM j 2
9.50 —»
@ Boltor Stud — 1/2-13 01 1/2-20 & Air Fitting — 1/4 NPTF © Stud—3/4-10 @ Boltor Stud — 1/2-13 01 1/2-20 & Air Fitting — 1/4 NPTF © Stud—3/4-10
@ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting: @ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting:
on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF

N INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY ]



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
566-22-3-021 1R10-118 ASA-92-8-179 566-22-3-021 1R10-165 ASA-92-8-407
PISTON PISTON = a,
566-20-7-240 566-20-7-240
COMPOSITE ® COMPOSITE o ® 412
¢ 6.0 _l
! U
AN
il 550 i 476
AN 9.00 9.27 9.00 927 —»
AUTOMANN  NOVABUS
566-22-3-021 ASA-92-8-162 AB1DK20F-9293  N38168 566-22-3-021 1R10-171 ASA-92-8-355
CONTI TRIANGLE e
PISTON 99K-15P424 8424 PISTON =]
566-20-7-240 64388 TRP 566-20-7-387 9
COMPOSITE ® ;IZI;ESTONE 4592930 COMPOSITE R © X
013589293 %
NEWAY
905-57-120 g
550 587 =
9.00 9.27 9.00 9.00 =
AUTOMANN TRIANGLE AUTOMANN KENWORTH ()
566-22-3-021 ASA-92-8-164 ABIDK0F-9291 8425 566-22-3-021 1R11-028 ASA-92-8-024 w0 ~
CONTI TRP 99-17P314 £-303-6 8
PISTON 99K-15P 425  AS92910 PISTON b1z St AR o
566-20-7-237 64389 566-20-7-014 DAYTON SPRINGRIDE
COMPOSITE ® FIRESTONE STEEL ® T o0
9291
NEWAY I
w30 905-57-122 e i NAVISTAR S0
. 905-57-139 . . 5476201
9.00 9.80 9.00 9.30 YT N & chAUN
ORION Ml
566-22-3-021 ASA-92-8-102 20117526 566-22-3-021 1R11-047 ASA-92-8-005 12)-3-53
PISTON PISTON
566-20-7-240 566-20-7-014
COMPOSITE 412 STEEL ®
6.20
927 —» 9.00 9.25
FIRESTONE FIRESTONE
566-22-3-021 ASA-92-8-152 W013589592 566-22-3-021 1R11-066 ASA-92-8-327 9447
013589447
PISTON PISTON RIDEWELL
566-20-7-240 566-20-7-055 1003589447¢
COMPOSITE ® 412 ALUMINUM
476
9.00 927 —» 8.60

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN  TRIANGLE AUTOMANN ~ MONOCO
566-22-3-021 1R11-150 ASA-92-8-162 ABIDK20D-9448 8563 566-22-3-021 1R11-200 ASA-92-8-003 ABIDK20D-9376  COACH
CONTI TRP CONTI 14002
PISTON 99-12P563  AS94480 PISTON ® 99-12P477  TRIANGLE
566-20-7-055 64286 566-20-7-252 288 64365 8477
ALUMINUM ® FIRESTONE COMPOSITE FIRESTONE  TRP
9448 9374 4593740
WoT3589448 013589376
RIDEWELL
Mcl
1003589448¢ 0
550 412 6.20 412
9.00 8.60 9.00 9.30
BLUEBIRD AUTOMANN  TRIANGLE
566-22-3-021 1R11-151 ASA-92-8-162 1286814 566-22-3-021 1R11-201 ASA-92-8-017 ABTDK20D-9377 8478
FIRESTONE CONTI TRP e
PISTON 412 9457 PISTON 99-12P478  AS93770 =
566-20-7-055 013589457 566-20-7-252 64366 c_g
ALUMINUM ® RIDEWELL COMPOSITE FIRESTONE =
1003589457¢ 9377 =
013589377 S
REYCO
21054-01 3
550 412 =
9.00 8.60 9.30 =
S
CHANCE BUS AUTOMANN  TRIANGLE
566-22-3-021 1R11-152 ASA-92-8-162 23891728 566-22-3-021 ASA-92-8-164 ABTDK20D-9378 8447 8
FIRESTONE CONTI TRP %o
PISTON 9459 PISTON 99.12P447  AS93780 m
566-20-7-055 013589459 566-20-7-252 64363
ALUMINUM ® RIDEWELL COMPOSITE ® 412 | FIRESTONE
1003589459¢ 9378
013589378
RIDEWELL
1003589378¢
550 550
9.00 8.60 9.00 930 —»
AUTOMANN CONTI
566-22-3-021 1R11-159 ASA-92-8-162 AB1DK20D-9387 566-22-3-021 ASA-92-8-164 9912479
64367
CONTI
PISTON 9912 P 479 PISTON ;lslgsrouf
STEEL ® ;lslgsroui COMPOSITE ® RIDEWELL
013589387 1003589387C
TRIANGLE
TRP
4593920 8479
550 550 TRP
9.00 9.25 9.00 9.20 AS93870
AUTOMANN
566-22-3-021 1R11-162 ASA-92-8-164 566-22-3-021 ASA-92-8-164 AB1DK20D-8900
CONTI
PISTON PISTON 99-12P 401
566-20-7-014 5 566-20-7-253 64362
FIRESTONE
STEEL 9 ® COMPOSITE ® oS
3.8 013588900
; REYCO
17361-01
550 550 412 TRIANGLE
9.00 9.25 9.00 9.30 8401

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN  TRIANGLE AUTOMANN  TRIANGLE
566-22-3-021 1R11-205 ASA-92-8-017 ABTDK20D-9476 8516 566-22-3-021 1R11-222 ASA-92-8-373 ABTDK20H-9625 8538
CONTI TRP S — CONTI TRP
PISTON 64368 AS94760 PISTON ‘ i 45389 4596250
546-20-7-253 99.12P516 566-20-7-286 =N N e3P f, 9910 P 538
COMPOSITE FIRESTONE STEEL , ‘ GEB FIRESTONE
9476 ] | 131212’ 9615
W013589476 2 |\ | W013589625
REYCO R KENWORTH
20446-01 g B P I o K-303-25
41 1295
9.30 9.00 8.50
566-22-3-021 566-22-3-021 ASA-92-8-164
=
PISTON PISTON =
566-20-7-156 566-20-7-253 v
COMPOSITE COMPOSITE ® =
=
()
S
550 412 =
9.00 9.20 =
AUTOMANN AUTOMANN  TRIANGLE )
566-22-3-021 1R11-219 ASA-92-8-374 AB1DK206-9417 566-22-3-021 ASA-92-8-437 ABTDK20D-9616 8515 8
CONTI CONTI TRP %
PISTON 66112 PISTON 64256 £S96160 o
546-20-7-287 S o 99.9P 840 566-20-7-252 99.12P515
. .U. fube
STEEL AL FIRESTONE COMPOSITE ® FIRESTONE
750-16
013589617 013589616
KENWORTH
K-303-18 KENWORTH
150 TRIANGLE 549 412
9.00 8.50 8514 9.00 9.25
AUTOMANN AUTOMANN
566-22-3-021 1R11-220 ASA-92-8-374 AB1DK20H-9618 566-22-3-021 1R11-268 ASA-92-8-480 AB1DK206-9547
L ﬂ 300 CONTI F???_ AB1DK20H-9541
PISTON Oall | 25 66113 PISTON i | CONTI
566-20-7-286 HES o 9910 P 862 566-20-7-287 e i- — o JCT- o 3691% 59
. .L). Tube U U.U.Tube -
STEEL S]%%J]ngl ;Iél]!ESTONE STEEL e, ?A3E]%5]];' FIRESTONE
URF- 013589618 N2 323”2
KENWORTH 9547
K-303-19 1013589542
1150 W013589547
9.00 850 U 850 W015449542
AUTOMANN  KENWORTH FIRESTONE
566-22-3-021 1R11-221 ASA-92-8-373 ABTDK206-9622  K-303-22 566-22-3-022 1R10-019 9115
R = ABTDK20H-9675  K-303-28 013589115
PISTON =1 | Onll i CONTI SRINGRIDE PISTON FLXIBLE
546-20-7-287 =V R—— JC37° fare, 65367 1R11-280 566-20-7-240 6-336-209
f 100D 1ube 99.9p537
STEEL SAEJSTA TRIANGLE COMPOSITE 412 | 6mc
12.0 e FIRESTONE 8537 _l 2475408
- G ow it
WoT3segey  AS6730
.y W013589675
9.00 8.50 927 —»

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Boltor Stud — 1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF

& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
566-22-3-022 1R10-030 ASA-92-8-151 ‘2’2";'5}3@ 566-22-3-042 1R11-252 ASA-92-8-164 it
PISTON " 720414 PISTON el 5?5'?'75 P36
NOT INCLUDED 566-20-7-235 r 64423
® SUPER CUSHION CONPOSIT © O 3300003
PISTON TRP
AS89030
476 5.50
9.00 9.00 9.80
PREVOST
566-22-3-023 1R10-137 ASA-92-8-429 566-22-3-044 ASA-92-8-152 it
. h Y
PISTON PISTON =
566-20-7-240 566-20-7-079 r (%)
COMPOSITE STEEL 21 @ 412 s
8.1 _l %
=
412 l 476 E
9.27 9.00 10.12——» E
D
566-22-3-027 1R10-101 ASA-92-8-179 EV%'ZE::;::O 566-22-3-049 1R11-130 ASA-92-8-005 it =
PISTON mcl PISTON E
566-20-7-150 39390246 566-20-7-124
STEEL ® STEEL ®
5.50 6.20
9.00 8.25 9.00
566-22-3-028 1R11-075 £S1-92-8-163 566-22-3-049 1R11-189 ASA-92-8-309 s
PISTON PISTON
566-20-7-055 566-20-7-240
ALUMINUM jz COMPOSITE @ jz
476
8.60 —» 9.00 930 —»
566-22-3-029 1R10-072 ASA-92-8-162 566-22-3-049 1R11-225 ASA-92-8-164 EV%'E]E::;Z:O
PISTON PISTON NEWAY
566-20-7-055 566-20-7-253 905-57-097
ALUMINUM ® jz (OMPOSITE @
| ggg E 8.60 —» ggg 3;3

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES AIR SPRING ROLLING LOBES

Ilz‘lEl}lbloBVEvI: SAIB[E)‘?;:“P‘:{VEI;;IEEDXLE[T(?:? UPPER MOUNTING VIEW LOWER MOUNTING VIEW MA“H:::::SRER Ilz‘lEl}lbloBVEvI: SAIB[E)‘?;:“P‘:{VEI;;IEEDXLE[T(?:? UPPER MOUNTING VIEW LOWER MOUNTING VIEW MA“H:::::SRER
566-22-3-051 1R11-115 ASA-92-8-271 T 566-22-3-068 1R11-216 ASA-92-8-355
ﬂ H 1.75 T 395
PISTON = PISTON s —
566-20-7-183 T 500-14 NPTF 566-20-7-257 ™ ﬁ ]
STEEL 6.20 (OMPOSITE
18.3
6.2 _l
i U 7.84 ——» 9.00
566-22-3-057 1R11-161 ASA-92-8-115 P 566-22-3-073 1R11-223 ASA-92-8-005 s N
8003023 W013589469 h
PISTON FIRESTONE PISTON =
566-20-7-150 \?\1706]63585766 566-20-7-156 . - t.g
STEEL @ @ COMPOSITE . @ E
rNUI{CHENS . ) //// %
19141-01 ‘ 27\
i S
5.50 6.20 l.:
9.00 8.25 9.00 c%
566-22-3-057 R11-171 ASA-92-8-164 S JuANeLE 566-22-3-075 1R11-176 ASA-92-8-355 =
8003003
TRP
PISTON I AUTOMANN  AS94210 PISTON E
566-20-7-150 T AB1DK20D-9421 566-20-7-257
STEEL 120 ® © gg’gIP 05 (OMPOSITE
3.9 5 64627
¢ ) FIRESTONE
[l 550 o891
9.00 8.25 9.00
566-22-3-057 1R11-224 ASA-92-8-151 566-22-3-079 it
63-0126
PISTON oSl PISTON 630259
566-20-7-308 F r 566-20-7-079
COMPOSITE £ @ STEEL 412
476
9.00 10.12——»
566-22-3-060 R11-175 ASA-92-8-355 NILTAR 566-22-3-084 1R11-249 ASA-92-8-367 rp
: 354173301 NABI-HF
PISTON i PISTON 633-9668
566-20-7-257 566-20-7-156
(OMPOSITE (OMPOSITE ®
6.20
9.00 10.30

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN
566-22-3-095 1R11-292 ASA-92-8-238 566-20-7-425 AB1DK20)-9626 566-22-3-143 1R11-094 ASA-92-8-179
CONTI I
PISTON j 99-16 P 568 PISTON T Tt
566-20-7-425 @ HENDRICKSON 566-20-7-240
COMPOSITE ’ $23720 COMPOSITE ®
n 4 FIRESTONE -
| q W01-358-9626 . E :
| e T
tl 9 00— 10.20 9.00 9.27
AUTOMANN PREVOST
566-22-3-143 1R11-039 ASA-92-8-005 AB1DK20E-9439 566-22-3-143 1R11-109 ASA-92-8-438 63-0109
CONTI E
PISTON 99-14A337 PISTON =
566-20-7-036 64379 NOT INCLUDED &g
FIRESTONE USE EXISTING
ALUMINUM ® 9439 SUPER CUSHION E
W013589439 PISTON P
TRIANGLE
8337 3
6.20 .':
9.00 —
>
CONTI GILLIG
566-22-3-143 1R11-045 ASA-92-8-164 566-22-3-143 1R11-121 ASA-92-8-005 99-14A337 5313187 S
64379 53-14006
¥ =
PISTON PISTON N FIRESTONE >0 022 m
566-20-7-077-03 566-20-7-156 T = 9441 NOVABUS
ALUMINUM ® COMPOSITE ® Wo13587441 NTe374
173 FLXIBLE
6.4 6-366-200
5.50 l_ w 6.20
9.00 9.00
FIRESTONE DINA
566-22-3-143 1R11-088 ASA-92-8-152 5739 566-22-3-143 1R11-143 ASA-92-8-304 224-8020020
W013585739 Mal
PISTON PREVOST PISTON S T - G 12-03-6034
566-20-7-120 63-0092 566-20-7-240 T = h M2 x 1.5-66 outside * 2 906| 1312076
CONPOSITE ® aq | B0 COMPOSITE 501 NPTF inside ® )
_l 7.0 3 . K t
! | i J5- 12mm smooth pin
476 o .
9.00 9.98 —» I 9.2] —»
PREVOST ORION
566-22-3-143 1R11-090 ASA-92-8-438 63-0090 566-22-3-143 1R11-147 20217501
63-0094
I 63-0106
PISTON ~BY A ) PISTON
564-20-7-079 ' 1012 UNE outside 566-20-7-240
STEEL 412 COMPOSITE
J | . = 412
. 1012 —» £ 927
@ Boltor Stud —1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10 @ Boltor Stud — 1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10
@ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting: @ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting:
on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF

62 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 63



AIR SPRING ROLLING LOBES AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN AUTOMANN
566-22-3-143 1R11-149 ASA-92-8-142 ABTDK20D-8901 566-22-3-143 1R11-179 ASA-92-8-005 AB1DK20E-9465
CONTI AB1DK20E-P708
")
PISTON 99-12 P 444 PISTON CONTI
566-20-7-239 T 64364 566-20-7-209 3/4.16 UNF 99-14P 708
64631
COMPOSITE ® FIRESTONE COMPOSITE ®
165 8901 FIRESTONE
5.5 - 013588901 WO1W359465
] S NEW FLYER
i 99865
6.20 6.20
9.00 9.80 9.00
AUTOMANN  TRIANGLE AUTOMANN
566-22-3-143 1R11-166 ASA-92-8-164 ABTDK20F-9295 8417 566-22-3-143 ASA-92-8-005 ABTDK20E-8919
CONTI TRP CONTI e
PISTON 99K-15P 417 AS92950 PISTON 99-14P517 =
566-20-7-235 64386 566-20-7-239 64381 9
COMPOSITE ® ;IZI;ESTONE COMPOSITE ® glgl]zssroui =
W013589295 013588919 %
NEWAY RIDEWELL =
905-57-121 1003588919¢ S
55 6.20 TRIANGLE =
9.00 9.80 9.00 9.80 8517 =
=
NOVABUS 12
566-22-3-143 1R11-169 ASA-92-8-151 61202328 566-22-3-143 1R11-209 ASA-92-8-151 8
61202651
=)
PISTON 61202652 PISTON m
566-20-7-250 566-20-7-209 T
COMPOSITE ® COMPOSITE ®
18.3
7.0
476 787 l 476
9.00 9.80 9.00
NOVABUS
566-22-3-143 1R11-170 ASA-92-8-165 566-22-3-143 1R11-232 ASA-92-8-257 N35162
6.53
5.00
PISTON LL_ < ] 2 PISTON i i
566-20-7-240 Q la] Q 2474 566-20-7-124 T & By ® _¢
COMPOSITE — = | STEEL | 150
£ 18.8 4
20.1 5.6
64 | ! l )
L j i SR 475>
9.50 «9 00—
AUTOMANN PREVOST
566-22-3-143 1R11-178 ASA-92-8-005 AB1DK20D-9379 566-22-3-143 1R11-243 ASA-92-8-438 63-0093
: AB1DK20E-9385 63-0099
PISTON S CONTI PISTON 238528
566-20-7-209 3/4-16 UNF Vi P8 566-20-7-120
COMPOSITE ® o FIRESTONE COMPOSITE 412
WOTW359385
NEW FLYER
o 55089
6.20 TRP
9.00 9.80 A593850 10.00 ——»
@ Boltor Stud—1/2-13 0r 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10 @ Boltor Stud—1/2-13 0r 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10
@ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting: @ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting:
on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF

64 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 65



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
CONTI HENDRICKSON AUTOMANN  INT/
566-24-1-012 1R12-424 ASA-92-8-199 910-185P 406 50405 566-24-3-038 1R12-090 ASA-92-8-052 ABIDK23K-9213  NAVISTAR
15— 64277 50405-1 CONTI 1660581C]
[ o 50405-2 419 910-16 P 407 1660581C1
PISTON TEII S FIRESTONE PISTON ~ §4262 501559(1
566-20-7-246 364 23 \9;‘]208]73 g gmusu 566-20-7-079 DAYTON fg‘:;"éﬁm
STEEL X O 450 STEEL ® ifé;ﬂfns SC2048
f Wi im0 o i
200 013589213 }illidgﬁ
8.1 i FLEETRITE
! o i o
— 9.00 1013 —» 9.00 10.10 1592130
PREVOST HUTCHENS IND. NEWAY
566-24-3-024 1R12-127 ASC-20-8-003 63-0040 566-24-3-038 1R12-093 ASA-92-8-164 9630-03 900-44-200
63-0064 , 900-44-216 =
PISTON PISTON gr;m@gwsmn 900-44-647 =
566-20-7-240 NOT INCLUDED RIDEWELL “
USE EXISTING LOAD GUARD 03540717 <
COMPOSITE ® 412 ® 5C2054 =
SUPER CUSHION TAURUS E
PISTON A5506-0712 S
S
476 550 =
750 927 —>» 9.00 =
AUTOMANN  INT'L/ AUTOMANN )
566-24-3-038 1R12-066 ASA-92-8-164 ABTDK23K-9083  NAVISTAR 566-24-3-038 ASA-92-8-005 ABTDK23K-9227 8
CONTI 47631 CONTI >
PISTON 910-16P333  LOAD GUARD PISTON 910-16 P 353 m
566-20-7-080 64294 502036 566-20-7-080 64298
COMPOSITE DAYTON RIDEWELL COMPOSITE FIRESTONE
® 350-9069 1003589083¢ ® ‘3‘,207]73589227
352-9083 TAURUS
FIRESTONE  AS506-9080 HENDRICKSON
9083
550 013589083 gl;;la\NGlE 6.20 TRIANGLE
9.0 GRANNING 9.00 8353
1359 AUTOMANN
128 1570830 566-24-3-038 1R12-155 ASA-92-8-002 B10K23K909
B59 WATSON OBSOLETE
& CHALIN S, CONTI
g 910-16 P 325
is s REPLACED BY T f .
- - 288
1R12-358 ;BI;ESTONE
AUTOMANN  PETERBILT PISTON 2.1
566-24-3-038 1R12-069 ASA-92-8-041 ABIDKI31-9069  03-01649 564-20-7-080 77 WoT3589096
ABIDK231-9069  03-02456 CONPOSITE - EIEEJ]EIS-I&U]F
PISTON A conn 338}‘17153 h 6.20 rm;\m;ﬁ
566-20-7-235 Lo P 9300 L : 9.00 8325
CONFOSTTE DAYTON SPRINGRIDE AUTOMANN  LOAD GUARD
352-9069 lil;:jos” 566-24-3-038 ASA-92-8-004 ABTDK23K-9219 2070
FIRESTONE  s504-9069 CONTI TRIANGLE
9.00——» 9.80 FLEETRITE TRIANGLE TRP
TR12-1052 8312 STEEL ® ;lZI]!ESTONE AS92190
INT'L/ TRP worsssgzry  YOLVO
NAVISTAR 1590690 35003-3201
554764C1 WATSON INT'L/NAVISTAR 35003-3203
1681739C] 35003-3204
LOAD GUARD & CHALIN 550 412 35003-3209
5(2034 £5-0077 9.00 10.12

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN  REYCO CONTI MACK
566-24-3-038 1R12-188 ASA-92-8-162 ABTDK23K-9223  12884-01 566-24-3-038 1R12-365 ASA-92-8-121 910-16P410  TRUCK
CONTI 12884-01A o g 64276 3645028
N i I 57QL4TTM
PISTON 910-16P409  TRIANGLE PISTON . FIRESTONE
546-20-7-079 44275 8409 566-20-7-079 / | 9446 TRIANGLE
STEEL ® FIRESTONE  TRP STEEL 2 5 ® 4so | 0138668410
9223 4592230 6 : HENDRICKSON TRP
013589223 8.1 | 49048 £594660
HENDRICKSON l ﬂ E j 49674
48195
550 41 I 6.20
9.00 1012 9.00 1013 —»
AUTOMANN  INT'L/ AUTOMANN  FIRESTONE
566-24-3-038 ASA-92-8-164 ABTDK23K-9092  NAVISTAR 566-24-3-038 1R12-366 AS1-92-8-192 ABTDK23K-9299  CONT.
CONTI 517096091 ABTDK23P-8944  WO13588944 =~
W013589015 =
PISTON 910-16P372  NEWAY PISTON CONTI W013289299 =
566-20-7-080 64301 905-57-031 566-20-7-163 91017543 v
64401 HENDRICKSON
COMPOSITE FIRESTONE  TRIANGLE STEEL . =
© 9092 8372 © FRestong 20217 =
013589092 8944 TRIANGLE S
HENDRICKSON 015 8436
9299 =3
B-12353 ~— TRP o
ggg 3.05 0 592990 =
. A —
%
AUTOMANN DINA
566-24-3-038 ASC-92-8-088 ABTDK231-9060 566-24-3-038 1R12-369 ASA-92-8-165 202791101 8
CONTI %
PISTON 310 91014 P 709 PISTON o
546-20-7-080 6463 546-20-7-079
COMPOSITE FIRESTONE STEEL
W359060
NEW FLYER
14635
65
9.00 i 1012
AUTOMANN  PETERBILT mcl
566-24-3-038 ASA-92-8-258 ABTDK23K-9194  03-05107 566-24-3-038 1R12-394 ASA-92-8-283 121-1-169
CONTI TAURUS 250 PREVOST
PISTON . 910-16P352  AS506-9194 PISTON i 63-0224
566-20-7-080 Pt s 4297 TRIANGLE NOT INCLUDED ®
COMPOSITE DAYTON 8352 y 15 USE EXISTING
352-9194 17.1 f SUPER CUSHION
TRP 7.3 PISTON
FIRESTONE  AS91940
9194
WATSON l
woasenns  EBON o
CONTI TAURUS mcl
566-24-3-038 ASA-92-8-003 910-16P325  AS504-9096 566-24-3-038 1R12-396 ASA-92-8-283 121-1-140
291 TRIANGLE 250 PREVOST
PISTON A DAYTON 8325 PISTON i 63-0183
546-20-7-080 288 350-909 566-20-7-240 f ,
COMPOSITE y ;:)I;ESTONE COMPOSITE 7 y }-5 an
013589096 13
FRUEHAUF l
UCE-1304-1 -
6.20 450
9.00——» 10.10 «9 00— 927 —»

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN  TRP vowvo
566-24-3-038 1R12-400 ASA-92-8-306 ABTDK23K-9296  AS92960 566-24-3-038 1R12-462 ASA-92-8-199 3180984P2
_;;ﬂ » CONTI VOLVO e
PISTON 910-16P416 8061151 PISTON ] | e
566-20-7-246 ] 64310 8169848 566-20-7-246 [
STEEL r.%j — X O ;IZI;ESTONE STEEL o e 1] ® O
: IS
20| 013589296 o ﬂ%‘
62 | TRIANGLE 81 | .
8416 ' J
v 5.50 412 {_“ﬂ 6.20
0 9.00 10.12 [ 9.00 1013
AUTOMANN AUTOMANN
566-24-3-038 1R12-436 ASA-92-8-017 ABTDK23K-8924 566-24-3-038 1R12-484 ASA-92-8-269 AB1DK23P-9504
CONTI CONTI e
PISTON 910-16 P 497 PISTON 910-17.5 P 574 =
566-20-7-158 64314 566-20-7-215 44418 n_g
COMPOSITE FIRESTONE COMPOSITE 787 | FIRESTONE =
9504 =
013588924 _l C.z\
NEWAY
RIDEWELL
1003588924C 905-57-215 3
5.50 TRIANGLE =
9.00 8497 980 —» =
AUTOMANN  TRIANGLE CONTI )
566-24-3-038 ASA-92-8-017 ABTDK231-8805 8462 566-24-3-038 ASA-92-8-269 910-175P715 8
CONTI TRP FIRESTONE %
PISTON 910-14P 462 ASB8050 PISTON 9501 m
546-20-7-158 64474 546-20-7-215 NEWAY
COMPOSITE ggkogsroui COMPOSITE ® 787 | 905-57-214
TRP
W013588805 _l Tos010
RIDEWELL
1003583805C
550 587
9.00 9.00 9.80 —»
AUTOMANN  TRIANGLE CONTI
566-24-3-038 ASA-92-8-164 ABTDK23K-9362 8391 566-24-3-038 ASA-92-8-269 910-17-5P574
CONTI TRP 64418
PISTON 910-16P 391 AS93620 PISTON FIRESTONE
566-20-7-235 T 64304 WATSON 566-20-7-215 9504
COMPOSITE FIRESTONE & CHALIN COMPOSITE 787 | NEWAY
0 | © 9362 AS-0049 © 905-57-216
7.8 i W013589362 _l
\. NEWAY
905-57-113
550 587
9.00 9.80 9.00 9.80 —»
CONTI AUTOMANN
566-24-3-038 1R12-454 ASA-92-8-283 910-16P130 566-24-3-038 ASA-92-8-331 ABTDK23P-A802
250 69075 CONTI
PISTON i mcl PISTON 910-17.5A 802
546-20-7-079 f , 1201215 566-20-7-036 64762
STEEL 7 y 15 412 ALUMINUM T ®
73 f 19.2
J 5.5 o
l
§ i 450 : 550
«9 00— 1012—» 9.00

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN  TRIANGLE AUTOMANN
566-24-3-038 ASA-92-8-331 ABTDK23P-9936 8454 566-24-3-038 1R12-541 ASA-92-8-360 ABTDK23K-P769
CONTI TRP CONTI
PISTON 910-17.5P 454 AS99360 PISTON 910-14 P 769 64650
566-20-7-238 64405 546-20-7-209 64650
COMPOSITE ® FIRESTONE COMPOSITE ® WATSON
9936 & CHALIN
013589936 A5-01136
NEWAY
905-57-156
550 6.20
9.00 9.80 9.00
AUTOMANN  TRIANGLE mcl
566-24-3-038 ASA-92-8-164 ABTDK23P-9921 8443 566-24-3-038 1R12-545 ASA-92-8-309 12-04-6007
0 CONTI TRP e
PISTON — 910-17.5P 443 AS99210 PISTON =
566-20-7-235 64402 WATSON 566-20-7-240 T 9
COMPOSITE ® FIRESTONE & CHALIN COMPOSITE ® =
9921 £5-0090 20.2 =
013589921 7.1 S
NEWAY =
905-57-117 l o
550 - 476 =
9.00 9.80 9.00 =
AUTOMANN  LOAD CONTI D
566-24-3-038 ASA-92-8-164 ABIDK23(-90824  GUARD 566-24-3-038 1R12-552 ASA-92-8-269 910-17-5P572 ~
CONTI 502035 : 64416 8
910-16P310  NEWAY
PISTON 64269 905-57-006 PISTON FIRESTONE m
566-20-7-005 905-57-027 566-20-7-215
DAYTON sy 9501
ALUMINUM ® 352-9082 905.57.054 COMPOSITE W013589471
FAB TEK 03T 075 NEWAY
101828 RES TRUCK 905-57-212
FIRESTONE & BODY TRP
Wolzsegosy 1090217 1595010
550 EYCO
9.00 %%""'"G 12882-01
HDA %gsig%gzc AUTOMANN  NEWAY
;’Vi\ﬁgi;(é%o" §-547-C 566-24-3-038 1R12-553 ASA-92-8-269 ABIDK23P-9472  905-57-213
6.52 _
365147 SUSPENSIONS P07 s D s TRIANGLE
B-2066 201569 PISTON 8467
HUTCHENS IND.  auRus 566-20-7-213 . ) CONTI TRP
963001 A5506-9082 COMPOSITE . Z 4]40]';7‘5 P73 hsoarao
INTL/NAVISTAR * 10v0
m&‘ﬁw TRL-240/393 FIRESTONE
- TRIANGLE 9471
&l W013589472
i 013589491
AUTOMANN
566-24-3-038 1R12-535 ASA-92-8-344 566-24-3-038 1R12-554 AB1DK23P-9470
ABTDK23P-9502
PISTON PISTON CONTI
566-20-7-236 566-20-7-214 Z 4140]; 75571
COMPOSITE COMPOSITE 787 | FIRESTONE
_l W013589470
NEWAY
905-57-211
TRIANGLE
10.00 980 —» 8501

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

@ Tapped Hole on Top Refainers — 3/8-16,
Stud — 3/4-16, Air Fitting — 1/4 NPTF

on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN  TRIANGLE AUTOMANN
566-24-3-038 ASA-92-8-041 ABTDK23K-9026 8393 566-24-3-038 1R12-640 ASA-92-8-257 AB1DK23P-9902
CONTI TRP CONTI
PISTON 7\ 910-16P 393 AS90260 PISTON 910-17.5 P 426
546-20-7-235 288 64306 546-20-7-238 ® j 64398
COMPOSITE y FIRESTONE COMPOSITE 1.50 FIRESTONE
9026 f W013589902
W013589026
PETERBILT
03-06213
6.20 0307111 475>
9.00—» 9.80 900 —» 9.80
CONTI CONTI PETERBILT
566-24-3-038 ASA-92-8-005 910-16p770 566-24-3-038 ASA-92-8-021 910-14P312 0301649
w8
PISTON PISTON 350-9069 e =]
566-20-7-159 566-20-7-053 FIRESTONE 2310042 ‘_g
9069
COMPOSITE ® ALUMINUM WOLISBIN  Jospitneo =
INT'L/ AS506-9069 =
NAVISTAR TRIANGLE D
554764C1 8312 >
LOAD
6.20 GUARD AN, E
9.00 9.30 SC2034 450077 =
RIDEWELL AUTOMANN  TRIANGLE )
566-24-3-038 ASA-92-8-331 1001R125846 566-24-3-048 1R12-143 ASC-20-8-045 ABTDK23K-9392 8376 8
CONTI TRP %
PISTON PISTON 910-16P376  AS93920 m
546-20-7-158 566-20-7-006 64302
COMPOSITE ® ALUMINUM ® ;l;;gsroui
013589392
HENDRICKSON
B-4773
550 550
9.00 770
AUTOMANN  NEWAY mcl
566-24-3-038 1R12-586 ASA-92-8-269 ABTDK23P-9473  905-57-152 566-24-3-048 1R12-154 ASC-20-8-053 12)-1-88
N CONTI 905-57-179
3001 | 364
PISTON N 910-175P 45 TRP PISTON
566-20-7-237 i | ‘ 64403 4594730 566-20-7-120 f | ]
COMPOSITE FIRESTONE COMPOSITE
9473 17.1 ®
W013589473 8.0
| | 5.50 412
9.80 770 10.00
mcl
566-24-3-038 1R12-617 ASA-92-8-164 566-24-3-048 1R12-217 UPPER BEAD PLATE 121-1-104
NOT INCLUDED. 121-1-136
PISTON PISTON SHOWN FOR PREVOST
566-20-7-036 566-20-7-120 REFERENCE ONLY 63-0181
ALUMINUM T ® COMPOSITE
19.5
5.5
¢ 550 41
9.00 10.10 10.00

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Tapped Hole on Top Refainers — 3/8-16,

& Air Fitting — 1/2 NPTF or 3/8 NPTF
on Pistons — 1/2-13

Combination Stud Air Fitfing:

@ Tapped Hole on Top Refainers — 3/8-16,
Stud — 3/4-16, Air Fitting — 1/4 NPTF

on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN  TAURUS
566-24-3-048 1R12-284 566-24-3-061 1R12-351 ASA-92-8-003 ABTDK23F-9033  AS500-9033
CONTI TRIANGLE
PISTON PISTON A 910-10P328 8328
566-20-7-240 T UPPER BEAD PLATE 566-20-7-197 0 1 K 64430
COMPOSITE - NOT INCLUDED. ALUMINUM ;:)ggsroui
p SHOWN FOR
6.2 REFERENCE ONLY. 013589033
l NEWAY
L, 905-57-012
' 412 6.20 AR-1515-1
9.30 9.00—» 9.25
mcl AUTOMANN  TAURUS
566-24-3-048 1R12-288 ASC-20-8-110 1261126 566-24-3-061 1R12-359 ASA-92-8-088 ABTDK23F-9077  AS500-9077
12K-1-45 =
CONTI TRIANGLE
PISTON 12L-1-126 PISTON 910-10P331 8331 =
566-20-7-120 PREVOST 566-20-7-197 64431 v
COMPOSITE ® 630180 ALUMINUM 4 FIRESTONE =
13.1 9077 S
53 W013589077 S
FRUEHAUF
¢ MFR-022354 3
550 412 288 UCB-4453-1 =
775 10.00 9.00 9.25 =
>
FIRESTONE FLXIBLE
566-24-3-048 1R12-304 ASC-20-8-110 9018 566-24-3-061 1R12-383 ASA-92-8-162 97-9999-02185 ~
W013589018 ORION o
=
PISTON mcl PISTON 010132404-4 m
566-20-7-240 126-1-60 566-20-7-014
COMPOSITE ® }%H j} 32 STEEL ® O
120-1-142
PREVOST
63-0182
550 412 550
775 9.30 9.00 9.25
GMC FIRESTONE
566-24-3-048 1R12-511 15504181 566-24-3-061 1R12-530 ASA-92-8-164 9306
61015009 013589306
- = 61020956
PISTON N PISTON
566-20-7-240 ZZIN NOVABUS 566-20-7-251
f UPPER BEAD PLATE 51015009
COMPOSITE 7.1 NOT INCLUDED. 412 | 61202944 COMPOSITE ®
62 SHOWN FOR _l
l REFERENCE ONLY.
1 5.50
927 —>» 9.00 9.20
AUTOMANN  TAURUS
566-24-3-061 1R12-350 ASA-92-8-002 ABTDK23F-9031  AS500-9031 566-24-3-061 1R12-531 ASA-92-8-164
CONTI TRIANGLE
PISTON A 910-10P339 8339 PISTON
566-20-7-197 288 64433 566-20-7-251
ALUMINUM y ;BI;?STONE COMPOSITE ®
W013589031
PEERLESS
055000051
6.20 550
9.00——» 9.25 9.00 9.30

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN  INT'L/
566-24-3-061 1R12-539 ASA-92-8-164 566-24-3-066 1R12-145 ASA-92-8-017 ABIDK231-9238  NAVISTAR
CONTI 1681737C]
PISTON PISTON P i519P356  LOAD GUARD
566-20-7-251 566-20-7-006 DAYTON PREVOST
COMPOSITE ® ALUMINUM 352-9238 63-0178
0 | FIRESTONE  TAURUS
. 9238 £S509-9238
\ W013589238 TRIANGLE
HENDRICKSON 8356
5.50 B-5060 TRP
9.00 9.20 4592380
AUTOMANN  REYCO AUTOMANN
566-24-3-066 ASA-92-8-164 ABTDK23L-9101  12883-01 566-24-3-066 1R12-167 ASA-92-8-164 ABTDK231-9192
CONTI RIDEWELL OBSOLETE CONTI e
PISTON 910-19P315  1003589101C PISTON 910-19P 326 >
566-20-7-006 64279 $-5828-C 566-20-7-080 ‘ 64323 v
ALUMINUM ® DAYTON S-740C CONPOSTE ® FIRESTONE -
352-9101 TAURUS 9192 =
AS506-9093 ,
9101 NAVISTAR =
py Wo13589101  TOYO U o py 16817381 S
S50 HENDRICKSON TR-250 S50 1681740C] =
: B-3842 TRIANGLE : =
8315 r)
INT’ FIRESTONE
NAV:-éTAR TRP 566-24-3-066 ASA-92-8-164 9192 oy
5547681 4591010 W013589192 8
LOAD GUARD  TRUCKSTELL PISTON HENDRICKSON m
502038 63647 566-20-7-080 56195
NEWAY WATSON COMPOSITE ®
900-44-701 & CHALIN .
905-57-008  AS-0040 2
905-57-009 [
905-57-082 1 -/
FIRESTONE NEWAY 9.00
566-24-3-066 1R12-113 ASA-92-8-164 W013589102  900-44-201 AUTOMANN  REYCO
) INT'L/ HTEHT 566-24-3-066 1R12-195 ASA-92-8-257 IBIDKI3L9349 1763601
PISTON i i NAVISTAR -
NOT INCLUDED e —"s 554769C1 RIDEWELL - CONTI TRIANGLE
USE EXISTING 1013589102C PISTON 910-19P 438 8438
® LOAD 566-20-7-006 j 64335
SUPER CUSHION GUARD TAURUS ® 150 TRP
PISTON 502053 AS509-9102 ALUMINUM ? ;'3';5“0"5 As93490
29845 W013589349
550 HENDRICKSON
B-8988
%00 475>
AUTOMANN  LOAD «9 00—
566-24-3-066 1R12-142 ASA-92-8-005 ABIDK231-9241  GUARD AUTOMANN
I CONTI S2108 566-24-3-066 1R12-208 ASA-92-8-141 ABIDK23L-P973
PISTON 3y 910-19P946  SUSPENSIONS g 0 CONTI
566-20-7-006 67479 e PISTON ( A ® 91019973
ALUMINUM ® w&isssrs%lﬂ 566-20-7-006 i F 287 67703
297;,° ALUMINUM HENDRICKSON
N INT'L/ 27.0 (-10443
NAVISTAR 95
1681579C]
6.20
9.00 o2
9.00 1013
@ Boltor Stud —1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10 @ Boltor Stud — 1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10
@ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting: @ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting:
on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF

78 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY ]9



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
CONTI R&S TRUCK AUTOMANN  TRIANGLE
566-24-3-066 1R12-261 ASA-92-8-005 910-194358 & BODY 566-24-3-066 1R12-439 ASA-92-8-164 ABTDK23L-9346 8470
64327 10907 A i CONTI TRP
PISTON DAYTON TAURUS PISTON (5 ™ 910-19P470  AS93460
566-20-7-006 350-9321 £5509-9241 566-20-7-237 | 64338 WATSON
ALUMINUM ® FIRESTONE  TRIANGLE COMPOSITE ‘ ® FIRESTONE & CHALIN
9241 8358 262 o 9346 £5-0056
W013589241 8361 9.3 ! W013589346
4 . il NEWAY
; ‘, g 905.57-126
6.20 AL 550
9.00 9.00 9.80
CONTI AUTOMANN
566-24-3-066 1R12-265 ASA-92-8-164 910-19 P 390 566-24-3-066 1R12-444 ASA-92-8-004 ABIR12-444
OBSOLETE 64331 48—y 355 ~
1 & —
REPLACED BY FIRESTONE PISTON . - =
1R12-167 9245 566-20-7-159 ‘~3
® COMPOSITE ® =
PISTON E
566-20-7-080 S
COMPOSITE 1Y, 3
550 550 ~
9.00 9.00 =
>
AUTOMANN  FIRESTONE AUTOMANN
566-24-3-066 ASA-92-8-121 ABIDK23L-9130  CONT. 566-24-3-066 1R12-467 ASA-92-8-331 AB1DK231-AB01 ~
ABTDK231-9350  W013589130 ABTDK23L-A830 (=}
ABTDK231-9394  W013589394 =]
PISTON ABIDK231-P946  FRUEHAUF PISTON CONTI m
546-20-7-080 CONTI UCE.9303.1 546-20-7-005 Z 5]305; 9p 801
910194358  UCE-9393-3
COMPOSITE ® 4307 UCE.93934 ALUNOM ® RIDEWELL
DAYTON TRIANGLE 1000001
3529130 8321 -
FIRESTONE  TRP 101676
o 313 33 4591300 550 ASAB010
9.00 9.00
AUTOMANN AUTOMANN  TRP
566-24-3-066 l%gs%-lg? ASA-92-8-257 ABIDK231-9348 566-24-3-066 1R12-480 ASA-92-8-164 ABIDK231-9243  AS92430
CONTI i i CONTI WATSON
PISTON 910-19 P 439 PISTON SHEESSS 910-19P384 & CHALIN
566-20-7-006 ® j 65356 566-20-7-235 | 64329 £5-0061
ALUMINUM 150 FIRESTONE COMPOSITE g | ® FIRESTONE
4 103589348 4 | 3v204133589243
TAURUS
NEWAY
AS509-9348 905-57-112
475> TRP 550
900 —» 4593480 9.00 9.80
AUTOMANN  TAURUS AUTOMANN
566-24-3-066 1R12-395 ASA-92-8-005 ABTDK231-9203  AS509-9203 566-24-3-066 1R12-504 ASA-92-8-269 ABTDK23P-9471
CONTI TRIANGLE T rame | CONTI
PISTON 910-19P355 8355 PISTON Toal 910-17.5P 502
546-20-7-080 64324 IR 566-20-7-237 Jarnng 64409
COMPOSITE ® DAYTON A592030 COMPOSITE e FIRESTONE
25.2 352-9203 9471
7.7 FIRESTONE W013589471
9203 TRP
— 013589203 AS94710
: HENDRICKSON
9.00 10.10 BNl 9.80

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

@ Tapped Hole on Top Refainers — 3/8-16,
Stud — 3/4-16, Air Fitting — 1/4 NPTF

on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
566-24-3-066 1R12-527 ASA-92-8-002
PISTON 7\
566-20-7-006 288
ALUMINUM v
6.20
9.00—»
AUTOMANN  PETERBILT
566-24-3-066 ASA-92-8-041 ABTDK23L-8852  03-07887
CONTI SPRINGRIDE
PISTON 910-19P472  TR12-108]
566-20-7-235 64339 TRIANGLE
COMPOSITE FIRESTONE 8472
8852 TRP
WosseBssy AR
FLEETRITE
1R12-1058
9.80
566-24-3-066 1R12-607 ASA-92-8-331
PISTON
546-20-7-158
COMPOSITE ®
550
9.00
AUTOMANN
566-24-3-066 1R12-613 ASA-92-8-192 AB1DK23L-A552
CONTI
PISTON 91019 A 552
566-20-7-158 64761
COMPOSITE ®
o) 305
9.00
CONTI
566-24-3-066 1R12-639 ASA-92-8-164 910-19P357
64326
PISTON FIRESTONE
546-20-7-159 013589240
COMPOSITE ®
550 787
9.00 9.80

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
566-24-3-066 1R12-653 ASA-92-8-004
PISTON
566-20-7-159
COMPOSITE ®
5.50
9.00
566-24-3-066 1R12-689 ASA-92-8-344
—A438— 400
b
PISTON 229
566-20-7-236 -
COMPOSITE
10.00
AUTOMANN LOAD GUARD
566-24-3-067 1R12-095 ASA-92-8-162 ABTDK3F-9039  SC2033
BLUEBIRD NEWAY
12TA-1-2 905-57-011
PISTON 300-961250 905-57-023
566-20-7-014 CONTI 905-57-085
910-10P 311 R&S TRUCK
STEEL ® 64260 & BODY
DAYTON 1090218
s,
Tﬁ{’gg?‘ 1013589039C
5.50 FIRESTONE 322225
9.00 9.5 \9/\/%3193589039 SAUR AXLES
FLEETRIDE P0-734
1R12-1061 SPRINGRIDE
FLXIBLE 1R12-1061
6-336-202 SUSPENSIONS
INC.
HDA 200457
PIABG-90398 TAURUS
HENDRICKSON A5500-9039
e TRIANGLE
HUTCHENS IND, 0!
9424-01 TRP
9424-03 AS90390
INVL/NAVISTAR ~ WATSON
& CHALIN
554766(1 & CHAL
HUTCHENS NEWAY
566-24-3-067 1R12-097 ASA-92-8-162 IND. 900-44-199
9424-1 900-44-708
PISTON INTL 900-54-234
NOT INCLUDED NAVISTAR RIDEWELL
® USE EXISTING 55476701 1013580702C
SUPER CUSHION LOAD TAURUS
PISTON GUARD AS500-0702
SC2058
5.50
9.00

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF

& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF

& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297

=
=
S
=
3
=
=2
=
=
@
S
o
(%2




AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
mcl AUTOMANN
566-24-3-067 1R12-156 ASA-92-8-005 126311 566-24-3-067 1R12-465 ASA-92-8-013 ABTDK23F-8963
PREVOST CONTI
PISTON 63-0179 PISTON 910-10P 473
566-20-7-055 566-20-7-014 64440
ALUMINUM STEEL FIRESTONE
® ® W013588963
6.20 6.20
9.00 8.60 9.00 9.25
CONTI LOAD AUTOMANN  NEWAY
566-24-3-067 1R12-178 ASA-92-8-125 99.12P379  GUARD 566-24-3-067 ASA-92-8-164 ABTDK23H-9366  905-57-160
64361 52110 CONTI 905-57-210 =
PISTON 412 FIRESTONE  TRIANGLE PISTON 910-12p4gs 07225 =
566-20-7-055 9379 8379 566-20-7-239 64459 TRIANGLE v
ALUMINUM ® WOT3589379 ypp CONPOSTE ® FIRESTONE ~ 0'08 -
INT'L/ 4593790 9366 TRP =
NAVISTAR W013589366  AS93660
1660694C] S
NABI-HF WATSON =
6337773 & CHALIN o
550 587 A-0054 =
9.00 8.60 9.00 9.80 =
FIRESTONE AUTOMANN  NEWAY )
566-24-3-067 1R12-204 ASA-92-8-138 9546 566-24-3-067 ASA-92-8-164 ABTDK23F-9334  905-57-173 ~
W013589566 ABTDK23F-9307  905-57-223 8
PISTON 42 | Ity PISTON ABTDKZ3H-8204  cppiNGRIDE m
566-20-7-055 NAVISTAR 566-20-7-251 CONTI 1R12-1078
167240101 910-10P 471
ALUMINUM ® COMPOSITE ® 43 gmusu
FIRESTONE o0
8204
W103588204  ASB2040
W013589307
550 550
9.00 8.60 9.00 930 1013589334
AUTOMANN FRUEHAUF AUTOMANN
566-24-3-067 1R12-309 ASA-92-8-002 ABIDK23H-9053  UCE-1304-2 566-24-3-067 1R12-555 ABTDK23F-8961
CONTI RIDEWELL CONTI
910-12 A 327 1003589053C
PISTON 64446 TAURUS PISTON 910-10P 542
566-20-7-164 DAYTON £5502-9053 566-20-7-253 64658
STEEL 352-9053 TRIANGLE COMPOSITE FIRESTONE
E-Z RIDE 8327 8961
8030192 WATSON W013588961
FAB TEK & CHALIN
10828 £5-0095 53%901
FIRESTONE 412 TRIANGLE
013589053 9.30 8542
FIRESTONE AUTOMANN
566-24-3-067 1R12-324 ASA-92-8-138 9565 566-24-3-067 1R12-556 ABTDK23F-8964
W013589565 CONTI
PISTON B __ 1 INT'L/ PISTON 910-10 P 480
566-20-7-055 T i 515\2\%8]1'21\5 566-20-7-252 64441
FIRESTONE
ALUMINUM 135 550 COMPOSITE FIRE
3.7 013588964
$ ® REYCO
21598-01
' 412 TRIANGLE
9.00—» 8.60 9.30 8480

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

@ Tapped Hole on Top Refainers — 3/8-16,
Stud — 3/4-16, Air Fitting — 1/4 NPTF

on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN AUTOMANN
566-24-3-067 1R12-557 ASA-92-8-017 ABTDK23F-8976 566-24-3-067 1R12-562 ASA-92-8-331 ABTDK23H-8197
CONTI CONTI
PISTON 910-10 P 503 PISTON 910-12 P 024
566-20-7-252 64444 566-20-7-251 68009
FIRESTONE
COMPOSITE FIRE COMPOSITE ® g:g;sroui
013588976 W013588197
REYCO
NEWAY
2105501 905-57-230
4n TRIANGLE 550
9.30 8503 9.00 9.30
AUTOMANN AUTOMANN  FIRESTONE
566-24-3-067 ASA-92-8-164 AB1DK23F-8986 566-24-3-067 ASA-92-8-192 ABTDK23H-8934 8934
CONTI ABTDK23H-8934  WO013588934 ~
PISTON 910-10P 400 PISTON k2931 tenprickson | S
566-20-7-252 64438 566-20-7-252 AB1DK23H.8931 520228 n_g
COMPOSITE FIRESTONE COMPOSITE ABTDK23H-8934  TRIANGLE
® 8986 ® 412 ABTDK23H-8934 8544 E
013588986 _l AB1DK23H-8934 S
RIDEWELL AB1DK23H-8934
1003588986 ~ CONTI 3
550 412 TRIANGLE 3.05 910-12 P 544 =
9.00 9.30 8400 9.00 9.30 ——» 64463 =
AUTOMANN AUTOMANN  TRIANGLE D
566-24-3-067 ASA-92-8-164 ABTDK23F-9029 566-24-3-067 ASA-92-8-164 ABTDK23H-9365 8495 8
CONTI CONTI TRP 5]
PISTON 910-10P 399 PISTON 910-12p495  AS93630 o
566-20-7-252 64437 566-20-7-238 64460
COMPOSITE ® an %‘;E)STONE COMPOSITE ® ;ISIZESTONE
013589029 013589365
RIDEWELL NEWAY
1003589029¢ 905-57-159
550 TRIANGLE 550
9.00 930 —» 8399 9.00 9.80
AUTOMANN  REYCO mcl
566-24-3-067 ASA-92-8-164 ABTDK23F-9308  17360-01 566-24-3-072 1R12-212 61004846
CONTI TRIANGLE
PISTON 910-10P398 8398 PISTON
566-20-7-253 64436 TRP 566-20-7-079 f
COMPOSITE ® FIRESTONE  AS93080 STEEL 7.0 UPPER BEAD PLATE 412
9308 2 NOT INCLUDED.
013589308 .
NEWAY ¢
905-57-089 -
5.50 412 ] ]
9.00 9.30 10.10 ——»
CONTI AM GENERAL
566-24-3-067 ASA-92-8-164 910-10P397 566-24-3-076 1R12-076 ASA-92-8-151 5973924
64435 597324
PISTON FIRESTONE PISTON FIRESTONE
566-20-7-253 9332 566-20-7-036 9100
COMPOSITE WO13567532 ALUMINUM t W013589100
® REYCO 16.9 ®
20074-01 47
TRIANGLE
8397 #
550 4n TRP 476
9.00 9.30 4593320 9.00

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

@ Tapped Hole on Top Refainers — 3/8-16,
Stud — 3/4-16, Air Fitting — 1/4 NPTF

on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN  LOAD GUARD AUTOMANN  TRIANGLE
566-24-3-076 1R12-132 ASA-92-8-164 ABTDK23H-9105  SC2039 566-24-3-076 1R12-325 ASA-92-8-125 ABTDK231-9567 8461
ABIDK23H-9113  pas TRUCK CONTI TRP
PISTON . ‘ ABIDK23H-9302 & BODY PISTON 910-14P 461 AS95670
566-20-7-036 N 1 N— CONTI 1090276 566-20-7-055 64473
ALUMINUM / ® 24][?4]52 P39 fggﬂ'gﬁ%x ALUMINUM ® ;!;IZ;STONE
169 | : 1003589105C
61 ” ??2@%‘5 §-570-C 013589567
) SAUR AXLES INT'L/
\ E PIRESTONE — 5c0.705 NAVISTAR
230 9113 TAURUS 5.50 2027913C1
9.00 9.00 8.60
9302 £5302-9302
9303 £5502-0725
AUTOMANN
W013589105  AS502-9105 294.2. 99.8.
A A 566-24-3-076 ASA-92-8-004 ABTDK231-9010 g
GRANNING  TRIANGLE CONTI -
5065 8319 PISTON 910-14 P 345 =
HDA TRP 566-20-7-080 64258 0
PMABG-91058  AS93020 COMPOSITE ® FIRESTONE =
HENDRICKSON  WATSON W013589010 =
36514-3 & CHALIN HENDRICKSON ()
B-1245 £5-0015 B-2827 =
INT'L/NAVISTAR o
554770C1 550 TRP =
AS90100 Ly
mcl d E
566-24-3-076 1R12-139 ASA-92-8-098 12-1-23 AUTOMANN  FRUEHAUF )
; 566-24-3-076 ASA-92-8-088 ABTDK23H-9078  MFR-022355 S
PISTON : CONTI UGB-9668-1 T
566-20-7-006 PISTON 910-12P329  TRIANGLE m
ALMINN ® 566-20-7-036 44447 8329
ALUMINUM FIRESTONE
9078
013589078
6.20
9.00 2.88
9.00
566-24-3-076 1R12-169 A5A-92-8-119 572410, 00006
=24-3- - -72-6- -2410- AUTOMANN  TRIANGLE
97-2410-1 566-24-3-076 1R12-367 ASC-92-8-192 ABTDK23H-9640 8427
PISTON ® 3;%3}8% CONTI TRP
566-20-7-036-03 288 97.2410-4 PISTON 910-124427  AS96400
ALUMINUM 97-2410-5 566-20-7-164 64395
97-6693-1 STEEL ® FIRESTONE
9440
013589640
o HENDRICKSON
. (20223
9.00 305 e
AUTOMANN  TRIANGLE 0
566-24-3-076 1R12-205 ASA-92-8-125 ABTDK231-9568 8450 AUTOMANN  TAURUS
CONTI IRP 566-24-3-076 1R12-370 ASA-92-8-162 ABTDK231-9070  AS504-9070
PISTON 412 910-14P450  AS95680 CONTI TRIANGLE
566-20-7-055 44472 PISTON 910-14A330 8330
ALMINN ® FIRESTONE 566-20-7-036 64464 8490
9568 ALUMINUM ® FIRESTONE TRP
013589568 9070 4590700
INT'L/ WOT3389070 \yarson
NAVISTAR NEWAY & CHALIN
550 167549501 905-57-038-1  AS-0050
9.00 8.60 550 905-57-090  AS-0053
9.00 10.10 AR-90112

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN RIDEWELL AUTOMANN
566-24-3-076 1R12-434 ASA-92-8-164 ABIDK231-8802  1003588802C 566-24-3-076 1R12-512 ASA-92-8-005 ABTDK23H-9127A
CONTI TRIANGLE CONTI
PISTON 910-14 P 469 8469 PISTON 910-12A707
566-20-7-164 64477 TRP 566-20-7-156 . e, 64633
STEEL ® gg%gSTONE AS88020 COMPOSITE | ® ;:I;;STONE
013568802 0 | g/ N \gn | 013589127
NEWAY A - g NEW FLYER
905-57-170 AR 1§ B HB 9594
5.50 6.20
9.00 9.00
AUTOMANN TRIANGLE CONTI
566-24-3-076 ASA-92-8-017 AB1DK231-9797 8496 566-24-3-076 1R12-543 ASA-92-8-269 910-14 A 575
CONTI TRP Fany | su 5361 =
PISTON 910-14A496 AS97970 PISTON NEWAY =
566-20-7-156 64484 566-20-7-212 LDD’HBD‘?} ’ 905-57-275 t.g
COMPOSITE FIRESTONE COMPOSITE ; E 7.87 =
9797 E
W013589797 ()
RIDEWELL
1003589797C g
5.50 '.:
9.00 9.80 —» —
>
AUTOMANN
566-24-3-076 ASA-92-8-164 AB1DK231-8806 566-24-3-076 1R12-600 ASA-92-8-331 S
CONTI %
PISTON 910-14 A 545 PISTON a
566-20-7-156 64486 566-20-7-156
COMPOSITE ® g:}ROESTONE COMPOSITE ®
W013588806
RIDEWELL
1003588802X
5.50 5.50
9.00 9.00
CONTI
566-24-3-076 ASA-92-8-164 910-14 A 545 566-24-3-076 1R12-614 ASA-92-8-164
64486
PISTON FIRESTONE PISTON o,
566-20-7-036 013588806 566-20-7-156 , \
ALUMINUM ® COMPOSITE i ! ®
NN Pl ‘
Al 550 41 11 1 5.50
9.00 9.00
AUTOMANN NABI-HF
566-24-3-076 ASA-92-8-164 ABTDKI3H-9325  630-5056 566-24-3-076 1R12-616 ASA-92-8-164
CONTI NEWAY
PISTON 910-12 P 395 905-57-149 PISTON
566-20-7-235 64451 566-20-7-251 -~ =
TRIANGLE f
COMPOSITE ® ;gl;ESTONE 8395 COMPOSITE ( W ®
TRP I SRR
W013589325 4593250 . _/, i
GILLIG Il
87-17289
5.50 5.50
9.00 9.80 9.00 9.20
@ Boltor Stud —1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10 @ Boltor Stud — 1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10
@ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting: @ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting:
on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF

N INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFiNITY 9]



AIR SPRING ROLLING LOBES AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN  TRIANGLE PREVOST
566-24-3-076 1R12-620 ASA-92-8-430 AB1DK231-9335 8465 566-24-3-079 1R12-631 ASA-92-8-439 360258
[ — CONTI TRP 60125
PISTON 910-14P 465 AS93350 PISTON 1 250-12 UNF outside
566-20-7-239 64475 566-20-7-079 500-14 NPTF inside
— e FIRESTONE
COMPOSITE : . R O FIRE STEEL 223
W013589335 8.1
. N
0 | /NN \m HENDRICKSON 9
a1 ek O 56917-1 l
ils, 6.20 56917-2 412
9.00 9.20 65086-2 ) 1020
AUTOMANN FIRESTONE
566-24-3-076 1R12-636 ASA-92-8-440 AB1DK231-9634 566-24-3-080 1R12-645 ASA-92-8-164 013589210
CONTI ; =~
PISTON o1 910-14 575 PISTON =)
566-20-7-156 f : . 65361 566-20-7-080 “v
COMPOSITE FIRESTONE COMPOSITE 5/8-11 11213 )
171 . ® ® B uNe Une |38 =
. Mo 9634 21.3 L J —
53 - T 013589634 68 S
el TRP i =
200 —» | = 4596340 l P E
9.00 9.80 9.00 <+« 1010 —» E
AUTOMANN AUTOMANN SPRINGRIDE ()
566-24-3-076 1R12-648 ASA-92-8-164 AB1DK231-9336 566-24-3-090 ASA-92-8-142 ABIDK23N-9367  TRI2-1071 ~
CONTI SUSPENSIONS (=)
PISTON I I 31014 490 PISTON YRR m
566-20-7-239 —— 64479 566-20-7-159 FIRESTONE TRIANGLE “w
FIRESTONE 7347 8505
COMPOSITE ® FIRE COMPOSITE ® s w
013589336 HENDRICKSON K534/
- WATSON
B-4375 & CHALIN
550 6.20 LOAD GUARD  AS-0104
9.00 9.80 9.00 Se120
AUTOMANN  WATSON
566-24-3-076 ASA-92-8-164 566-24-3-090 ASA-92-8-142 ABTDK23N-9321 & CHALIN
ABTDK23N-9367A  AS-0036
PISTON PISTON e CONTI
566-20-7-158 566-20-7-006 } Z 41209-]21 P 361
COMPOSITE ALUMINUM 3
© 29.1 1 © FIRESTONE
9.4 1 9321
1 013589321
TRP
5.50 6.20 AS93210
9.00 9.80 9.00
CONTI AUTOMANN  TRIANGLE
566-24-3-076 ASA-92-8-041 910-14P 312 566-24-3-090 1R12-363 ASA-92-8-164 ABIDK23N-9320 8360
64274
) CONTI TRP
PISTON A FIRESTONE PISTON f 910-21P360  AS93200
566-20-7-235 288 9069 566-20-7-159 64382
COMPOSITE y 013583067 COMPOSITE ® ;gl;gsroui
W013589320
NEWAY
905-57-099
6.20 5.50
9.00——» 9.80 9.00
@ Boltor Stud —1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10 @ Boltor Stud — 1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10
@ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting: @ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting:
on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF

92 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 93



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
566-24-3-090 1R12-440 ASA-92-8-142 566-20-7-237 a0 566-24-3-090 1R12-663 ASA-92-8-164 fi(";?‘ P340
PISTON PISTON FIRESTONE
566-20-7-237 566-20-7-006 W013589320
® ALUMINUM ®
620 550
9.00 : 9.00
AUTOMANN
566-24-3-090 1R12-507 ASA-92-8-355 566-24-3-097 1R12-1048 ASA-92-8-238 A LIS 9974
o - h Y
PISTON PISTON T e 3?5‘?'75 4930 =
566-20-7-236 566-20-7-158 i ® _‘ 67586 t.g
COMPOSITE COMPOSITE na | 4-38 ;!)I;E‘STONE =
13 iv:; 3589974 %
=
5.50 > AS99740 E
10.00 «——900—» 9.80 E
D
566-24-3-090 1R12-599 ASA-92-8-331 566-24-3-097 1R12-1049 ASC-92-8-471 g’i%ggg%g“"‘ =
: n
PISTON r~— PISTON VoLvo a
566-20-7-159 566-20-7-236 21669088
(OMPOSITE i 1 ® (OMPOSITE
M12 x 1.75-6G
5.50
9.00 9.00 10.00
566-24-3-090 1R12-609 ASA-92-8-192 gfg';{fpgn 566-24-3-097 1R12-274 ASA-92-8-121
PISTON PISTON
566-20-7-159 566-20-7-079
COMPOSITE @ STEEL E @ 412
r | |
) 305 l ﬂ ,QJ 6.20
9.00 1 9.00 1012—»
566-24-3-090 1R12-637 ASA-92-8-164 vt 566-24-3-097 1R12-402 ASA-92-8-199 A TeLE
i D_@-\ @ CONTI Q CONTI TRP
PISTON ¥ 910-21 P511 PISTON 910-18.5P 520  AS92970
566-20-7-159 (@L | 64385 566-20-7-246 64410
(OMPOSITE { 1 ® FIRESTONE STEEL FIRESTONE
W013589338 9297
W013589297
HENDRICKSON
50898-1
5.50 50898-2
9.00 10.13

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

@ Tapped Hole on Top Refainers — 3/8-16,
Stud — 3/4-16, Air Fitting — 1/4 NPTF

on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN  HENDRICKSON AUTOMANN  TRIANGLE
566-24-3-097 1R12-404 ASA-92-8-430 ABTDK23M-9375  50899-] 566-24-3-097 1R12-498 ASA-92-8-164 ABTDK23P-9922 8428
— CONTI MACK TRUCK i 1y CONTI TRP
PISTON A 910-185P 451 3645027 PISTON 910-175P 428 AS99220
566-20-7-246 |8 ﬁ F 64264 57014140 566-20-7-237 64399
STEEL L0080 0 FIRESTONE  SPRINGRIDE COMPOSITE 7 ® FIRESTONE
r 9375 1R12-1076 295-20 R 9922
s WOT3S69375 ool 2| 013589922
L FLEETRITE 8451 \ NEWAY
: 1R12-1063 Al i 905-57-119
* TRP & 1 550
_ 1000 50899-2 A593750 000 980
AUTOMANN  HENDRICKSON AUTOMANN  TRIANGLE
566-24-3-097 1R12-424 ASA-92-8-199 ABTDK23M-9287 50405 566-24-3-097 1R12-532 ASA-92-8-331 ABTDK23P-9935 8548
[ — CONTI e CONTI TRP >
PISTON CEIT S 970-18.5 P 406 PISTON 910-17.5P 548  AS99350 =
566-20-7-246 3 7 64277 TRIANGLE 566-20-7-235 64412 v
STEEL s50 | FRestone 0406 COMPOSITE ® FIRESTONE A
{ 9287 TRP 9935 =
200 | W013589287  AS92870 013589935 S
8.1 | GMC NEWAY =
‘ ' 15963160 o 905-57-157 S
i 1013 —» 9.00 9.80 E
AUTOMANN  TRIANGLE )
566-24-3-097 1R12-446 ASA-92-8-164 ABTDK23L-9245 8390 566-24-3-097 1R12-533 8
CONTI TRP %
PISTON 910-19P390  AS92450 m
566-20-7-158 64331
COMPOSITE FIRESTONE
® 9245
W013589245
RIDEWELL
1003589245¢
550
9.00
AUTOMANN
566-24-3-097 ASA-92-8-164 ABDK23P-9342 566-24-3-097 1R12-592 ASA-92-8-355
CONTI
PISTON 910-17.5P 418 PISTON
566-20-7-158 64334 566-20-7-158
COMPOSITE ® FIRESTONE COMPOSITE
013589342
550
9.00
AUTOMANN  TRIANGLE AUTOMANN  NEWAY
566-24-3-097 ASA-92-8-164 ABTDK23P-9923 8429 566-24-3-097 1R12-621 ASA-92-8-164 ABTDK23K-9093  905-57-007
CONTI TRP CONTI e
PISTON 910-17.5P429  AS99230 PISTON 910-16 P332
566-20-7-235 64278 566-20-7-159 64293 TRIANGLE
COMPOSITE ® FIRESTONE COMPOSITE ® FIRESTONE 050
9923 9093
W013589923 W013589093
NEWAY
905-57-118
550 550
9.00 9.80 9.00 9.80

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
INT'L/ AUTOMANN  FREIGHTLINER
566-24-3-097 1R12-622 ASA-92-8-355 NAVISTAR 566-24-3-108 1R12-603 ASA-92-8-440 ABTDF23-9781  16-19465-000
. 359611201 . CONTI 6813200017
PISTON PISTON 91016435 A16-14004-000
566-20-7-236 546-20-7-322 446 AT6-14004-001
COMPOSITE ALUMINUM ® FIRESTONE N GR OE
W013589781  TRIANGLE
FLEETRITE 8382
1R12-1064 TRP
6.20 4597804
10.00 9.00 10.63
AUTOMANN CONTI
566-24-3-097 AS1-92-8-192 AB1DK231-8855 566-24-3-116 ASA-92-8-360 910-19P762
CONTI 64708 =~
— ]
PISTON 910-19 P 552 PISTON =
566-20-7-158 64340 566-20-7-158 9
COMPOSITE ® FIRESTONE COMPOSITE ® =
013588855 =
TRP D
A588550 =
305 e 620 E
9.00 9.00 =
>
MACK TRUCK WATSON
566-24-3-097 1R12-647 ASA-92-8-546 20910892 566-24-3-116 ASA-92-8-360 & CHALIN ~
rym— 570L519M £5-01146 o
236 w
PISTON i \ jn VOLVO PISTON {g
546-20-7-303 —— 20733034 546-20-7-209
COMPOSITE COMPOSITE ®
6.20
10.00 9.00
CONTI
566-24-3-100 1R12-593 ASA-92-8-164 566-24-3-117 ASA-92-8-367 910-21P448
64383
PISTON PISTON FIRESTONE
566-20-7-036 566-20-7-299 9370
ALUMINUM ® COMPOSITE ® W013569370
TRP
4593700
WATSON
& CHALIN
550 6.20 £5-0057
9.00 10.30 10.60
AUTOMANN FREIGHTLINER PREVOST
566-24-3-108 1R12-303 ASA-92-8-440 MIDFZSITE0  (CONT) 566-24-3-120 1R12-377 ASA-92-8-268 63-0151
- SN bagy 1615595000 - 0
i3 16-15595-002 ey
PISTON FIRESTONE 1682000 PISTON r 500 x
COMPOSITE ® A — 16 6555401 STEEL 19
7| AT
FREIGHTLINER g OLE i
16-13810-000
16-13810-00] TRP / .
6.20 16-13810-002 As9780 Aoy ol 412
9.00 11.10 16-14377-000 | ' 10.10

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN HENDRICKSON
566-24-3-140 1R12-403 ASA-92-8-430 ABTDK23M-9373  57122-]
175
598 — CONTI mcl
PISTON r 910-18.5P519  2992101(1
566-20-7-377 @ 00 iﬂl 64265 SPRINGRIDE
STEEL r:“ L i ;!;;SSTONE li]lir:gﬁ
29 W013589373 8519
7_'75 1 FLEETRITE TP
o 1R12-1056 1593730
10.00
AUTOMANN
566-24-3-142 1R12-1047 ASA-92-8-547 AB1DK231-9807
1 an
PISTON iy 10-13.5P 874
566-20-7-413 68151
COMPOSITE 14.2 ® ;g%;STONE
45 1013589807
Ny R & NEW HOLLAND
W L*‘§ 18100494
I 5,50 TRP
9.00 9.50 AS98070
AUTOMANN
566-24-3-161 1R12-1094 ASA-92-8-164 566-20-7-424 ABTDK23H-8203
CONTI
PISTON 910-12 P 543
566-20-7-424 FIRESTONE
® W01-358-8203
GILLIG
82-19159-000
5.50
9.00 9.80
AUTOMANN NEWAY
566-24-3-163 1R12-092 ASA-92-8-164 lél;l ﬁﬁsmoaz 105 57 006
910-16P 310 905-57-037
905-57-054
PISTON gfv?ou 905-57-075
566-20-7-080 3579082 EFE
FAB TEK
COMPOSITE ® 107628 n%\]n]\gus
FIRESTONE R&S TRUCK
s — & BODY
1090217
FLEETRITE REVCO
1R12-1053 REYC0
20 SRANNING RIDEWELL
9.00 f{;; 10035839082
PIABG-90828 12-C
HenoRckson 7GR
B-2066 SUSPENSIONS INC.
gm0
INTL/NAVISTAR ~ AS506-9082
51755909 T0Y0
KWIK-LOK/ToDCO  TRL-240/393
(P-3281 TRIANGLE
(P-5125 8310
(P5152 TP
LOAD GUARD 1590820
502035 WATSON
& CHALIN
A5-0011

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
CONTI INT'L/
566-24-3-163 1R12-401 ASA-92-8-165 910-18-5°521  NAVISTAR
{ 5 64290 1670043C1
PISTON o, | 36 412 FRESTONE 1686386
566-20-7-221 S A 9371 SPRINGRIDE
OUROSITE y@ 0 W013589371  1R12-1074
f_ FLEETRITE TRIANGLE
200 1R12-1062 851
67 | TRP
4593710
i | 1023
AUTOMANN  INT'L/
566-24-3-163 1R12-538 ABTDK23M-9648  NAVISTAR
sy CONTI 202791101
PISTON P - 910-18.5P 456 %8%?31}%
566-20-7-236 0 0s0 0 287 64263
B ' SPRINGRIDE
COMPOSITE . ;'6'55“0"5 1R12-1080
200 W013589648  TRIANGLE
67 FLEETRITE 0720
1R12-1057 TRP
1596480
10.00
AUTOMANN TRIANGLE
566-24-3-164 1R12-615 ASA-92-8-546 ABTDF23H-PT154 8449
] o CONTI TRP
o | R i B
366-20-1-303 = 8829 20396293
COMPOSITE e 14013588829 20413888
f ¢ ? FLEETRITE 20505399
22.0 1R12-1059 3934699
6.7 8079902
MACK TRUCK 8084296
L 57QL54M 8097092
550 SPRINGRIDE
9.00 10.00 TR12-1083
AUTOMANN  HENDRICKSON
566-24-3-165 1R12-375 ASA-92-8-192 ABTDK231-9265 20413
CONTI (20124
PISTON 910-19P435  SPRINGRIDE
566-20-7-163 64288 1R12-1073
STEEL ® FIRESTONE  TRIANGLE
9265 8435
WOI3589265  rop
FLEETRITE 4592650
— 1R12-1055
3.05
9.00
AUTOMANN
566-24-3-165 1R12-432 ASA-92-8-344 ABTDK23R-1731
ﬁ 395 CONTI
PISTON e 9108-19.5 P 889
566-20-7-236 al :T—[M 66908
s INT'L/
COMPOSITE I R
20 | 350243094
67 | SPRINGRIDE
{ 1R12-1077
_ TRP
1000 ASP8890

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF

& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297

=
=
S
=
3
=
=2
=
=
@
S
o
(%2




AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN CONTI NEWAY
566-24-3-165 1R12-523 ASA-92-8-355 ABTDK23R-9876 566-26-3-015 1 R; 3:3{0 ASD-20-8-053 910-19P444  905-44-608
CONTI 0Bs0 LOAD GUARD 30227 0
PISTON 910B-19.5P 171 PISTON e 52776
566-20-7-236 69310 566-20-7-084 (OSSN TRIANGLE
MACKTRUCK gy
COMPOSITE INT'L/ ALUMINUM ® 5701332
NAVISTAR 26.0 570139306
354173201 76
SPRINGRIDE L
1R12-1079
550
10.00 770 9.25
AUTOMANN AUTOMANN  TRIANGLE
566-24-3-170 566-20-7-426 AB1DK23M-9663 566-26-3-043 1R13-117 ASA-92-8-004 ABIDK230-9275 8323
CONTI oD 0, CONTI TRP e
PISTON 910-18.5P 939 PISTON ~ 918175433 AS92750 =
566-20-7-426 67573 566-20-7-080 64371 v
COMPOSITE FIRESTONE COMPOSITE ® FIRESTONE =
W01-358-9663 9275 =
HENDRICKSON L ()
602712 RIDEWELL =
1003589275¢ o
667 550 =
« 900 —> 10.00 9.00 =
AUTOMANN AUTOMANN  TRIANGLE )
566-24-3-171 1R12-1095 578-92-8-561 566-20-7-425 ABTDK231-9697 566-26-3-044 ASA-92-8-004 ABTDK235-9250 8324 8
CONTI CONTI TRP %
PISTON 910-14P 882 PISTON 100204324 AS92500 m
566-20-7-425 FIRESTONE 566-20-7-006 64375 WATSON
® W01-358-9697 ALUMINUM ® FIRESTONE & CHALIN
HOLLAND 9250 £5-0096
L W013589250
RIDEWELL
1003589250
550 550
9.00 10.20 9.00
AUTOMANN AUTOMANN  TRIANGLE
566-24-3-172 1R12-1097 ASA-92-8-041 566-20-7-428 AB1DK231-8864 566-26-3-044 ASA-92-8-044 ABTDK235-9252 8363
; o CONTI CONTI TRP
PISTON 910-19 P 898 PISTON 64376 £592520
566-20-7-428 FIRESTONE 566-20-7-006 9700-21 A 363
W01-358-8864 ALUMINUM FIRESTONE
7% PETERBILT/ 7 3589257
X PACCAR
/ (81-1011 RIDEWELL
/. 1003589252
550
8.00 9.00
AUTOMANN AUTOMANN  HENDRICKSON
566-24-3-289 1R12-1204 566-20-7-431 ABTDK231-8813 566-26-3-050 ASA-92-8-230 ABTDK25B-8710  B-22046
CONTI ABTDK25B-8755  (-21623
(22045
PISTON 910-14P 577 PISTON j f(?1“0"1 sy G206
566-20-7-431 566-20-7-127 -
FIRESTONE @\ 35 64397 SPRINGRIDE
W01-358-8813 STEEL TR13-260
KENWORTH $ FIRESTONE
Tt 8710 TRIANGLE
: 8755 8522
PETERBILT WOLSSBETI0 oo
(81-6000 550> WOT3388735 \cg7550
10.20 « 1030 —>

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN FIRESTONE
566-26-3-050 1R13-138 ASA-92-8-245 AB1DK258-8752 566-26-3-051 1R13-053 ASA-20-8-245 8754
013588754
CONTI
PISTON 1010-155 518 PISTON NEWAY
566-20-7-106 64396 566-20-7-036 13
STEEL ® gl;;gsroui ALUMINUM ®
013588752
TRP
AS87520
550 550
10.30 10.30
AUTOMANN  NEWAY CONT.
566-26-3-051 ASA-92-8-245 ABTD286-9121  905-57-083 566-26-3-051 1R13-075 ASA-92-8-245
ABTDK23K-9228  AR-1115-16 .
PISTON MBIDKSE-S783  pes TRUCK PISTON =]
AT 055 o003 366-20-7:036:03 2
COMPOSITE ® 4 ALUMINUM ® =
REYCO =
DAYTON 12882-02
352-9121 @
RIDEWELL =
FIRESTONE  1003589121C o
550 9171 $-3052-C 4 550 =
10.30 W013589121 SAUR AXLES 10.30 E
HDA P50-7338 AUTOMANN S
PUABG-91238  paygus 566-26-3-051 1R13-155 ASA-92-8-243 ABTDK25E-8637 ~
HENDRICKSON  AS621-9121 ABTDK28A-8050 8
B-3411 TRIANGLE PISTON CONTI o
INT'L/NAVISTAR 8317 566-20-7-106 ® j 1010-16 5 724
5547731 TR L 213 64649
LOAD GUARD  AS91210 f WATSON
502040 & CHALIN
WATSON
NEWAY & CHALIN As-01076
905-57-019  AS-0013
905-57-052  AS-0083 6.20—»
905-57-078 1030 —>
CONTI
566-26-3-051 1R13-047 ASA-92-8-245 11105174377 566-26-3-051 1R13-181 ASA-92-8-245
64347
PISTON FIRESTONE PISTON
566-20-7-09 013589144 566-20-7-124
NEWAY
STEEL ® NEWAY STEEL ®
TRIANGLE
8377
TRP L s
5.30 £591440 5.30
10.30 10.30
INT'L/ RIDEWELL
566-26-3-051 ASA-92-8-245 NAVISTAR 1013589123C 566-26-3-051 1R13-182 ASA-92-8-243
554775(1
TAURUS
SERVICE ASSEMBLY :-i%‘)\?tb AS621-9123 PISTON j
FOR 1R13-039 566-20-7-124
® USE EXISTING 5(2055 STEEL O3
PISTON SUPER CUSHION NEWAY ?
NOT INCLUDED PISTON 900-44-670
900-44-702
905-54-060
550 6.20—»
10.30 1030 —>

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN  RIDEWELL
566-26-3-054 1R13-120 ASA-92-8-049 ABTDK28L-9218  1003589218C 566-26-3-068 1R13-149 ASA-92-8-240
CONTI TRIANGLE
PISTON 11105154422 8422 PISTON
566-20-7-334 44428 WATSON 546-20-7-127 T
ALUMINUM FIRESTONE & CHALIN STEEL
® 9218 £5-0073 25.0 ©
W013589218 73
NEWAY
905-57-209
550 3.05
11.30 10.30
AUTOMANN  SPRINGRIDE
566-26-3-055 ASA-92-8-245 ABTDK25D-8729  1R13-26] 566-26-3-069 1R13-151 ASA-92-8-326
CONTI SUSPENSIONS =
PISTON 101058-12P513 INC. PISTON o =
566-20-7-230 3 64420 202796 566-20-7-334 At a1 9
COMPOSITE ® FIRESTONE  TRIANGLE ALUMINUM QR—} =
2, 8729 8513 X NN =
- WOI3S6729 oo . N =
: : MERITOR 4587290 JBREE =
20279 : : - ()
550 6.50 6.25 =
10.30 10.00 11.30 —> =
DINA AUTOMANN  NEWAY )
566-26-3-056 1R13-133 ASA-92-8-307 224-B020018 566-26-3-071 1R13-152 ASA-92-8-245 ABTDK25(-8748  905-57-167 ~
Ml CONTI AR-250-14 (=)
: AR-250-15 )
PISTON 0 75014 MI2x 1510979 PISTON 1010-21 P 570 m
566-20-7-231 T plt o ... NPTF 17566 546-20-7-235 ‘ 6425 X?gmo
FIRESTONE
STEEL ", COMPOSITE 24 ® FIRE
% 75 _ ! 013588748
LAl
5.00 1 ; 550
810 10.30 9.80
CONTI TRIANGLE AUTOMANN  NEWAY
566-26-3-067 1R12-435 ASA-92-8-162 910-10P471 8471 566-26-3-071 1R13-153 ASA-92-8-245 ABTDK25(-8749  905-57-168
64439 8482 q 0 CONTI AR-250-12
i - AR-250-16
PISTON FIRESTONE  TRP PISTON ] 1010-21P486 o 93017
STEEL COMPOSITE ! FIRESTONE
© NEWAY . : © 8749 B4ge
905-57-129 . Jrrasi ANy W013588749  TRP
RIDEWELL N A587490
1003589334 !
550 & e 5 550
9.00 9.25 10.30 9.80
AUTOMANN  HENDRICKSON AUTOMANN
566-26-3-068 1R13-118 ASA-92-8-240 ABTDK25C-9580 29892 566-26-3-071 1R13-208 ASA-92-8-249 ABTDK25(-8746
20127
CONTI [ CONTI
PISTON 101021 43 CL4T4 PISTON e 1010-219774
546-20-7-325 64394 SPRINGRIDE 546-20-7-235 f | 64728
1R13-258 : I
COMPOSITE FIRESTONE COMPOSITE . 489 FIRESTONE
© 9261 TRIANGLE B85 | : © |a K W013588746
9580 8434 75 | X :
013589580 ' i
TRP W,y i,
FLEETRITE 4595800 l NIV
305 1R13-247 1 g 3.05
10.30 1030 —» 9.80
@ Boltor Stud —1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10 @ Boltor Stud — 1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10
@ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting: @ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting:
on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF

106 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFiNITY 107



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN  NEWAY
566-26-3-072 1R13-038 ASA-92-8-245 AB1D28C-A026  CONT. 566-26-3-078 1R13-128
il i CONTI 905-57-076
— & 11105214313 905-37-077
PISTON T 50273 905-57-185
566-20-7-097 AR1215-16
DAYTON
COMPOSITE ‘ ® 352-9122 %53002
24.9 FIRESTONE -
8.9 9127 RIDEWELL
ELEETRITE 1003589122C
1R13-246 S-3053-C
550 HENDRICKSON P RINCRIDE
10.30 B-12514-008
5331393 X‘s‘eljzgutys]zz
- - DANA/SPICER
53467 TOY0 566-26-3-078 1R13-174 ASA-92-8-401 SRIVATOT
53830 TRL-270/476 OBSOLETE =
INT'L/NAVISTAR TRP =
55477201 £591220 REPLACED BY =
LOAD GUARD ~ WATSON 1R13-188 2
SC2041 & CHALIN ® =
NEWAY AS-0023 PISTON =
905-57-020 566-20-7-152 S
05707 COMPOSITE 3
INT'L/
566-26-3-072 1R13-048 ASA-92-8-245 NAVISTAR - o =
554774C] : : =
il
N LOAD GUARD CONTI 12
SEEX;‘%?%:” s By 52056 566-26-3-078 1R13-176 ASA-92-8-325 1010-165533 ~
® USE EXISTING NEWAY bleds 8
PISTON SUPER CUSHION 900-44-658 PISTON FIRESTONE o
NOT INCLUDED PISTON 900-44-648 566-20-7-154 ® j %]335887]3
RIDEWELL COMPOSITE .- HENDRICKSON
P 19.0 4 (22948
| \ 5.50 TAURUS ;
~ > 1030 15622-9124 9.1 1 SPRINGRIDE
566-26-3-072 1R13-216 ASA-92-8-245 L L4 ]55300" ggg TRIANGLE
I
et CONTI SPRINGRIDE
JITON T 566-26-3-078 A5A-92-8-274 0 Tesszs 113264
STEEL ® 64638 TRIANGLE
219 PISTON ® j 5|7nogsroui 8526
8.9 - 566-20-7-154 l’ ® ®
m ONROSIE | ® 138 013588708
W [ f FLEETRITE
Lin__'; S o ] 1R13-250
e 10.30 HENDRICKSON
(21966
AUTOMANN  FLEETRITE
566-26-3-073 1R13-159 ASA-92-8-230 108709 IRI3-249 - -
BBTDK2SBB75] oo e on
PISTON CONTI (20900
s, o o M4 O o o 566-26-3-078 IR13-179 ASA-92-8-245
® 1.38 64645
COMPOSITE SPRINGRIDE
A FIRESTONE  1R13-262 TN
o TRIANGLE e
Woi3see709 8460 COMPOSITE ®
Wo13588751  TRP
550 590
«— 1030 —> 8.80 As870%0
5.50 590
10.30 9.90

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
DANA/SPICER AUTOMANN
566-26-3-078 1R13-188 ASA-92-8-424 SRIJATO0 566-26-3-081 1R13-210 ASA-92-8-240 ABTDK25B-8740
SRIVATOT-1 CONTI
PISTON SRIVATO5 PISTON 1010-155 773
566-20-7-314 ?gg&glq(sou 566-20-7-106 64725
COMPOSITE ’ STEEL FIRESTONE
® © W013588740
550 590 3.05
10.30 9.90 10.30
HENDRICKSON
566-26-3-078 1R13-189 ASA-92-8-230 566-26-3-095 ASA-92-8-230 525872
™
PISTON I i PISTON =
566-20-7-152 T ~Z Lo ® j 566-20-7-274 ® j n_g
COMPOSITE 4-38 STEEL 4-38 =
=
()
=
(=3
550 590 550> =
« 1030 —> 9.90 « 1030 —> =
AUTOMANN HENDRICKSON )
566-26-3-081 1R13-097 ASA-92-8-245 ABTDK25B-8723 566-26-3-097 1R13-237 ASA-92-8-230 5-25871 8
CONTI %
PISTON 1010-155518 PISTON o
566-20-7-296 1010-155962 566-20-7-277 T ® j
COMPOSITE ® 67600 STEEL 1.38
Yoot 067 u f
1001R13-097 8.2 k|
1003588725¢ l
550 TRIANGLE o 550
10.30 8518 « 1030 —> 1028
AUTOMANN CONTI SPRINGRIDE
566-26-3-081 1R13-109 ASA-92-8-243 ABTDK25B-8782 566-26-3-098 1R13-119 ASA-92-8-240 566-20-7-106 910-1355433  TR13-259
CONTI 64287 TRP
PISTON 1010-155871 PISTON FIRESTONE 2592700
566-20-7-296 ® j 66340 566-20-7-106 9270
COMPOSITE 213 FIRESTONE STeel WO13589270
f 8782 FLEETRITE
013588782 1R13-248
RIDEWELL
1001R13-109 AR RICKSON
620> TRP 520010
« 1030 —> AS87820
AUTOMANN CONTI TRIANGLE
566-26-3-081 1R13-207 ASA-92-8-243 ABTDK25B-8753 566-26-3-098 1R13-239 ASA-92-8-249 64287 8433
CONTI 910-1355433  \parcon
PISTON i j 10 1309-15 $713 PISTON FIZRESTONE &SCOHQLIN
566-20-7-106 646 566-20-7-106 9270 A5-0084
STEEL f ® 213 FIRESTONE STEEL ® [T 489 W0N33E7270
f W013588753 - j HENDRICKSON
WATSON s
& CHALIN
525559
A50098
6.20—» 3.05 566
« 1030 —> 9.50 1030 —» 9.50

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN HENDRICKSON
566-28-3-015 1R14-037 ASA-92-8-028 AB1DK28L-9215  B-3648 566-28-3-015 1R14-108 ASA-92-8-031
CONTI INT'L/
PISTON 1110.5-15A414  NAVISTAR PISTON
566-20-7-334 64424 554781C1 566-20-7-334
ALUMINUM DAYTON LOAD ALUMINUM
352-9215 GUARD
FIRESTONE 0%
9215 TRIANGLE
W013589215 8414
AUTOMANN LOAD GUARD AUTOMANN
566-28-3-015 ABIDK2BL-9200  SC2116 566-28-3-015 ABTDK28A-A729
CONTI RIDEWELL
11105154415 1003589200C CONTI =
PISTON 64253 §-2572-C PISTON 1110.5C-16 A 729 =
566-20-7-334 DAYTON SUSPENSIONS 566-20-7-334 64660 vy
ALUMINUM 352:9200 INC. ALUMINUM R
FIRESTONE 200458 -
9200 TRIANGLE =
013589200 8415 @
HENDRICKSON ~ WATSON =
B-3839 & CHALIN Q
o 3
— ]
%
AUTOMANN INT'L/
566-28-3-015 1R14-042 ASA-92-8-049 ABTDK28A-8052  NAVISTAR 566-28-3-015 ~
CONTI 1681747C1 (=)
=)
PISTON 1110.5C-16 LOAD PISTON a
566-20-7-334-03 A378 GUARD 566-20-7-223
ALUMINUM ® 64357 s STEEL
FIRESTONE TRIANGLE
8052 8378
W013588052 WATSON
550 HENDRICKSON & CHALIN
- 36514-12 AS-0078
1130 B-12514-012
HENDRICKSON AUTOMANN
566-28-3-015 1R14-052 ASA-92-8-122 89001 566-28-3-015 ASA-92-8-100 ABTDK28A-A706
CONTI
PISTON M M j PISTON _¢ 216]208“_16 A706
566-20-7-334 ot b ® ® 566-20-7-334 ® ®
ALUMINUM ! - k4 .- ALUMINUM @ 1.38
180 ! 4 4
RS
175 175>
N3N —> «— 1130 —»
GILLIG mcl
566-28-3-015 1R14-094 ASA-92-8-223 53-20415-0001 566-28-3-015 ASA-92-8-434 12-01-1143
PISTON PISTON 750-14 M12x
566-20-7-334-03 566-20-7-230 NPTE 175
ALUMINUM COMPOSITE
6.50—>
11.30 10.00
@ Boltor Stud —1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10 @ Boltor Stud — 1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10
@ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting: @ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting:
on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF

N2 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 113



AIR SPRING ROLLING LOBES AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
mcl AUTOMANN  INT'Y/
566-28-3-015 1R14-216 ASA-92-8-434 12-01-1249 566-28-3-020 1R14-045 ASA-92-8-049 AB1D28C-9122 %‘1‘754?('1‘
A CONTI
T 11105214313 LOAD
PISTON 750-14 MI2x PISTON ] 64273 GUARD
566-20-7-334 NPTF 1.75 566-20-7-097 FIRESTONE 5(2098
8792 TRIANGLE
ALUMINUM COMPOSITE s ® o A
. 9 W013588792 TRP
. W013589122 4591220
HENDRICKSON
36514-2
l 550 36514-8
11.30 B-3467
AUTOMANN  LOAD INT'L/
566-28-3-020 ASA-92-8-028 AB1D28C-9156  GUARD 566-28-3-020 1R14-060 ASA-92-8-116 NAVISTAR
CONTI SC2044 16817491 ~
11105214370 PEERLESS a 1 LOAD =
PISTON ) i B
566-20-7-097 a1 1& S 64354 0550-00080 SEEX:‘CMS:_%'?EW .\l @*\i GUARD “\
COHPOSITE v g FIRESTONE ~ 0950-00081 , ® USE EXISTING SC2099 )
9152 TAURUS PISTON | SUPER CUSHION =
W013589152 AS622-9156 NOT INCLUDED H PISTON %
HENDRICKSON  TRIANGLE !
B-7128 8370 ' 3
6.25 INT'L/NAVISTAR 550 =
1130 554777C1 11.30 =
INT'L/ CONTI 12
566-28-3-020 ASA-92-8-078 NAVISTAR 566-28-3-020 1R14-151 ASA-92-8-100 1110-5-19A960 ~
168174201 67547 8
SERVICE ASSEMBLY &) LOAD PISTON RIDEWELL a
FOR 1R14-019 12 1\ GUARD 566-20-7-096 ® ® j 1000006
Ty ® USE EXISTING sam COMPOSITE , 138
PISTON SUPER CUSHION ?
NOT INCLUDED PISTON
6.25 775>
«——— 1130 «— 1130 —»
AUTOMANN LOAD GUARD WATSON
566-28-3-020 ASA-92-8-031 AB1028C-9158 SC2045 566-28-3-020 ASA-92-8-361 & CHALIN
CONTI NEWAY AS-0023-16
e g
PISTON 557009 PISTON
546-20-7-097 bRt o 546.-20-7-097
COMPOSITE FIAESTONE 1003587158¢ COMPOSITE ®
013589158 TAURUS
HENDRICKSON 156229158
} TRIANGLE
Pisihon o8
82063 hsa0 6.20
s it
INT'L/NAVISTAR AUTOMANN
566-28-3-020 1R14-031 168174501 566-28-3-020 ASA-92-8-174 ABTDK28F-A752
i il Y 105224752
SERVICE ASSEMBLY L S— GUARD PISTON -
FOR 1R14-030 rﬁ W SQ2115 566-20-7-097 34690
USE EXISTING NEWAY NEWAY
PISTON t SUPER CUSHION 900-44-197 (OMPOSITE ® 905-57-102
NOT INCLUDED t PISTON RIDEWELL 1555031
- , 1013589154
K j ‘k WATSON
i 3 TAURUS 6.20 & CHALIN
£5622-9154 1130 £5-00476

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN  TRIANGLE AUTOMANN  LOAD
566-28-3-020 1R14-174 ASA-92-8-049 ABTDK28F-5503 8530 566-28-3-021 1R14-026 ASA-92-8-028 ABTD28G-9148  GUARD
CoNT! o il ]c]o I’STSIWASM ;Cizi(rfiss
PISTON 11105224530 AS55030 PISTON 5
566-20-7-097 64422 WATSON 566-20-7-09% 64343 0550-00070
DAYTON TAURUS
COMPOSITE ® E!;"Ogsm“f X*S_CO*(‘)Q}'" STEEL 350-9148 AS621-9148
W013585503 ;=§EBSTONE gmusu
NEWAY
0 013589148
550 INT'L/NAVISTAR
11.30 554778C]
AUTOMANN  NEWAY
566-28-3-020 ASA-92-8-100 566-28-3-021 1R14-028 ASA-92-8-031 ABID286-9177  905-57-003
ABID28G-9179  AR-1115-1-F =
PISTON T j PISTON ]C]O]NOTIS g g&ss oT{I;yUCK =
566-20-7-181 566-20-7-096 5 “\
® ®
STEEL @ 138 STEEL 6434 1090216 =
27.1 A DAYTON RIDEWELL =
101 3529177 103589177C S
FIRESTONE & 1ot =
9177 o
el o $4797-C =
«— 1130 —> W013589177  TAURUS =
pY— W013589179  AS621-9177 %
AS621-9179
-28-3- - 998 ) HDA
566-28-3-020 1R14-201 ASA-92-8-100 ﬁ:ﬁ:?c 2965 PIBG.91778  TRIANGLE 8
8316 %
PISTON 1110.5-21 A 965 'B*Ezggs"""”" 8366 m
566-20-7-097 j 67625 -
@13 INTY WATSON
STEEL : NAVISTAR & CHALIN
£5-0010
f 554779C1
LOAD
GUARD
7.75— SC2046
«— 1130 —>
566-28-3-021 1R14-101 ASA-92-8-048 £7.0805
566-28-3-020 1R14-209 ASA-92-8-237 m£0=9= " 76700 gggggggg?‘”
97-6694-1
PISTON
PISTON
566.20.7-0% ® ® j 566-20-7-080 ) ‘tm
STEEL ’ 4-38 COMPOSITE o v
550> 6.25
«— 1130 — 11.30 ——»
mcl
AUTOMANN  INT'L/ .8.3. . 97.8_
566-28-3-021 1R14-018 ASA-92-8-028 WI0265 15 NAVISTAR 566-18-3-021 1R14-106 ASA-92-8-279 12:03-1029
CONTI 55477601 TAURUS
11105174365  LOAD GUARD PISTON A5621-9961
oM 1‘ S 6434 $C2043 566-207-188 r
ST 32g Q DAYTON PEERLESS STEEL
3529149 0550-00010 195
FIRESTONE TAURUS 5.5
9149 AS621-9149
WOTSSB9149 oo l
6.25 GILLIG 8365 5 i 787
«— 1130 1020 53-13188 11.30 9.50

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN  TAURUS AUTOMANN  R&S TRUCK
566-28-3-021 1R14-115 ASA-92-8-028 ABTD286-9961  AS621-9961 566-28-3-021 1R14-159 ASA-92-8-049 ABTD28G-9164 & BODY
e CoNTI TRIANGLE CoNTI 1090326
PISTON | 11105174367 8367 PISTON 11105-174405 TRIANGLE
566-20-7-097 | 64346 TRP 566-20-7-096 64349 8405
STEEL ! FIRESTONE  AS99610 STEEL ® FIRESTONE  TRP
37 | 9961 9164 4591380
89 | W013589961 W013589164
n. RIDEWELL NEWAY
1003589961C 905-57-111
550
11.30
FLXIBLE AUTOMANN
566-28-3-021 1R14-124 ASA-92-8-048 114-1035 566-28-3-021 ASA-92-8-049 AB1D286-9144
CONTI e
PISTON s PISTON 1110.5-17A377 =
566-20-7-217 At - 566-20-7-097 64347 “
LA FIRESTONE )
COMPOSITE R COMPOSITE ® PR =
—
W013589144 =
NEWAY @
905-57-155 3
6.25 550 TRIANGLE =
11.30 —» 11.30 8523 E
AUTOMANN NABI-HF )
566-28-3-021 1R14-130 ASA-92-8-318 AB1D286-8778 566-28-3-021 ASA-92-8-049 5014470 8
i CONTI S
PISTON 1110.5-17 A 507 PISTON o
566-20-7-096 64350 566-20-7-276
COMPOSITE FIRESTONE STEEL ®
8778
W013588778
550
11.30
AUTOMANN  TRIANGLE FIRESTONE
566-28-3-021 ABTDK28B-9134 8431 566-28-3-021 ASA-92-8-049 013589141
CONTI TRP
PISTON 11105-194431 AS91340 PISTON
566-20-7-096 64391 566-20-7-327
STEEL ;:gisroui COMPOSITE ®
013589134
NEWAY
905-57-125
550
11.30
mcl NABI-HF
566-28-3-021 1R14-141 ASA-92-8-272 12-01-1002 566-28-3-021 ASA-92-8-049 5009273
12-01-1048
PISTON PISTON
566-20-7-189 825 41 566-20-7-276
STEEL < STEEL ®
.500-]‘QI:F
787 550
11.30 9.50 11.30

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
FLXIBLE AUTOMANN
566-28-3-024 1R14-112 ASA-92-8-221 6-336-183 566-28-3-042 1R14-172 ASA-92-8-237 ABTDK28M-8774
OBSOLETE
GMC CONTI
PISTON 2052623 PISTON 11 10.5F-17 P 745
566-20-7-050 2054879 566-20-7-152 ® ® j 65593
2090412 , 1.38
ALUMINUM ® O SI0V7370 COMPOSITE _ FIRESTONE
‘45;,0 1050310 ] f 013588774
\ N 5'\\..-% HENDRICKSON
il e LT X\% : (-25873
vinoune—> B 476 ol m..rg“i‘\.\&\ pee 550> 590 TRP
11.30 10.00 «— 1130 —> 9.90 AS87740
RIDEWELL
566-28-3-024 1R14-179 ASA-92-8-049 566-28-3-042 1R14-175 ASA-92-8-174 1000008
h =
PISTON . PISTON =
566-20-7-334 il 566-20-7-334 v
ALUMINUM ® ALUMINUM ® =
—
14.1 =
5.2 ()
=
(=3
550 6.20 =
11.30 11.30
S
AUTOMANN WATSON
566-28-3-030 1R14-113 ASC-92-8-049 ABTDK28F-5505 566-28-3-042 1R14-232 ASA-92-8-237 & CHALIN ~
B CONTI 15-0241 S
PISTON 11105-22 5750 PISTON m
566-20-7-181 64688 566-20-7-323 ® j
STEEL ® FIRESTONE STEEL 4-38
W013585505
NEWAY
905-57-103
550 550> 787
11.30 «— 1130 —> 11.20
mcl
566-28-3-031 1R14-117 578-92-8-267 566-28-3-043 1R14-182 ASA-92-8-272 12-01-1090
PISTON @ " 409 PISTON
566-20-7-185 125 I 566-20-7-304 825 41
STEEL T } STEEL <
zﬂm/ y 68 500-14 NPTF
236 787
«— 1130 —> 1.0 11.30 9.50
AUTOMANN  RIDEWELL mcl
566-28-3-031 ASA-92-8-100 ABTDK28F-9264 1000002 566-28-3-043 1R14-222 ASA-92-8-279 12-04-1158
CONTI TRIANGLE
PISTON 11105225712 8539 PISTON
566-20-7-181 ® j 64637 566-20-7-158
STEEL 4-38 ;IZIZESTONE COMPOSITE
013589264
HENDRICKSON
13122
775> 787
«— 1130 —> 10.10 11.30 8.82

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Boltor Stud — 1/2-13 01 1/2-20

& Air Fitting — 1/4 NPTF

O Stud—3/4-10

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

@ Tapped Hole on Top Refainers — 3/8-16,
Stud — 3/4-16, Air Fitting — 1/4 NPTF

on Pistons — 1/2-13

& Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitfing:

Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING ROLLING LOBES

AIR SPRING ROLLING LOBES

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
566-28-3-044 1R14-183 ASA-92-8-100
PISTON
566-20-7-152 j
(OMPOSITE @ f1.38
TN ..
Ty |
N /‘:m! %\15\\\ < 775 590
«— 1130 ——» 9.90
566-28-3-044 ASA-92-8-237 AP0 8093
PISTON ?]O]FIOTISF-]7 P 745
566-20-7-152 ® _‘ 65593
COMPOSITE 1.38 WATSON
| f ik
\W N : :
NASERAY Nk
. ’@\;‘\‘\%\;\g‘: "'; 5.50 5.90
‘ «— 1140—> 9.90
566-28-3-057 ASA-92-8-237 s LoOH
AN
56?25(.)[2-"274 @ j AS-0246
STEEL 1.38
?
5.50 >
«— 1130 ——»
566-28-3-059 ASA-92-8-237 et oo
PISTON
566-20-7-277 _¢
STEEL © 1.38
?
5.50
<+« 1130——»

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com

BELLOWS SIDE VIEW WITH EXTENDED MANUFACTURER
NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
AUTOMANN  LOAD
566-28-3-065 1R14-039 ASA-92-8-100 AB1DK28A-8050  GUARD
5(2052
]c]o #)TSICMASZO REYCO
PISTON 5C-
566-20-7-334 © j 44254 23631-01
1.38 DAYTON SPRINGRIDE
ALUINOM A 352-8050 TR14-244
FIRESTONE  TRIANGLE
8050 8320
013588050 P
775 FLEETRITE 4580500
«— 1130 —> IR14-241 WATSON
HENDRICKSON & CHALIN
36514-13 £5-0039
B-4771
INT'L/NAVISTAR
1685174C1
AUTOMANN  HENDRICKSON
566-28-3-065 1R14-171 ASA-92-8-237 ABTDK28E-8091  C-2090]
520901
CONTI
PISTON 11105016P523  SPRINGRIDE
566-20-7-152 44421 1R14-245
COMPOSITE ® j FIRESTONE  TRP
1.38 8091 £580910
A 013588091
FLEETRITE
1R14-242
550 590
«—1130—> 9.90
566-28-3-164 1R14-164 ASA-92-8-402
PISTON
566-20-7-097 T °®
STEEL 345
26.7 375
8.2 ¥ N Y
l o 4,06
«— 1130 —>
566-30-3-001 1R15-001 ASA-92-8-237
PISTON
566-20-7-152 T — & 1 [ w ® j
COMPOSITE 4-38
_ J
550 590
«—1140—> 9.90
@ Boltor Stud — 1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10
@ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting:
on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF
Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 113

=
=
S
=
3
=
=2
=
=
@
S
o
(%2




NOTES

Find Products and Order Online | www.infinityairsprings.com

NOTES

Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297

=
=
S
=
3
=
=2
=
=
@
S
o
(%2




AIR SPRING SLEEVES AIR SPRING SLEEVES

SIDE VIEW WITH EXTENDED MANUFACTURER SIDE VIEW WITH EXTENDED MANUFACTURER
PART NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS PART NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
FIRESTONE FREIGHTLINER
15-3-011 153-011 ASB-06-5-012 3\/%0213584001 154-030 154-030 ASB-08-5-006 20-12461
PISTON P é}’ LES AUTOBUS PISTON i
ASB-06-7-014 /A 500-13 UNC 65006637 ASC-08-7-093 N 500-13 UNC
LINK CAB &
80 & SEAT SPRINGS \ S
36 750-16 UNF-2A ouiside 1101-0001 y ) 75016 UNF outside
N .125-27 NPTF inside NOVABUS \ d .125-27 NPTF inside
k_ N12687
PREVOST
ke 2.20 1.54 95-0208 2.65 212
FIRESTONE CONTI
183-013 153-013 ASC-06-5-014 3000 154-035 ASB-08-5-132 62844
3001 S270-5060P02
W023583000
Asg-:)sg-%l 7 023583001 Asg-:)sg-% 63 500 0.D. smooth ;:)R[]gSTONE
PREVOST 7050
") 950208 O 7055
625-11 UNC outside 750 smooth outside W023587003
125 NPTF inside .125-27 UNCiinside wg%ggg;ggg
3.20 2.65
CONTI FLXIBLE vVoLvo
154-007 154-007 ASB-08-5-007 47770 97-9999-01867 154-042 AS2-08-5-007 66003-0007
S$(29-0001 LINK CAB
PISTON FIRESTONE & SEAT PISTON
ASC08-7-139 7001 SPRINGS ASC08-7-219 750 smaoth
7002 1101-0020
7032] 8700 1102-0023 @
. W023587001 .
750-16 UNF-2A outside MACK
1125-27 NPTF inside et TRUCK. =
S
965 Composition Fitfing =3
. for 0.125 0D Tubing 2.65 E
FIRESTONE CONTI @
154-008 154-008 ASB-08-5-006 7010 154-044 154-044 ASB-08-5-076 62561 ©
o W023587010 o S SI70-5067 m
PISTON i—— LINK CAB & PISTON e 500-13 UNC LINK CAB & <
ASC-08-7-005 .500-13 UNC SEAT SPRINGS ASC-08-7-194 il SEAT SPRINGS a
G 1101-0021 1101-0023
MACK TRUCK .
p ; i 750-16 UNF outside 2270539301 i 750 smooth outside
.125-27 NPTF inside B .125-27 NPTF inside
2.65 212 2.65
INT'L/ FIRESTONE
154-016 154-016 ASB-08-5-132 NAVISTAR 154-056 154-056 ASB-08-5-129 7040
1680378(1 W023587040
PISTON \ PISTON LINK CAB &
ASC-08-7-137 = : 500 0.0. smooth ASC-08-7-194 500-13 UNC SEAT SPRINGS
.750 smooth outside .750-16 UNC outside
125-27 NPTF inside 125-27 NPTF inside
2.65 325 2.65 212
@ Boltor Stud—1/2-13 0r 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10 @ Boltor Stud—1/2-13 0r 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10
@ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting: @ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting:
on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF

126 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 177



AIR SPRING SLEEVES

AIR SPRING SLEEVES

SIDE VIEW WITH EXTENDED MANUFACTURER
PART NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
CONTI
154-058 154-058 AS2-08-5-007 67858
$(29-0086
PISTON i ) FIRESTONE
ASC-08-7-139 \7‘]%8263587086
®
©
750 smooth outside
3 §&) .125-27 UNCinside
2.65
FIRESTONE
154-067 154-067 ASB-08-5-024 7007
023587007
PISTON /-@ @(—\ MACK TRUCK
ASC-08-7-137 r 22705348
2.2 .750-16 UNF outside 750 smooth outside
% ) 125-27 NPTF inside .125-27 NPTF inside
2.65
VOLVO
154-074 154-074 AS2-08-5-007 66003-3201
PISTON
ASC-08-7-134 !
750 smooth outside
.125-27 NPTF inside
2.65
CONTI
154-123 154-123 ASB-08-5-170 67769
$C29-0046
PISTON $770-5060P02
ASC-08-7-157 FIRESTONE
S & 023587046
T LINK CAB &
SEAT SPRINGS
1102-0022
0.75
2.65 3.25
154-173 154-173 ASB-08-5-172
5
PISTON
ASC-08-7-137

(P

315

.750 smooth outside
.125-27 NPTF inside

3.25

SIDE VIEW WITH EXTENDED MANUFACTURER
PART NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
CONTI
154-175 154-175 ASB-08-5-076 67858
$(29-0086
PISTON LINK CAB &
ASC-08-7-157 375-16 UNC SEAT SPRINGS
1101-0025
750 smooth outside
.125-27 NPTF inside
2.65
DANA / SPICER
154-187 ASB-08-5-129 SRIVAT03
FLEXMEMBER
579-08-1-049 '
.750-16 UNC outside .750-16 UNF-2A outside
.125-27 NPTF inside .125-27 NPTF inside
FIRESTONE
154-234 579-08-7-317 W02-358-7132
PETERBILT
BELLOWS R81-6003
580-23-4-405
FLEXMEMBER
579-08-1-004
PISTON
579-08-7-317
FIRESTONE
154-235 579-08-7-317 W02-358-7155
PACCAR
BELLOWS 20-19036
580-23-4-604 PETERBILT
FLEXMEMBER R81-6002
579-08-1-004
PISTON
579-08-7-317
LINK CAB &
154.5-073 154.5-073 ASB-08-5-076 SEAT SPRINGS
; 1101-0030
PISTON
ASC-08-7-194 500-13 UNC

.750 smooth outside
.125-27 NPTF inside

2.65

2.12

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com

Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297

=
=
“v
=
=
7]
3
3
aQ




AIR SPRING SLEEVES AIR SPRING SLEEVES

SIDE VIEW WITH EXTENDED MANUFACTURER SIDE VIEW WITH EXTENDED MANUFACTURER
PART NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS PART NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
FIRESTONE FIRESTONE
154.5-107 154.5-107 ASB-08-5-129 7080 155-006 155-006 ASB-08-5-006 7017
W023587080 W023587014
e = W023587017
PISTON 500-13 UNC PISTON [ W023587042
ASC-08-7-194 : ASC-08-7-005 500-13 UNC W023287044
") LINK CAB &
.750-16 UNC outside 0 .750-16 UNF outside ?]Eé\']l' S(I;‘I‘K]INGS
.125-27 NPTF inside .125-27 NPTF inside B
2.65 2.65 2.12
FIRESTONE CONTI
154.5-113 154.5-11 ASB-08-5-132 7056 155-010 AS2-08-5-007 47882
m 023587056 SC29-Y601
PISTON 3 LINK CAB & PISTON
579-08-7-219 .500 0.D. smooth ?156\; BEESINGS ASC-08-7-139
110 o O 625
4.0 ¥ 750 smooth outside ’ Q.&. He 750-16 UNF outside
.125-27 UNC inside £§-\ _,/ .125 NPTF inside
0.750-16 UNF —» EH
2.65 R 2.65
CONTI LINK CAB &
154.5-121 154.5-121 ASB-08-5-201 47851 155-032 ASB-08-5-132 SEAT SPRINGS
S(29-W035 1101-0042
PISTON S170-7065P02 PISTON 1101-A042
AS(-08-7-157 375-16 UNC ;:}I;ESTONE AS(-08-7-163 500 0.D. smooth
X % 023587035 Q
SEARS SEAT 750 smooth outside e
520235 12527 UNC inside =
$-9383 (%)
0.75 TRP ;
2.65 AS70350 2.65 E
LINK CAB & FIRESTONE @
154.5-179 154.5-179 ASB-08-5-076 SEAT SPRINGS 155-038 155-038 ASB-08-5-076 7081 ]
. 1101-0031 S W023587081 m
PISTON s PISTON S LINK CAB & <
ASC-08-7-157 = : 375-16 UNC ASC-08-7-194 500-13 UNC SEAT SPRINGS o
1101-0043
10.5
y 750 smooth outside 4.0 750 smooth outside
.125-27 NPTF inside .125-27 NPTF inside
2.65 2.65
LINK CAB & CONTI
155-005 155-005 ASB-08-5-006 SEAT SPRINGS 155-040 ASB-08-5-132 67636
1101-0040 SC29-W087
PISTON PISTON FIRESTONE
ASC-08-7-005 500-13 UNC ASC-08-7-137 500 0.D. smooth 7087
G Q W023587087
FLEETRITE
.750-16 UNF outside 750 smooth outside 155-040
.125-27 NPTF inside .125-27 NPTF inside FREIGHTLINER
GYR1S5040
TRP
2.65 2.12 2.65 A AS70870
@ Boltor Stud —1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10 @ Boltor Stud — 1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10
@ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting: @ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting:
on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF

130 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFiNiTY 131



AIR SPRING SLEEVES AIR SPRING SLEEVES

SIDE VIEW WITH EXTENDED MANUFACTURER SIDE VIEW WITH EXTENDED MANUFACTURER
PART NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS PART NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
FREIGHTLINER VoLvo
155-045 155-045 ASB-08-5-132 GYRTS5045 155-070 AS2-08-5-007 8169029
PISTON PISTON
ASC-08-7-139 500 0.D. smooth ASB-08-7-134 )
N
® :
.750-16 UNF-2A outside : 750 smooth outside
.125-27 NPTF inside ! .125-27 NPTF inside
2.65 2.65
MACK TRUCK FLEETRITE
155-055 155-055 AS2-08-5-063 22705388 155-072 AS2-08-5-066 155-072
; INT'L/
PISTON PISTON NAVISTAR
ASC-08-7-194 500-13 UNC ASC-08-7-219 750 smooth 20127710
750 smooth outside 750 smooth outside
.125-27 NPTF inside .125-27 NPTF inside
2.65 2.65
CONTI FIRESTONE
185-057 185-057 ASB-08-5-170 47852 185-120 185-120 ASB-08-5-129 7014
SC29-Y108 7017
PISTON e SLT0-8077°07 PISTON [ " o
579-08-7-157 7 o FIRESTONE ASC-08-7-194 .500-13 UNC W023587014
P 7108 ' W023587017
i X G W023587108 105 @ G W023587042
MILSCO 4.0 75016 UNF outside W023587044 e
07067A : . .125-27 NPTF inside >
£ g h
TRP
0.75 AS71080 s
2.65 325 2.65 2.12 =
VOLVO @
155-060 155-060 AS2-08-5-007 66003-0004 185-122 155-122 ASB-08-5-145 %]
PISTON R PISTON (ot E
ASC-08-7-219 750 smooth ASC-08-7-213 Y
9.5
4.0 @ 10.5
1 ) 4.0 . 750 smooth outside
U J \ ) 125 NPTF inside
S ey — = 265 _— 315
LINK CAB &
185-061 155-061 AS2-08-5-079 155-133 ASB-08-5-076 SEAT SPRINGS
e 1101-0045
PISTON 112527 NPTF PISTON -
ASC-08-7-194 500-13 UNC ASC-08-7-157 gt e 375-16 UNC
s s |
4.0 750 smooth outside
.125-27 NPTF inside
2.65 2.12 2.65 325
@ Boltor Stud —1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10 @ Boltor Stud — 1/2-13 or 1/2-20 Q& Air Fitting — 1/4 NPTF © Stud—3/4-10
@ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting: @ Tapped Hole on Top Refainers — 3/8-16, & Air Fitting — 1/2 NPTF or 3/8 NPTF Combination Stud Air Fitting:
on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF on Pistons — 1/2-13 Stud — 3/4-16, Air Fitting — 1/4 NPTF

132 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 133



AIR SPRING SLEEVES AIR SPRING SLEEVES

SIDE VIEW WITH EXTENDED MANUFACTURER SIDE VIEW WITH EXTENDED MANUFACTURER
PART NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS PART NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
LINK CAB & FREIGHTLINER
155-135 155-135 ASB-08-5-170 SEAT SPRINGS 185-173 185-173 ASB-08-5-132 18-41909-0
1101-0044 ,
PISTON PISTON ) {
ASC-08-7-157 375-16 UNC ASC-08-7-137 500 0.D. smooth
% & O
750 smooth outside
125-27 NPTF inside
0.75
2.65 2.65
FIRESTONE
155-152 155-152 AS2-08-5-112 7110 185-174 ASB-08-5-132
gt 023587110
PISTON i PISTON
ASC-08-7-219 £SC-08-7-232 500 0.D. smooth
750 smooth outside 750 smooth outside
.125-27 UNCinside 125-27 NPTF inside
2.65 2.65
MACK TRUCK CONTI FIRESTONE
155-154 155-154 ASB-08-5-190 22705312BM 185-175 ASB-08-5-176 47451 7205
% 67638 7207
48161 7215
PISTON [ FLEXMEMBER P SC31-8207 W023587205
ASC-08-7-213 ‘ 579-10-1-116 il SIS W023587207
. PISTON o rm SG31-215 W023587215
5! ASC-08-7-277 .
1 I 750 smooth outside 5.6 Recommended mounting Recommended mounting ]FgE;(%I;;I'SB'()E R 157?2] 50 E
R 125-27 NPTF inside hole .72" diameter hole 1.34" diameter ]8: 52651 :000 =
1§ h
L >
—
2.65 293 %
FIRESTONE CONTI
185-157 185-157 AS2-08-5-007 7064 185-176 185-176 ASB-08-5-176 67452 ]
LINK CAB & S31-W206 -
PISTON SEAT SPRINGS FLEXMEMBER N FIRESTONE <
AS3-08-7-006 1102-0074 579-10-1-115 1/4" Air tube fitfing 7202 U{
7206
PISTON 66 1023587202
ASC-08-7-277 y = 023587206
.750-16 UNF outside 3.0 J Recommended mounting Recommended mounting
.125 NPTF inside — | hole .72" diameter hole 1.34" diameter FREIGHTLINER
‘ 18-29919-000
TRP
2.65 293 AS72060
MACK TRUCK CONTI
155-164 155-164 ASB-08-5-190 227QS47M 155-186 155-186 579-08-5-112 68162
5029-Y036
PISTON T (Y FLEXMEMBER FIRESTONE
ASC-08-7-137 579-10-1-083 7036
PISTON 023587036
9.8 579-08-7-301 PETERBILT
5.4 750 smooth outside 750-16 UNF-2A outside 2903200
125-27 NPTF inside 125-27 NPTF inside TRP
A m_/ AS70360
\‘I‘Jlﬂ — s ."‘,
S 265 325 310 211

@ Boltor Stud — 1/2-13 01 1/2-20
@ Tapped Hole on Top Refainers — 3/8-16,

on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Boltor Stud — 1/2-13 01 1/2-20
@ Tapped Hole on Top Refainers — 3/8-16,

on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

Find Products and Order Online | www.infinityairsprings.com

Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



AIR SPRING SLEEVES

AIR SPRING SLEEVES

SIDE VIEW WITH EXTENDED MANUFACTURER SIDE VIEW WITH EXTENDED MANUFACTURER
PART NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS PART NUMBER AND COMPRESSED HEIGHT UPPER MOUNTING VIEW LOWER MOUNTING VIEW NUMBERS
FIRESTONE
155-190 155-190 579-08-7-312 W02-358-7093 156-036 156-036 ASB-08-5-146
PETERBILT '
BELLOWS T 29-04016 PISTON
580-23-4-604 579-08-7-215
FLEXMEMBER '
579-10-1-123 '49'75 == .
PISTON e
579-08-7-312
315
LINK CAB &
156-023 156-023 ASB-08-5-048 156-046 ASB-08-5-145 SEAT SPRINGS
1101-0060
PISTON PISTON
ASB-08-7-079 ASC-08-7-215
. |
. # ; M20 x 2.50-6G outside 750 smooth outside
5 “ I 125 NPTF inside .125-27 NPTF inside
N 38 389 315
MACK TRUCK
156-026 156-026 AS2-08-5-048 227053108 156-055 ASB-08-5-146
PISTON : PISTON
ASC-08-7-223 750 smooth ASC-08-7-215
10.38 Q
4.0 M20 x 2.50-66 outside 750 smooth outside E
125-27 NPTF inside 125-27 NPTF inside =
[
>
315 315 =
FREIGHTLINER @
156-031 ASB-08-5-146 GYRIS6031 156-641 ASB-08-5-145 @
™m
PISTON PISTON r<"
ASC-08-7-215 F 566-08-7-215 o
s | 9
4.1 750 smooth oufside 750-16 UNF-2A outside
\ S .125-27 NPTF inside 125-27 NPTF inside
Quick connect fitting ,..;'
for 0.250" tubing —> 315 315
156-033 156-033 ASB-08-5-146 158-003 579-16-5-001
PISTON FLEXMEMBER
ASC-08-7-215 579-16-1-002
PISTON ®
579-16-7-103
750 smooth outside
125-27 NPTF inside
338
315 389 651 8.25

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

@ Boltor Stud — 1/2-13 01 1/2-20

@ Tapped Hole on Top Refainers — 3/8-16,
on Pistons — 1/2-13

& Air Fitting — 1/4 NPTF
& Air Fitting — 1/2 NPTF or 3/8 NPTF

O Stud—3/4-10

Combination Stud Air Fitfing:
Stud — 3/4-16, Air Fitting — 1/4 NPTF

136 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 137



FLEX MEMBER INDEX 26 oo ot on o o b o FLEX MEMBER INDEX conr 46 o st on o o b o

AIR SPRINGS # FLEX MEMBER # PISTON # | PAGE # AIR SPRINGS # FLEX MEMBER # PISTON # | PAGE # AIR SPRINGS # FLEX MEMBER # PISTON # | PAGE # AIR SPRINGS # FLEX MEMBER # PISTON # | PAGE #
1B5-510 579-91-3-501 43 1R11-151 566-22-3-021 566-20-7-055 54 1R12-182 566-24-3-038 566-20-7-079 67 1R12-450 566-24-3-097 566-20-7-158 96
1B8-564 579-91-3-532 43 1R11-152 566-22-3-021 566-20-7-055 54 1R12-185 566-24-3-066 566-20-7-080 79 1R12-454 566-24-3-038 566-20-7-079 70

1B12-301 578-91-3-301 18 1R11-159 566-22-3-021 566-20-7-014 54 1R12-188 566-24-3-038 566-20-7-079 68 1R12-462 566-24-3-038 566-20-7-246 Al
1B12-305 578-91-3-301 18 1R11-161 566-22-3-057 566-20-7-150 60 1R12-195 566-24-3-066 566-20-7-006 79 1R12-465 566-24-3-067 566-20-7-014 85
1B12-306 578-91-3-301 18 1R11-162 566-22-3-021 566-20-7-014 54 1R12-204 566-24-3-067 566-20-7-055 84 1R12-467 566-24-3-066 566-20-7-005 81
1B12-313 578-91-3-301 19 1R11-166 566-22-3-143 566-20-7-235 64 1R12-205 566-24-3-076 566-20-7-055 88 1R12-480 566-24-3-066 566-20-7-235 81
1B12-322 578-91-3-301 19 1R11-169 566-22-3-143 566-20-7-250 64 1R12-208 566-24-3-066 566-20-7-006 79 1R12-481 566-24-3-097 566-20-7-235 96
1B14-350 578-91-3-351 20 1R11-170 566-22-3-143 566-20-7-240 64 1R12-212 566-24-3-072 566-20-7-079 87 1R12-484 566-24-3-038 566-20-7-215 7
1B14-351 578-91-3-351 20 IR11-171 566-22-3-057 566-20-7-150 60 1R12-217 566-24-3-048 566-20-7-120 75 1R12-485 566-24-3-038 566-20-7-215 Al
1B14-358 578-91-3-352 20 1R11-175 566-22-3-060 566-20-7-257 60 1R12-220 566-24-3-038 566-20-7-080 68 1R12-486 566-24-3-038 566-20-7-215 7
1B14-373 578-91-3-351 20 1R11-176 566-22-3-075 566-20-7-257 61 1R12-256 566-24-3-090 566-20-7-159 93 1R12-487 5606-24-3-067 566-20-7-239 85
1R8-009 566-16-3-007 566-16-7-000 46 1R11-178 566-22-3-143 566-20-7-209 64 1R12-261 566-24-3-066 566-20-7-006 80 1R12-492 566-24-3-076 566-20-7-036 90
1R8-031 566-16-3-007 566-16-7-000 46 1R11-179 566-22-3-143 566-20-7-209 65 1R12-265 566-24-3-066 566-20-7-080 80 1R12-494 566-24-3-038 566-20-7-036 7
1R8-034 566-16-3-007 566-16-7-021 46 1R11-189 566-22-3-049 566-20-7-240 59 1R12-274 566-24-3-097 566-20-7-079 95 1R12-498 566-24-3-097 566-20-7-237 97
1R8-041 566-16-3-007 566-16-7-021 46 1R11-191 566-22-3-143 566-20-7-239 65 1R12-281 566-24-3-066 566-20-7-080 80 1R12-499 566-24-3-038 566-20-7-238 77
1R9-003 566-18-3-004 566-16-7-021 47 1R11-200 566-22-3-021 566-20-7-252 55 1R12-284 566-24-3-048 566-20-7-240 76 1R12-502 566-24-3-038 566-20-7-235 77
1R9-025 566-18-3-010 566-16-7-017 48 1R11-201 566-22-3-021 566-20-7-252 55 1R12-285 566-24-3-038 566-20-7-080 68 1R12-504 566-24-3-066 566-20-7-237 81
1R9-038 566-18-3-010 566-16-7-017 48 1R11-202 566-22-3-021 566-20-7-252 55 1R12-288 566-24-3-048 566-20-7-120 76 1R12-505 566-24-3-076 566-20-7-235 90
1R9-047 566-18-3-004 Not Included 47 1R11-203 566-22-3-021 566-20-7-251 55 1R12-303 566-24-3-108 566-20-7-116 98 1R12-507 566-24-3-090 566-20-7-236 94
1R9-053 566-18-3-004 566-16-7-021 a7 1R11-204 566-22-3-021 566-20-7-253 55 1R12-304 566-24-3-048 566-20-7-240 76 1R12-508 566-24-3-067 566-20-7-251 85
1R9-054 566-18-3-004 566-16-7-000 47 1R11-205 566-22-3-021 566-20-7-253 56 1R12-309 566-24-3-067 566-20-7-164 84 1R12-509 566-24-3-038 566-20-7-005 72
1R9-056 566-18-3-004 566-16-7-000 47 1R11-207 566-22-3-021 566-20-7-156 56 1R12-324 566-24-3-067 566-20-7-055 84 1R12-511 566-24-3-048 566-20-7-240 76
1R9-065 566-18-3-003 566-16-7-009 46 1R11-209 566-22-3-143 566-20-7-209 65 1R12-325 566-24-3-076 566-20-7-055 89 1R12-512 566-24-3-076 566-20-7-156 91
1R9-070 566-18-3-004 566-16-7-021 48 1R11-216 566-22-3-068 566-20-7-257 61 1R12-335 566-24-3-090 566-20-7-006 93 1R12-523 566-24-3-165 566-20-7-236 102
1R9-071 566-18-3-004 566-16-7-021 48 1R11-219 566-22-3-021 566-20-7-287 56 1R12-350 566-24-3-061 566-20-7-197 76 1R12-527 566-24-3-066 566-20-7-006 82
1R10-019 566-22-3-022 566-20-7-240 57 1R11-220 566-22-3-021 566-20-7-286 56 1R12-351 566-24-3-061 566-20-7-197 77 1R12-530 566-24-3-061 566-20-7-251 77
1R10-030 566-22-3-022 Not Included 58 1R11-221 566-22-3-021 566-20-7-287 56 1R12-352 566-24-3-076 566-20-7-080 89 1R12-531 566-24-3-061 566-20-7-251 77
1R10-072 566-22-3-029 566-20-7-055 58 1R11-222 566-22-3-021 566-20-7-286 57 1R12-355 566-24-3-076 566-20-7-036 89 1R12-532 566-24-3-097 566-20-7-235 97
1R10-085 566-22-3-021 Not Included 50 1R11-223 566-22-3-073 566-20-7-156 61 1R12-356 566-24-3-038 566-20-7-080 68 1R12-534 566-24-3-116 566-20-7-158 99
1R10-087 566-22-3-021 566-20-7-240 50 1R11-224 566-22-3-057 566-20-7-308 60 1R12-357 566-24-3-066 566-20-7-006 80 1R12-535 566-24-3-038 566-20-7-236 72
1R10-089 566-22-3-021 566-20-7-240 50 1R11-225 566-22-3-049 566-20-7-253 59 1R12-358 566-24-3-038 566-20-7-080 68 1R12-538 566-24-3-163 566-20-7-236 101
1R10-090 566-22-3-021 566-20-7-120 50 1R11-232 566-22-3-143 566-20-7-124 65 1R12-359 566-24-3-061 566-20-7-197 77 1R12-539 566-24-3-061 566-20-7-251 78
1R10-091 566-22-3-021 566-20-7-240 51 1R11-241 566-22-3-021 566-20-7-253 57 1R12-363 566-24-3-090 566-20-7-159 93 1R12-540 566-24-3-116 566-20-7-209 99
1R10-099 566-22-3-021 566-20-7-240 51 1R11-242 566-22-3-021 566-20-7-252 57 1R12-365 566-24-3-038 566-20-7-079 69 1R12-541 566-24-3-038 566-20-7-209 73
1R10-101 566-22-3-027 566-20-7-150 58 1R11-243 566-22-3-143 566-20-7-120 65 1R12-366 566-24-3-038 566-20-7-163 69 1R12-543 566-24-3-076 566-20-7-212 91
1R10-105 566-22-3-021 566-20-7-240 51 1R11-244 566-22-3-079 566-20-7-079 61 1R12-367 566-24-3-076 566-20-7-164 89 1R12-545 566-24-3-038 566-20-7-240 73
1R10-108 566-22-3-021 566-20-7-120 51 1R11-249 566-22-3-084 566-20-7-156 61 1R12-370 566-24-3-076 566-20-7-036 89 1R12-552 566-24-3-038 566-20-7-215 73
1R10-109 566-22-3-021 566-20-7-077-03 51 1R11-252 566-22-3-042 566-20-7-235 59 1R12-375 566-24-3-165 566-20-7-163 101 1R12-553 566-24-3-038 566-20-7-213 73
1R10-118 566-22-3-021 566-20-7-240 52 1R11-268 566-22-3-021 566-20-7-287 57 1R12-377 566-24-3-120 566-20-7-192 99 1R12-554 566-24-3-038 566-20-7-214 73
1R10-120 566-22-3-021 566-20-7-240 52 1R12-066 566-24-3-038 566-20-7-080 66 1R12-383 566-24-3-061 566-20-7-014 77 1R12-555 566-24-3-067 566-20-7-253 85
1R10-122 566-22-3-021 566-20-7-237 52 1R12-069 566-24-3-038 566-20-7-235 66 1R12-394 566-24-3-038 Not Included 69 1R12-556 566-24-3-067 566-20-7-252 85
1R10-127 566-22-3-021 566-20-7-240 52 1R12-076 566-24-3-076 566-20-7-036 87 1R12-395 566-24-3-066 566-20-7-080 80 1R12-557 566-24-3-067 566-20-7-252 86
1R10-133 566-22-3-021 566-20-7-240 52 1R12-090 566-24-3-038 566-20-7-079 67 1R12-3%6 566-24-3-038 566-20-7-240 69 1R12-558 566-24-3-067 566-20-7-252 86
1R10-137 566-22-3-023 566-20-7-240 58 1R12-092 566-24-3-163 566-20-7-080 100 1R12-400 566-24-3-038 566-20-7-246 70 1R12-559 566-24-3-067 566-20-7-252 86
1R10-165 566-22-3-021 566-20-7-240 53 1R12-093 566-24-3-038 Not Included 67 1R12-401 566-24-3-163 566-20-7-221 101 1R12-560 566-24-3-067 566-20-7-253 86
1R10-171 566-22-3-021 566-20-7-387 53 1R12-095 566-24-3-067 566-20-7-014 83 1R12-402 566-24-3-097 566-20-7-246 95 1R12-561 566-24-3-067 566-20-7-253 86
1R11-018 566-22-3-006 566-20-7-079 49 1R12-097 566-24-3-067 Not Included 83 1R12-403 566-24-3-140 566-20-7-377 100 1R12-562 566-24-3-067 566-20-7-251 87
1R11-028 566-22-3-021 566-20-7-014 53 1R12-103 566-24-3-066 566-20-7-006 78 1R12-404 566-24-3-097 566-20-7-246 96 1R12-563 566-24-3-067 566-20-7-252 87
1R11-039 566-22-3-143 566-20-7-036 62 1R12-1047 566-24-3-142 566-20-7-413 100 1R12-406 566-20-7-120 566-20-7-223 49 1R12-567 566-24-3-038 566-20-7-235 74
1R11-045 566-22-3-143 566-20-7-077-03 62 1R12-1048 566-24-3-097 566-20-7-158 95 1R12-419 566-20-7-038 566-20-7-233 48 1R12-568 566-24-3-066 566-20-7-235 82 E
1R11-047 566-22-3-021 566-20-7-014 53 1R12-1049 566-24-3-097 566-20-7-236 95 1R12-421 566-20-7-076 566-20-7-158 49 1R12-571 566-24-3-067 566-20-7-238 87 ;=
1R11-066 566-22-3-021 566-20-7-055 53 1R12-113 566-24-3-066 Not Included 78 1R12-422 566-20-7-076 566-20-7-036 49 1R12-576 566-24-3-038 566-20-7-159 74 =
1R11-075 566-22-3-028 566-20-7-055 58 1R12-127 566-24-3-024 566-20-7-240 66 1R12-423 566-24-3-038 566-20-7-246 49 1R12-580 566-24-3-117 566-20-7-299 99 E
1R11-088 566-22-3-143 566-20-7-120 62 1R12-130 566-24-3-038 566-20-7-080 67 1R12-424 566-24-3-097 566-20-7-246 96 1R12-584 566-24-3-038 566-20-7-158 74 g
1R11-090 566-22-3-143 566-20-7-079 62 1R12-132 566-24-3-076 566-20-7-036 88 1R12-432 566-24-3-165 566-20-7-236 101 1R12-586 566-24-3-038 566-20-7-237 74
1R11-094 566-22-3-143 566-20-7-240 63 1R12-139 566-24-3-076 566-20-7-006 88 1R12-434 566-24-3-076 566-20-7-164 90 1R12-592 566-24-3-097 566-20-7-158 97
1R11-097 566-22-3-044 566-20-7-079 59 1R12-142 566-24-3-066 566-20-7-006 78 1R12-435 566-24-3-067 566-20-7-014 106 1R12-593 566-24-3-100 566-20-7-036 98
1R11-109 566-22-3-143 Not Included 63 1R12-143 566-24-3-048 566-20-7-006 75 1R12-436 566-24-3-038 566-20-7-158 70 1R12-599 566-24-3-090 566-20-7-159 94
IRT1-115 566-22-3-051 566-20-7-183 60 1R12-145 566-24-3-066 566-20-7-006 79 1R12-437 566-24-3-076 566-20-7-156 90 1R12-600 566-24-3-076 566-20-7-156 91
1R11-121 566-22-3-143 566-20-7-156 63 1R12-154 566-24-3-048 566-20-7-120 75 1R12-438 566-24-3-038 566-20-7-158 70 1R12-603 566-24-3-108 566-20-7-322 99
1R11-130 566-22-3-049 566-20-7-124 59 1R12-155 566-24-3-038 566-20-7-080 67 1R12-439 566-24-3-066 566-20-7-237 81 1R12-607 566-24-3-066 566-20-7-158 82
1R11-143 566-22-3-143 566-20-7-240 63 1R12-156 566-24-3-067 566-20-7-055 84 1R12-441 566-24-3-038 566-20-7-235 70 1R12-609 566-24-3-090 566-20-7-159 94
1R11-147 566-22-3-143 566-20-7-240 63 1R12-167 566-24-3-066 566-20-7-080 79 1R12-444 566-24-3-066 566-20-7-159 81 1R12-613 566-24-3-066 566-20-7-158 82
1R11-149 566-22-3-143 566-20-7-239 64 1R12-169 566-24-3-076 566-20-7-036-03 88 1R12-445 566-24-3-076 566-20-7-156 90 1R12-614 566-24-3-076 566-20-7-156 9
1R11-150 566-22-3-021 566-20-7-055 A 1R12-178 566-24-3-067 566-20-7-055 84 1R12-446 566-24-3-097 566-20-7-158 9 1R12-615 566-24-3-164 566-20-7-303 101

138 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 139



FLEX MEMBER INDEX cont S ooy e on o o s o s FLEX MEMBER INDEX cont S oy e on o o s o s

AIR SPRINGS # FLEX MEMBER # PISTON # ‘ PAGE # AIR SPRINGS # FLEX MEMBER # PISTON # ‘ PAGE # AIR SPRINGS # FLEX MEMBER # PISTON # ‘ PAGE # AIR SPRINGS # FLEX MEMBER # PISTON # ‘ PAGE #
1R12-616 566-24-3-076 566-20-7-251 9 1R14-028 566-28-3-021 566-20-7-096 17 289-218 578-92-3-206 23 2B14-366 578-92-3-353 34
1R12-617 566-24-3-038 566-20-7-036 74 1R14-030 566-28-3-020 566-20-7-097 114 289-225 578-92-3-202 2 2B14-367 578-92-3-353 35
1R12-620 566-24-3-076 566-20-7-239 92 1R14-031 566-28-3-020 Not Included 114 2B9-229 578-92-3-211 25 2B14-383 578-92-3-356 36
1R12-621 566-24-3-097 566-20-7-159 97 1R14-037 566-28-3-015 566-20-7-334 12 2B9-230 578-92-3-202 22 2B14-462 578-92-3-356 36
1R12-622 566-24-3-097 566-20-7-236 98 1R14-038 566-28-3-015 566-20-7-334 12 289-239 578-92-3-211 25 2B14-469 566-23-8-329 18
1R12-631 566-24-3-120 566-20-7-079 3 1R14-039 566-28-3-065 566-20-7-334 123 2B9-240 578-92-3-202 22 2B14-470 578-92-3-356 36
1R12-636 566-24-3-076 566-20-7-156 92 1R14-042 566-28-3-015 566-20-7-334-03 112 2B9-244 578-92-3-202 22 2B14-473 578-92-3-353 35
1R12-637 566-24-3-090 566-20-7-159 94 1R14-045 566-28-3-020 566-20-7-097 115 2B9-245 578-92-3-202 2 2B14-476 578-923-356 36
1R12-639 566-24-3-066 566-20-7-159 82 1R14-052 566-28-3-015 566-20-7-334 112 2B9-246 578-92-3-211 25 2B14-479 578-923-356 36
1R12-640 566-24-3-038 566-20-7-238 75 1R14-060 566-28-3-020 Not Included 115 2B9-250 578-92-3-206 PA] 3B12-300 578-93-3-100 37
1R12-644 566-24-3-097 566-20-7-158 98 1R14-094 566-28-3-015 566-20-7-334-03 112 2B9-251 578-92-3-206 PA] 3B12-301 578-93-3-100 37
1R12-645 566-24-3-080 566-20-7-080 93 1R14-101 566-28-3-021 566-20-7-080 117 2B9-252 578-92-3-206 PA] 3B12-303 578-93-3-100 37
1R12-647 566-24-3-097 566-20-7-303 98 1R14-106 566-28-3-021 566-20-7-188 17 2B9-253 578-92-3-206 PA] 3B12-304 578-93-3-100 37
1R12-648 566-24-3-076 566-20-7-239 92 1R14-108 566-28-3-015 566-20-7-334 113 2B9-254 578-92-3-206 24 3B12-305 578-93-3-100 37
1R12-653 566-24-3-066 566-20-7-159 83 1R14-112 566-28-3-024 566-20-7-050 120 2B9-255 578-92-3-206 24 3B12-310 578-93-3-100 38
1R12-655 566-24-3-076 566-20-7-158 92 1R14-113 566-28-3-030 566-20-7-181 120 2B9-265 578-92-3-206 24 3B12-312 578-93-3-100 38
1R12-663 566-24-3-090 566-20-7-006 95 1R14-115 566-28-3-021 566-20-7-097 118 2B9-266 578-92-3-208 24 3B12-315 578-93-3-100 38
1R12-669 566-24-3-038 566-20-7-053 75 1R14-117 566-28-3-031 566-20-7-185 120 2B9-270 578-92-3-206 2% 3B12-319 578-93-3-100 38
1R12-676 566-24-3-076 566-20-7-235 92 1R14-124 566-28-3-021 566-20-7-217 118 2B9-280 578-92-3-211 25 3B12-322 578-93-3-103 40
1R12-689 566-24-3-066 566-20-7-236 83 1R14-127 566-28-3-031 566-20-7-181 120 2B9-288 578-92-3-211 26 3B12-323 578-93-3-103 40
1R13-038 566-26-3-072 566-20-7-097 108 1R14-130 566-28-3-021 566-20-7-096 118 2B9-296 578-923-211 26 3B12-324 578-93-3-100 38
1R13-039 566-26-3-051 566-20-7-327 104 1R14-137 566-28-3-021 566-20-7-096 118 2B9-606 578-923-211 26 3B12-325 578-93-3-103 40
1R13-047 5606-26-3-051 566-20-7-096 104 1R14-141 566-28-3-021 566-20-7-189 118 2B9-607 578-923-208 25 3B12-326 578-93-3-103 40
1R13-048 566-26-3-072 Not Included 108 1R14-151 566-28-3-020 566-20-7-096 115 2B9-611 578-923-211 26 3B12-328 578-93-3-100 39
1R13-049 566-26-3-051 Not Included 104 1R14-154 566-28-3-020 566-20-7-097 115 2B9-614 578-9-23-211 26 3B12-329 578-93-3-100 39
1R13-053 566-26-3-051 566-20-7-036 105 1R14-155 566-28-3-015 566-20-7-334 13 2B10-226 578-92-3-250 27 3B12-335 578-93-3-100 39
1R13-070 566-26-3-015 566-20-7-084 103 1R14-159 566-28-3-021 566-20-7-096 19 2B12-300 578-92-3-309 27 3B12-337 578-93-3-104 4
1R13-075 566-26-3-051 566-20-7-036-03 105 1R14-160 566-28-3-021 566-20-7-097 119 2B12-304 578-92-3-309 27 3B12-338 578-93-3-100 39
1R13-097 566-26-3-081 566-20-7-296 110 1R14-164 566-28-3-164 566-20-7-097 123 2B12-305 578-91-3-310 19 3B12-342 578-93-3-100 39
1R13-109 566-26-3-081 566-20-7-296 110 1R14-167 566-28-3-015 566-20-7-223 13 2B12-307 578-92-3-309 28 3B12-347 578-93-3-103 40
1R13-115 566-26-3-044 566-20-7-006 103 1R14-170 566-28-3-020 566-20-7-097 115 2B12-309 578-92-3-309 pL] 3B12-415 578-93-3-105 4
1R13-116 566-26-3-044 566-20-7-006 103 1R14-171 566-28-3-065 566-20-7-152 123 2B12-313 578-92-3-309 28 3B12-416 578-93-3-105 4
1R13-117 566-26-3-043 566-20-7-080 103 1R14-172 566-28-3-042 566-20-7-152 121 2B12-317 578-91-3-310 19 3B14-351 578-93-3-350 4
1R13-118 566-26-3-068 566-20-7-325 106 1R14-174 566-28-3-020 566-20-7-097 116 2B12-318 578-92-3-309 29 3B14-354 578-93-3-350 4
1R13-119 566-26-3-098 566-20-7-106 m 1R14-175 566-28-3-042 566-20-7-334 121 2B12-319 578-92-3-309 29 3B14-356 578-93-3-350 42
1R13-120 566-26-3-054 566-20-7-334 106 1R14-176 566-28-3-020 566-20-7-181 116 2B12-320 578-92-3-309 29 3B14-359 578-93-3-350 42
1R13-124 566-26-3-050 566-20-7-127 103 1R14-177 566-28-3-021 566-20-7-276 119 2B12-324 578-91-3-310 19 3B14-360 578-93-3-350 42
1R13-130 566-26-3-055 566-20-7-230 106 1R14-179 566-28-3-024 566-20-7-334 120 2B12-340 578-92-3-309 29 3B14-361 578-93-3-350 42
1R13-133 566-26-3-056 566-20-7-231 106 1R14-182 5606-28-3-043 566-20-7-304 127 2B12-345 578-92-3-315 33 3B14-364 578-93-3-350 43
1R13-138 566-26-3-050 566-20-7-106 104 1R14-183 566-28-3-044 566-20-7-152 122 2B12-346 578-92-3-315 33 3B14-365 578-93-3-350 43
1R13-149 566-26-3-068 566-20-7-127 107 1R14-190 566-28-3-044 566-20-7-152 122 2B12-402 578-92-3-310 32 3B14-367 578-93-3-350 43
1R13-151 566-26-3-069 566-20-7-334 107 1R14-198 566-28-3-015 566-20-7-334 113 2B12-406 578-92-3-309 30 3B14-450 556-33-8-335 16
1R13-152 566-26-3-071 566-20-7-235 107 1R14-201 566-28-3-020 566-20-7-097 116 2812-410 578-92-3-309 30 3B14-451 556-33-8-335 16
1R13-153 566-26-3-071 566-20-7-237 107 1R14-205 566-28-3-015 566-20-7-334 113 2B12-411 578-92-3-309 30 3B14-452 556-33-8-335 16
1R13-155 566-26-3-051 566-20-7-106 105 1R14-209 566-28-3-020 566-20-7-096 116 2B12-412 578-92-3-309 30 3B14-453 556-33-8-335 16
1R13-159 566-26-3-073 566-20-7-154 108 1R14-215 566-28-3-021 566-20-7-327 19 2B12-416 578-92-3-315 33 3B14-455 556-33-8-335 16
1R13-174 5606-26-3-078 566-20-7-152 109 1R14-216 566-28-3-015 566-20-7-334 114 2B12-424 578-92-3-309 30 3B14-456 556-33-8-335 17
1R13-176 566-26-3-078 566-20-7-154 109 1R14-218 566-28-3-021 566-20-7-276 119 2B12-425 578-92-3-309 31 3B14-457 556-33-8-335 17
1R13-177 566-26-3-078 566-20-7-154 109 1R14-222 566-28-3-043 566-20-7-158 121 2B12-426 578-92-3-309 31 3B14-459 556-33-8-335 17
1R13-179 566-26-3-078 566-20-7-152 109 1R14-232 566-28-3-042 566-20-7-323 121 2B12-427 578-92-3-309 31 3B14-462 556-33-8-335 17 E
1R13-181 566-26-3-051 566-20-7-124 105 1R14-236 566-28-3-057 566-20-7-274 122 2B12-428 578-92-3-310 32 3B14-463 556-33-8-335 17 ;=
1R13-182 566-26-3-051 566-20-7-124 105 1R14-240 566-28-3-059 566-20-7-277 122 2B12-429 578-92-3-309 31 3B14-464 556-33-8-335 18 =
1R13-188 566-26-3-078 566-20-7-314 110 1R15-001 566-30-3-001 566-20-7-152 123 2B12-432 578-92-3-309 31 R12-369 566-24-3-038 566-20-7-079 69 E
1R13-189 566-26-3-078 566-20-7-152 110 2B6-530 579-92-3-510 44 2B12-434 578-92-3-310 32 g
1R13-207 566-26-3-081 566-20-7-106 110 2B6-535 579-92-3-515 4 2B12-440 578-92-3-315 33
1R13-208 566-26-3-071 566-20-7-235 107 2B7-540 579-92-3-525 4 2B12-446 578-92-3-310 32
1R13-210 566-26-3-081 566-20-7-106 m 2B7-541 579-92-3-525 4 2B12-463 578-92-3-309 32
1R13-216 566-26-3-072 566-20-7-097 108 2B7-542 579-92-3-525 44 2B14-354 578-92-3-353 33
1R13-235 566-26-3-095 566-20-7-274 m 2B7-548 579-92-3-526 45 2B14-355 578-92-3-353 34
1R13-237 566-26-3-097 566-20-7-277 m 2B8-550 579-92-3-530 45 2B14-356 578-92-3-353 34
1R13-239 566-26-3-098 566-20-7-106 m 2B9-200 578-92-3-202 20 2B14-359 578-92-3-353 34
1R14-018 566-28-3-021 566-20-7-096 116 2B9-201 578-92-3-202 2 2B14-360 578-92-3-353 34
1R14-019 566-28-3-020 566-20-7-097 114 2B9-206 578-92-3-202 2 2B14-362 578-92-3-356 35
1R14-025 566-28-3-020 Not Included 114 289-210 578-92-3-202 N 2B14-363 578-92-3-356 35
1R14-026 566-28-3-021 566-20-7-096 117 2B9-216 578-92-3-202 21 2B14-365 578-92-3-356 35

W0 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFiniTY 14



FIRESTONE BY FLEX MEMBER

“The prefixes ASC, ASD, AS3 OR AS4 may be used interchangeably
with 566 and may appear on some flex members or pistons.

FIRESTONE BY FLEX MEMBER conz

“The prefixes ASC, ASD, AS3 OR AS4 may be used interchangeably

with 566 and may appear on some flex members or pistons.

AIR SPRINGS # FLEX MEMBER # FIRESTONE # ‘ PAGE # AIR SPRINGS # FLEX MEMBER # FIRESTONE # ‘ PAGE #
1B12-301 19 7009 18 1R12-359 1T15M-0 9077 77
1B14-350 13 7103 20 1R12-363 1TI5M-T 9320 93
1B14-351 113 7105 20 1R12-365 1TI5MT-6 9466 69
1B14-358 113B-1 7112 20 1R12-366 1TISMLW-7 8944 69
1R9-038 1T14F-4 5406 48 1R12-367 1TI5MT-3 9640 89
1R9-065 1T14C-1 2119 46 1R12-370 1TI5M-4 9070 89
1R9-070 1T14F-4 5410 48 1R12-375 1TI5MW-10 9265 101
1R10-089 1T15S-6 50 1R12-395 1TI5M-9 9203 80
1R10-120 1TI5LP-5 9293 52 1R12-400 1TI5M-6 9296 70
1R10-122 1T15LP-5 9291 52 1R12-401 1TISMT-8 93N 101
1R11-018 1T155-6 9073, 9415 49 1R12-402 1TI5MT-8 9297 95
1R11-028 1TI5L-1.5 9422 53 1R12-403 1TI5MT-8 9373 100
1R11-066 1T15L-2 9447 53 1R12-404 1TI5MT-8 9375 96
1R11-150 1T15L-2 9448 54 1R12-434 1TI5M-4 8802 90
1R11-151 1T15L-2 9457 54 1R12-436 1TI5M-6 8924 70
1R11-152 1M5L-2 9459 54 1R12-437 1TI5M-4 9797 90
1R11-161 1T15TM-1 5766 60 1R12-438 1TI5M-4 8805 70
1R11-166 1TI5LP-5 9295 64 1R12-439 1TI5M-9 9346 81
1R11-171 1T15TM-1 9421 60 1R12-441 1TI5M-6 9362 70
1R11-191 1T5L-4 8919 65 1R12-445 1TI5M-4 8806 90
1R11-200 1T15L-2 9376 55 1R12-446 1TI5M-9 9245 96
1R11-201 1T5L-2 93771 55 1R12-480 1TI5M-9 9243 81
1R11-202 1T15L-2 9378 55 1R12-481 1TI5M-8 9923 96
1R11-203 1T5L-2 9387 55 1R12-484 1T15V-8 9504 Al
1R11-204 1T15L-2 8900 55 1R12-485 1T15V-8 9501 7
1R11-205 1T5L-2 9476 56 1R12-486 1T15V-8 9504 Al
1R11-219 1TI5LA-1 9617 56 1R12-487 1TI5M-2 9366 85
1R11-220 1TI5LA-0 9618 56 1R12-502 1T5M-7.5 9921 72
1R11-221 1TI5LA-1 9622 56 1R12-504 1T15V-8 9471 81
1R11-222 1TI5LA-0 9625 57 1R12-505 1TI5M-2 9325 90
1R12-066 1TI5M-6 9083 66 1R12-508 1TI5M-2 8204 85
1R12-069 1TI5M-4 9069 66 1R12-512 1TI5M-2 9127 91
1R12-090 1TI5M-6 9213 67 1R12-532 1TI5M-7.5 9935 97
1R12-092 1TI5M-6 9082 100 1R12-538 1TI5MT-8 9648 101
1R12-095 1T15M-0 9039 83 1R12-552 1T15V-8 9471 73
1R12-103 1TI5M-9 9101 78 1R12-553 1T15V-8 9472 73
1R12-130 1TI5M-6 9227 67 1R12-554 1T15V-8 9470 73
1R12-132 1TI5M-2 9302 88 1R12-555 1TI5M-0 8961 85
1R12-142 1TI5M-9 9241 78 1R12-556 1TI5M-0 8964 85
1R12-143 1TI5M-6 9392 75 1R12-557 1TI5M-0 8976 86
1R12-145 1TI5M-9 9238 79 1R12-558 1TI5M-0 8986 86
1R12-155 1TI5M-6 9096 67 1R12-559 1TI5M-0 9029 86
1R12-167 1TI5M-9 9192 79 1R12-560 1T15M-0 9308 86
1R12-178 1TI5LC-2.5 9379 84 1R12-561 1TI5M-0 9332 86
1R12-182 1TI5M-6 9219 67 1R12-562 1T15M-2 8197 87
1R12-188 1TI5M-6 9223 68 1R12-563 1T15M-2 8934 87
1R12-195 1T15M-9 9349 79 1R12-567 1TI5M-6 9026 74
1R12-204 1TI5LC-25 9566 84 1R12-568 1TI5M-9 8852 82
1R12-205 1TI5LC-4.5 9568 88 1R12-571 1T15M-2 9365 87
1R12-220 1TI5M-6 9092 68 1R12-580 1TI5M-T 9370 99
1R12-256 1TI5M-11 9321 93 1R13-038 1T9L-11 9122 108
1R12-265 1TI9F-5 9245 80 1R13-039 1T9L-7 91N 104
1R12-274 1TI5MT-8 95 1R13-115 1TI5V-11 9250 103
1R12-281 1T15M-9 9130 80 1R13-116 1TI5V-11 9252 103
1R12-303 1TI5IR-6 9780 98 1R13-117 1T15V-8 9275 103
1R12-309 1TI5M-2 9053 84 1R13-118 1TI5VLY-10.5 9580 106
1R12-324 1TI5LC-2.5 9565 84 1R13-119 1T15VM-4.0 9270 m
1R12-325 1TI5LC-4.5 9567 89 1R13-120 1TI9F-5 9218 106
1R12-350 1TI5M-0 9031 76 1R13-124 1M7CL-5 8710 103
1R12-351 1TI5M-0 9033 77 1R13-130 1T178B-2 8729 106
1R12-352 1TI5M-4 9010 89 1R13-152 1T17B-11 8748 107
1R12-355 1T15M-2 9078 89 1R13-153 1T17B-11 8749 107
1R12-356 1TI5M-6 9194 68 1R13-159 1T17CA-5 8709 108
1R12-357 1TI5M-9 9348 80 1R13-176 1T17CA-6.5 8713 109
1R12-358 1TI5M-6 9096 68 1R13-177 1T17CA-6.5 8708 109

Find Products and Order Online | www.infinityairsprings.com

AIR SPRINGS # FLEX MEMBER # FIRESTONE # ‘ PAGE # AIR SPRINGS # FLEX MEMBER # FIRESTONE # ‘ PAGE #
1R14-018 1T9L-7 9149 116 2B14-360 21 7135 34
1R14-019 1T9F-1 9152 114 2B14-365 212 6801 35
1R14-026 1TI9F-7 9148 17 2B14-366 212 6803 34
1R14-028 1T9L-7 N7 17 2B14-367 21 nn 35
1R14-030 1TI9L-11 9158 114 2B14-383 233-2 7557 36
1R14-037 1TI9F-5 9215 112 3B12-300 38 8008 37
1R14-038 1TI9F-5 9200 112 3B12-301 38 8010 37
1R14-039 1T9J-7 8050 123 3B12-303 38 8018 37
1R14-042 1T19J-6 8052 112 3B12-304 38 8006 37
1R14-045 1TI9L-1 9122 115 3B12-310 38 8027 38
1R14-113 1T19F-12 5505 120 3B12-312 38 8033 38
1R14-115 1T19F-7 9961 118 3B12-319 38 8032 38
1R14-127 1T19F-14 9264 120 3B12-328 38 7994 39
1R14-137 1TI9F-9 9134 118 3B12-329 38 7995 39
1R14-159 1TI9F-7 9164 119 3B12-335 38 7996 39
1R14-160 1T19F-7 9144 119 3B14-354 313 7808 41
1R14-171 1TI9FC-6 8091 123 3B14-356 313 7838 42
1R14-174 1T19F-12 5503 116 3B14-359 313 7816 42
2B8-550 26 7325 45 3B14-360 313 7800 42
2B9-200 20 6910 2 3B14-367 313 7847 43
2B9-201 20 6935 2 3B14-451 333 7846 16
2B9-206 20 6905 2 3B14-452 333 7850 16
289-210 20 6908 Al
2B9-218 20-2 6927 PA]
2B9-229 2 6897 25
2B9-230 20 6940 22
2B9-239 20 6902 25
2B9-246 20 6932 25
2B9-250 20-2 6943 YA]
2B9-251 20-2 6948 PA]
2B9-252 20-2 6944 PA]
2B9-253 20-2 6945 PA]
2B9-254 20-2 6946 24
2B9-255 20-2 6947 2
2B9-265 20 6941 24
2B10-226 257 7795 27
2B12-300 2 7424 27
2B12-305 22-15 7443 19
2B12-307 2 7403 28
2B12-309 2 7400 28
2B12-313 22 7405 28
2B12-318 22 7185 29
2B12-319 22 7409 29
2B12-320 22 7401 29
2B12-324 22-15 7441 19
2B12-345 228-15 7545 3
2B12-346 228-15 7550 3
2B12-402 228-15 7446 32
2B12-406 22 7410 30
2B12-410 2 7404 30
2B12-411 22 7181 30
2B12-412 22 7183 30
2B12-416 2215 7444 33
2B12-425 2 7180 31
2B12-426 22 7406 31
2B12-427 22 7429 31
2B12-428 22-15 7473 32
2B12-432 22 7423 31
2B12-434 22-15 7472 32
2B12-440 228-15 7555 3
2B12-446 22-15 7444 32
2B14-354 2 7145 3
2B14-355 2 7146 34
2B14-356 2 7136 34
2B14-359 2 7140 34

Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 143

=
=
™
S
P
™




PISTON INDEX he s A5 50, 153 OR 454 moy b s torchorgonly PISTON INDEX cont he s A 50, 153 OR 454 moy b s torchorgonly

PISTON # FLEX MEMBER # AIR SPRINGS # PISTON # FLEX MEMBER # AIR SPRINGS # PISTON # FLEX MEMBER # AIR SPRINGS # PISTON # FLEX MEMBER # AIR SPRINGS #
566-08-7-157 579-08-1-002 154-205 566-20-7-055 566-20-3-029 1R10-072 566-20-7-120 566-22-3-143 1R11-088 566-20-7-183 566-22-3-051 1R11-115
566-08-7-215 156-641 566-20-7-077- 566-22-3-143 1R11-045 566-20-7-120 566-20-3-021 1R10-108 566-20-7-185 566-28-3-031 1R14-117
566-16-7-000 566-18-3-004 1R9-056 566-20-7-077- 566-20-3-021 1R10-109 566-20-7-120 566-20-3-021 1R10-090 566-20-7-188 566-28-3-021 1R14-106
566-16-7-000 566-18-3-004 1R9-054 566-20-7-079 566-24-3-120 1R12-631 566-20-7-124 566-26-3-051 1R13-182 566-20-7-189 566-28-3-021 1R14-141
566-16-7-000 566-16-3-007 1R8-031 566-20-7-079 566-24-3-038 1R12-454 566-20-7-124 566-26-3-051 1R13-181 566-20-7-192 566-24-3-120 1R12-377
566-16-7-000 566-16-3-007 1R8-009 566-20-7-079 566-24-3-038 1R12-369 566-20-7-124 566-22-3-049 1R11-232 566-20-7-197 566-24-3-061 1R12-359
566-16-7-009 566-18-3-003 1R9-065 566-20-7-079 566-24-3-038 1R12-365 566-20-7-124 566-22-3-049 1R11-130 566-20-7-197 566-24-3-061 1R12-351
566-16-7-017 566-18-3-010 1R9-038 566-20-7-079 566-24-3-097 1R12-274 566-20-7-127 566-26-3-050 1R13-124 566-20-7-197 566-24-3-061 1R12-350
566-16-7-017 566-18-3-010 1R9-025 566-20-7-079 566-24-3-072 1R12-212 566-20-7-127 566-26-3-068 1R13-149 566-20-7-209 566-24-3-038 1R12-541
566-16-7-021 566-18-3-004 1R9-070 566-20-7-079 566-24-3-038 1R12-188 566-20-7-150 566-22-3-057 1R11-171 566-20-7-209 566-24-3-116 1R12-540
566-16-7-021 566-18-3-004 1R9-053 566-20-7-079 566-24-3-038 1R12-182 566-20-7-150 566-22-3-057 1R11-161 566-20-7-209 566-22-3-143 1R11-179
566-16-7-021 566-18-3-004 1R9-003 566-20-7-079 566-24-3-038 1R12-090 566-20-7-150 566-20-3-027 1R10-101 566-20-7-209 566-22-3-143 1R11-178
566-16-7-021 566-16-3-007 1R8-034 566-20-7-079 566-22-3-079 1R11-244 566-20-7-152 566-30-3-001 1R15-001 566-20-7-209 566-22-3-143 1R11-209
566-16-7-021 566-18-3-004 1R9-071 566-20-7-079 566-22-3-044 1R11-097 566-20-7-152 566-28-3-044 1R14-190 566-20-7-212 566-24-3-076 1R12-543
566-16-7-021 566-16-3-007 1R8-041 566-20-7-079 566-22-3-143 1R11-090 566-20-7-152 566-28-3-044 1R14-183 566-20-7-213 566-24-3-038 1R12-553
566-20-7-005 566-24-3-038 1R12-509 566-20-7-079 566-22-3-006 1R11-018 566-20-7-152 566-28-3-042 1R14-172 566-20-7-214 566-24-3-038 1R12-554
566-20-7-005 566-24-3-066 1R12-467 566-20-7-080 566-28-3-021 1R14-101 566-20-7-152 566-28-3-065 1R14-171 566-20-7-215 566-24-3-038 1R12-552
566-207-006 566-24-3-066 1R12-208 566-20-7-080 566-26-3-043 1R13-117 566-20-7-152 566-26-3-078 1R13-189 566-20-7-215 566-24-3-038 1R12-486
566-20-7-006 566-26-3-044 1R13-116 566-20-7-080 566-24-3-038 1R12-645 566-20-7-152 566-26-3-078 1R13-179 566-20-7-215 566-24-3-038 1R12-485
566-20-7-006 566-26-3-044 1R13-115 566-20-7-080 566-24-3-066 1R12-395 566-20-7-152 566-26-3-078 1R13-174 566-20-7-215 566-24-3-038 1R12-484
566-20-7-006 566-24-3-090 1R12-663 566-20-7-080 566-24-3-038 1R12-358 566-20-7-154 566-26-3-078 1R13-177 566-20-7-217 566-28-3-021 1R14-124
566-20-7-006 566-24-3-066 1R12-527 566-20-7-080 566-24-3-038 1R12-356 566-20-7-154 566-26-3-078 1R13-176 566-20-7-221 566-24-3-163 1R12-401
566-20-7-006 566-24-3-066 1R12-357 566-20-7-080 566-24-3-076 1R12-352 566-20-7-154 566-26-3-073 1R13-159 566-20-7-223 566-28-3-015 1R14-167
566-20-7-006 566-24-3-090 1R12-335 566-20-7-080 566-24-3-038 1R12-285 566-20-7-156 566-24-3-076 1R12-636 566-20-7-223 566-24-3-120 1R12-406
566-20-7-006 566-24-3-066 1R12-261 566-20-7-080 566-24-3-066 1R12-281 566-20-7-156 566-24-3-076 1R12-614 566-20-7-230 566-26-3-055 1R13-130
566-20-7-006 566-24-3-066 1R12-195 566-20-7-080 566-24-3-066 1R12-265 566-20-7-156 566-24-3-076 1R12-600 566-20-7-230 566-28-3-015 1R14-205
566-20-7-006 566-24-3-066 1R12-145 566-20-7-080 566-24-3-038 1R12-220 566-20-7-156 566-24-3-076 1R12-512 566-20-7-231 566-26-3-056 1R13-133
566-20-7-006 566-24-3-048 1R12-143 566-20-7-080 566-24-3-066 1R12-185 566-20-7-156 566-24-3-076 1R12-445 566-20-7-233 566-24-3-038 1R12-419
566-20-7-006 566-24-3-066 1R12-142 566-20-7-080 566-24-3-066 1R12-167 566-20-7-156 566-24-3-076 1R12-437 566-20-7-235 566-26-3-071 1R13-208
566-20-7-006 566-24-3-076 1R12-139 566-20-7-080 566-24-3-038 1R12-155 566-20-7-156 566-22-3-143 1R11-223 566-20-7-235 566-26-3-071 1R13-152
566-20-7-006 566-24-3-066 1R12-103 566-20-7-080 566-24-3-038 1R12-130 566-20-7-156 566-22-3-143 1R11-121 566-20-7-235 566-24-3-066 1R12-568
566-20-7-014 566-24-3-067 1R12-465 566-20-7-080 566-24-3-163 1R12-092 566-20-7-156 566-22-3-084 1R11-249 566-20-7-235 566-24-3-038 1R12-567
566-20-7-014 566-24-3-067 1R12-435 566-20-7-080 566-24-3-038 1R12-066 566-20-7-156 566-22-3-021 1R11-207 566-20-7-235 566-24-3-097 1R12-532
566-20-7-014 566-24-3-061 1R12-383 566-20-7-084 566-26-3-015 1R13-070 566-20-7-158 566-24-3-076 1R12-655 566-20-7-235 566-24-3-076 1R12-505
566-20-7-014 566-24-3-067 1R12-095 566-20-7-096 566-28-3-020 1R14-209 566-20-7-158 566-24-3-097 1R12-644 566-20-7-235 566-24-3-038 1R12-502
566-20-7-014 566-22-3-021 1R11-162 566-20-7-096 566-28-3-021 1R14-159 566-20-7-158 566-24-3-066 1R12-613 566-20-7-235 566-24-3-097 1R12-481
566-20-7-014 566-22-3-021 1R11-159 566-20-7-096 566-28-3-021 1R14-137 566-20-7-158 566-24-3-097 1R12-592 566-20-7-235 566-24-3-066 1R12-480
566-20-7-014 566-22-3-021 1R11-047 566-20-7-096 566-28-3-021 1R14-130 566-20-7-158 566-24-3-038 1R12-584 566-20-7-235 566-24-3-038 1R12-441
566-20-7-014 566-22-3-021 1R11-028 566-20-7-096 566-28-3-021 1R14-028 566-20-7-158 566-24-3-097 1R12-450 566-20-7-235 566-24-3-163 1R12-069
566-20-7-036 566-26-3-051 1R13-053 566-20-7-096 566-28-3-021 1R14-026 566-20-7-158 566-24-3-097 1R12-446 566-20-7-235 566-22-3-042 1R11-252
566-20-7-036 566-24-3-038 1R12-617 566-20-7-096 566-28-3-021 1R14-018 566-20-7-158 566-24-3-038 1R12-438 566-20-7-235 566-22-3-143 1R11-166
566-20-7-036 566-24-3-038 1R12-494 566-20-7-096 566-26-3-051 1R13-047 566-20-7-158 566-24-3-038 1R12-436 566-20-7-235 566-24-3-076 1R12-676
566-20-7-036 566-24-3-076 1R12-492 566-20-7-097 566-28-3-020 1R14-201 566-20-7-158 566-24-3-076 1R12-421 566-20-7-236 566-24-3-097 1R12-622
566-20-7-036 566-24-3-076 1R12-422 566-20-7-097 566-28-3-020 1R14-174 566-20-7-158 566-24-3-066 1R12-607 566-20-7-236 566-24-3-163 1R12-538
566-20-7-036 566-24-3-076 1R12-370 566-20-7-097 566-28-3-020 1R14-170 566-20-7-158 566-24-3-116 1R12-534 566-20-7-236 566-24-3-038 1R12-535
566-20-7-036 566-24-3-076 1R12-355 566-20-7-097 566-28-3-021 1R14-160 566-20-7-158 566-28-3-043 1R14-222 566-20-7-236 566-24-3-165 1R12-523
566-20-7-036 566-24-3-076 1R12-132 566-20-7-097 566-28-3-020 1R14-154 566-20-7-158 566-24-3-097 1R12-1048 566-20-7-236 566-24-3-090 1R12-507
566-20-7-036 566-24-3-076 1R12-076 566-20-7-097 566-28-3-021 1R14-115 566-20-7-159 566-24-3-066 1R12-653 566-20-7-236 566-24-3-165 1R12-432
566-20-7-036 566-22-3-143 1R11-039 566-20-7-097 566-28-3-020 1R14-045 566-20-7-159 566-24-3-066 1R12-639 566-20-7-236 566-24-3-066 1R12-689
566-20-7-036 566-24-3-100 1R12-593 566-20-7-097 566-28-3-020 1R14-030 566-20-7-159 566-24-3-090 1R12-637 566-20-7-236 566-24-3-097 1R12-1049 E
566-20-7-036- 566-26-3-051 1R13-075 566-20-7-097 566-28-3-020 1R14-019 566-20-7-159 566-24-3-097 1R12-621 566-20-7-237 566-26-3-071 1R13-153 ;=
566-20-7-036- 566-24-3-076 1R12-169 566-20-7-097 566-26-3-072 1R13-038 566-20-7-159 566-24-3-090 1R12-609 566-20-7-237 566-24-3-038 1R12-586 =
566-20-7-050 566-28-3-024 1R14-112 566-20-7-097 566-26-3-072 1R13-216 566-20-7-159 566-24-3-090 1R12-599 566-20-7-237 566-24-3-066 1R12-504 rz"
566-20-7-053 566-24-3-038 1R12-669 566-20-7-097 566-28-3-164 1R14-164 566-20-7-159 566-24-3-038 1R12-576 566-20-7-237 566-24-3-097 1R12-498 g
566-20-7-055 566-24-3-076 1R12-325 566-20-7-106 566-26-3-081 1R13-210 566-20-7-159 566-24-3-066 1R12-444 566-20-7-237 566-24-3-066 1R12-439
566-20-7-055 566-24-3-067 1R12-324 566-20-7-106 566-26-3-081 1R13-207 566-20-7-159 566-24-3-090 1R12-363 566-20-7-237 566-20-3-021 1R10-122
566-20-7-055 566-24-3-076 1R12-205 566-20-7-106 566-26-3-051 1R13-155 566-20-7-159 566-24-3-090 1R12-256 566-20-7-238 566-24-3-038 1R12-640
566-20-7-055 566-24-3-067 1R12-204 566-20-7-106 566-26-3-050 1R13-138 566-20-7-163 566-24-3-165 1R12-375 566-20-7-238 566-24-3-067 1R12-571
566-20-7-055 566-24-3-067 1R12-178 566-20-7-106 566-26-3-098 1R13-119 566-20-7-163 566-24-3-038 1R12-366 566-20-7-238 566-24-3-038 1R12-499
566-20-7-055 566-24-3-067 1R12-156 566-20-7-106 566-26-3-098 1R13-239 566-20-7-164 566-24-3-076 1R12-434 566-20-7-239 566-24-3-076 1R12-648
566-20-7-055 566-22-3-021 1R11-152 566-20-7-116 566-24-3-108 1R12-303 566-20-7-164 566-24-3-076 1R12-367 566-20-7-239 566-24-3-076 1R12-620
566-20-7-055 566-22-3-021 1R11-151 566-20-7-120 566-24-3-048 1R12-288 566-20-7-164 566-24-3-067 1R12-309 566-20-7-239 566-24-3-067 1R12-487
566-20-7-055 566-22-3-021 1R11-150 566-20-7-120 566-24-3-048 1R12-217 566-20-7-181 566-28-3-020 1R14-176 566-20-7-239 566-22-3-143 1R11-191
566-20-7-055 566-22-3-028 1R11-075 566-20-7-120 566-24-3-048 1R12-154 566-20-7-181 566-28-3-031 1R14-127 566-20-7-239 566-22-3-143 1R11-149
566-20-7-055 566-22-3-021 1R11-066 566-20-7-120 566-22-3-143 1R11-243 566-20-7-181 566-28-3-030 1R14-113 566-20-7-240 566-24-3-038 1R12-545

44 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 145



PISTON INDEX he s A5 50, 153 OR 454 moy b s torchorgonly PISTON INDEX cont he s A 50, 153 OR 454 moy b s torchorgonly

PISTON # FLEX MEMBER # AIR SPRINGS # PISTON # FLEX MEMBER # AIR SPRINGS # PISTON # FLEX MEMBER # AIR SPRINGS #
566-20-7-240 566-24-3-048 1R12-511 566-20-7-287 566-22-3-021 1R11-268 ASC-08-7-163 154-035
566-20-7-240 566-24-3-038 1R12-3% 566-20-7-296 566-26-3-081 1R13-109 ASC-08-7-163 155-032
566-20-7-240 566-24-3-048 1R12-304 566-20-7-296 566-26-3-081 1R13-097 ASC-08-7-194 155-120
566-20-7-240 566-24-3-048 1R12-284 566-20-7-299 566-24-3-117 1R12-580 ASC-08-7-194 155-061
566-20-7-240 566-24-3-024 1R12-127 566-20-7-303 566-24-3-097 1R12-647 ASC-08-7-194 155-055
566-20-7-240 566-22-3-049 1R11-189 566-20-7-303 566-24-3-164 1R12-615 ASC-08-7-194 155-038
566-20-7-240 566-22-3-143 1R11-170 566-20-7-304 566-28-3-043 1R14-182 ASC-08-7-194 154.5-107
566-20-7-240 566-22-3-143 1R11-147 566-20-7-308 566-22-3-073 1R11-224 ASC-08-7-194 154.5-073
566-20-7-240 566-22-3-143 1R11-143 566-20-7-314 566-26-3-078 1R13-188 ASC-08-7-194 154-056
566-20-7-240 566-20-3-023 1R10-137 566-20-7-322 566-24-3-108 1R12-603 ASC-08-7-194 154-044
566-20-7-240 566-20-3-021 1R10-133 566-20-7-323 566-28-3-042 1R14-232 ASC-08-7-213 155-154
566-20-7-240 566-20-3-021 1R10-127 566-20-7-325 566-26-3-068 1R13-118 ASC-08-7-213 155-122
566-20-7-240 566-20-3-021 1R10-120 566-20-7-327 566-28-3-021 1R14-215 ASC-08-7-215 156-046
566-20-7-240 566-20-3-021 1R10-118 566-20-7-327 566-26-3-051 1R13-039 ASC-08-7-215 156-033
566-20-7-240 566-20-3-021 1R10-105 566-20-7-328 566-22-3-143 1R11-267 ASC-08-7-215 156-031
566-20-7-240 566-20-3-021 1R10-099 566-20-7-328 566-22-3-076 1R11-266 ASC-08-7-215 156-055
566-20-7-240 566-20-3-021 1R10-091 566-20-7-334 566-28-3-015 1R14-198 ASC-08-7-219 185-152
566-20-7-240 566-20-3-021 1R10-089 566-20-7-334 566-28-3-024 1R14-179 ASC-08-7-219 155-072
566-20-7-240 566-20-3-021 1R10-087 566-20-7-334 566-28-3-042 1R14-175 ASC-08-7-219 155-060
566-20-7-240 566-20-3-022 1R10-019 566-20-7-334 566-28-3-015 1R14-108 ASC-08-7-219 154-042
566-20-7-240 566-22-3-143 1R11-094 566-20-7-334 566-28-3-015 1R14-052 ASC-08-7-223 156-026
566-20-7-240 566-20-3-021 1R10-165 566-20-7-334 566-28-3-065 1R14-039 ASC-08-7-232 155-174
566-20-7-246 566-24-3-038 1R12-462 566-20-7-334 566-28-3-015 1R14-038 ASC-08-7-277 579-10-1-115 155-176
566-20-7-246 566-24-3-097 1R12-424 566-20-7-334 566-28-3-015 1R14-037 ASC-08-7-277 579-10-1-116 185-175
566-20-7-246 566-24-3-038 1R12-423 566-20-7-334 566-26-3-069 1R13-151 Not Included 566-18-3-004 1R9-047
566-20-7-246 566-24-3-097 1R12-404 566-20-7-334 566-26-3-054 1R13-120 Not Included 566-28-3-020 1R14-060
566-20-7-246 566-24-3-097 1R12-402 566-20-7-334 566-28-3-015 1R14-216 Not Included 566-28-3-020 1R14-031
566-20-7-246 566-24-3-038 1R12-400 566-20-7-334 566-26-3-015 1R14-155 Not Included 566-28-3-020 1R14-025
566-20-7-250 566-22-3-143 1R11-169 566-20-7-334- 566-28-3-015 1R14-094 Not Included 566-26-3-051 1R13-049
566-20-7-251 566-24-3-076 1R12-616 566-20-7-334- 566-28-3-015 1R14-042 Not Included 566-26-3-072 1R13-048
566-20-7-251 566-24-3-067 1R12-562 566-20-7-377 566-24-3-140 1R12-403 Not Included 566-24-3-038 1R12-394
566-20-7-251 566-24-3-061 1R12-539 566-20-7-387 566-20-3-021 1R10-171 Not Included 566-24-3-066 1R12-113
566-20-7-251 566-24-3-061 1R12-531 566-20-7-392 566-22-3-143 1R11-273 Not Included 566-24-3-067 1R12-097
566-20-7-251 566-24-3-061 1R12-530 566-20-7-413 566-24-3-142 1R12-1047 Not Included 566-24-3-038 1R12-093
566-20-7-251 566-24-3-067 1R12-508 579-08-7-157 185-057 Not Included 566-20-3-021 1R10-085
566-20-7-251 566-22-3-021 1R11-203 579-08-7-215 156-036 Not Included 566-20-3-022 1R10-030
566-20-7-252 566-24-3-067 1R12-563 579-08-7-219 154.5-113
566-20-7-252 566-24-3-067 1R12-559 579-08-7-301 579-10-1-083 155-186
566-20-7-252 566-24-3-067 1R12-558 579-16-7-103 579-16-1-002 158-003
566-20-7-252 566-24-3-067 1R12-557 AS3-08-7-006 185-157
566-20-7-252 566-24-3-067 1R12-556 ASB-06-7-014 183-011
566-20-7-252 566-22-3-021 1R11-242 ASB-08-7-079 156-023
566-20-7-252 566-22-3-021 1R11-202 ASB-08-7-134 155-070
566-20-7-252 566-22-3-021 1R11-201 ASC-06-7-017 153-013
566-20-7-252 566-22-3-021 1R11-200 ASC-08-7-005 155-006
566-20-7-253 566-24-3-067 1R12-561 ASC-08-7-005 155-005
566-20-7-253 566-24-3-067 1R12-560 ASC-08-7-005 154-008
566-20-7-253 5606-24-3-067 1R12-555 ASC-08-7-093 154-030
566-20-7-253 566-22-3-143 1R11-241 ASC-08-7-134 154-074
566-20-7-253 566-22-3-057 1R11-225 ASC-08-7-137 185-173 E
566-20-7-253 566-22-3-021 1R11-205 ASC-08-7-137 155-040 ;:
566-20-7-253 566-22-3-021 1R11-204 ASC-08-7-137 154-067 =
566-20-7-257 566-22-3-068 1R11-216 ASC-08-7-137 154-016 E
566-20-7-257 566-22-3-075 1R11-176 ASC-08-7-137 155-164 g
566-20-7-257 566-22-3-060 1R11-175 ASC-08-7-137 154-173
566-20-7-274 566-28-3-057 1R14-236 ASC-08-7-139 155-045
566-20-7-274 566-26-3-095 1R13-235 ASC-08-7-139 155-010
566-20-7-276 566-28-3-021 1R14-218 ASC-08-7-139 154-058
566-20-7-276 566-28-3-021 1R14-177 ASC-08-7-139 154-007
566-20-7-271 566-26-3-097 1R13-237 ASC-08-7-157 185-135
566-20-7-277 566-28-3-059 1R14-240 ASC-08-7-157 185-133
566-20-7-286 566-28-3-021 1R11-222 ASC-08-7-157 154.5-179
566-20-7-286 566-28-3-021 1R11-220 ASC-08-7-157 154.5-121
566-20-7-287 566-28-3-021 1R11-221 ASC-08-7-157 154-175
566-20-7-287 566-22-3-021 1R11-219 ASC-08-7-157 154-123

46 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 14]



CROSS REFERENCE INFORMATION CROSS REFERENCE INFORMATION cont

COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE
BELLOWS # # # # BELLOWS # # # # BELLOWS # # # # BELLOWS # # # #
AM GENERAL AUTOMANN CONT. AUTOMANN CONT. AUTOMANN CONT.
5973923 1R9-003 a7 1DK23F ABIDK23F-8964 1R12-556 85 1DK23L ABIDKZ3L-9192 1R12-167 0BS 79 1DK25C ABIDK25C-8746 1R13-208 107
5973924 TR12-076 87 1DK23F ABIDK23F-8976 1R12-557 86 1DK23L ABIDK23L-9349 1R12-195 79 1DK25D ABIDK25D-8729 1R13-130 106
597324 1R12-076 87 1DK23F AB1DK23F-8986 1R12-558 86 1DK23L AB1DK23L-P973 1R12-208 79 1DK25E AB1DK25E-S783 1R13-039 104
AMERICAN CARRIER 1DK23F AB1DK23F-9029 1R12-559 86 1DK23L AB1DK23L-9130 1R12-281 80 1DK25E AB1DK25E-8637 1R13-155 105
8003005 2814-355 34 1DK23F ABIDK23F-9308 1R12-560 8 1DK23L ABIDK23L-9350 1R12-281 80 1DK28A ABIDK28A-8050 1R14-039 13
8003006 2B8-550 45 1DK23H AB1DK23H-8203 1R12-1094 100 1DK23L AB1DK23L-9394 1R12-281 80 1DK28A AB1DK28A-8052 1R14-042 12
8003007 1B14-351 20 1DK23H AB1DK23H-9105 1R12-132 88 1DK23L AB1DK23L-P946 1R12-281 80 1DK28A ABTDK28A-A729 1R14-155 13
8003003 RI1-171 60 1DK23H ABIDK23H-9113 TR12-132 88 1DK23L ABIDK231-9348 1R12-357 0BS 80 1DK28A ABIDK28A-A706 1R14-198 113
8003023 1R11-161 60 1DK23H AB1DK23H-9302 1R12-132 88 1DK23L AB1DK23L-9265 1R12-375 101 1DK28B AB1DK28B-9134 1R14-137 118
AUTO BUS 1DK23H AB1DK23H-9053 1R12-309 84 1DK23L AB1DK23L-9203 1R12-395 80 1DK28C AB1D28C-A026 1R13-038 108
10530087 TR10-089 50 1DK23H ABIDK23H-9078 TR12-355 8 1DK23L ABIDK23L-9346 1R12:439 81 1DK28C ABID28C-9156 1R14-019 114
AUTOMANN 1DK23H AB1DK23H-9640 1R12-367 89 1DK23L AB1DK23L-9245 1R12-446 96 1DK28C AB1D28(-9158 1R14-030 114
1D286 AB1D28G-9121 1R13-039 104 1DK23H AB1DK23H-9366 1R12-487 85 1DK23L AB1DK23L-A801 1R12-467 81 1DK28C AB1D28C-9122 1R14-045 115
10286 AB1D286-9149 1R14-018 16 1DK23H AB1DK23H-9325 TR12-505 % 1DK23L ABIDK23L-A830 TR12-467 81 1DK28C ABID28C-A965 1R14-201 116
10286 ABID28G-9148 1R14-026 n7 1DK23H ABIDK23H-8204 TR12-508 8 1DK23L ABIDK23L-9243 1R12-480 81 1DK28E ABIDK28E-3091 1R14-171 13
1D28G AB1D28G-9177 1R14-028 17 1DK23H AB1DK23H-9127A 1R12-512 91 1DK23L AB1DK23L-8852 1R12-568 82 1DK28F AB1DK28F-5505 1R14-113 120
10286 ABID28G-9179 1R14-028 n7 1DK23H ABIDK23H-8197 TR12-562 87 1DK23L ABIDK23L-AS52 1R12:613 82 1DK28F ABIDK28F-9264 1R14-127 120
10286 ABID28G-9961 1R14-115 118 1DK23H ABIDK23H-8934 1R12-563 87 1DK23L ABIDK23L-8855 TR12-644 9 1DK26F ABIDK28F-A752 1R14-170 115
1D28G AB1D28G-8778 1R14-130 118 1DK23H AB1DK23H-8934 1R12-563 87 1DK23L AB1DK23L-8864 1R12-1097 102 1DK28F AB1DK28F-5503 1R14-174 116
1D286 AB1D28G-9164 1R14-159 19 1DK23H AB1DK23H-8934 1R12-563 87 1DK23M AB1DK23M-9297 1R12-402 95 1DK28L AB1DK28L-9218 1R13-120 106
10286 ABID28G-9144 TR14-160 19 1DK23H ABIDK23H-8934 1R12-563 87 1DK23M ABIDK23M-9373 1R12-403 100 1DK28L ABIDK28L-9215 1R14-037 112
1DF23 ABIDF23-9780 1R12-303 9 1DK23H ABIDK23H-8934 1R12-563 87 1DK23M ABIDK23M-9375 TR12-404 % 1DK28L ABIDK28L-9200 1R14-038 112
1DF23 ABI1DF23-9781 1R12-603 99 1DK23H AB1DK23H-8934 1R12-563 87 1DK23M AB1DK23M-9287 1R12-424 96 1DK28M AB1DK28M-8774 1R14-172 121
1DF23H ABIDF23H-P1154 TR12-615 101 10K23H ABIDK23H-8934 TR12-563 87 1DK23M ABIDK23M-9648 TR12-538 101 1DK28N ABIDK28N-8093 1R14-190 122
1DK10 AB1DK10A-2119 1R9-065 46 1DK23H AB1DK23H-8934 1R12-563 87 1DK23M AB1DK23M-9663 1R12-1093 102 1R12 AB1R12-444 1R12-444 81
1DK10A AB1DK10D-8997 1R9-065 46 1DK23H AB1DK23H-8934 1R12-563 87 1DK23N AB1DK23N-9367 1R12-256 93 SP1B22A ABSP1B22A-7009 1B12-301 18
1DK108 ABIDK10B-5409 1R9-003 47 1DK23H ABIDK23H-9365 1RI2-571 87 1DK23N ABIDK23N-9321 1R12-335 9 SP1B22A ABSP1B22A-7008 1B12-313 19
1DK108 ABIDK10B-5406 1R9-038 48 1DK23I ABIDK231-9069 1R12-069 66 1DK23N ABIDK23N-9367A 1R12-335 9 SP1B22A ABSP1B22A-6994 1812-322 19
1DK10B AB1DK10B-5410 1R9-070 48 1DK23I AB1DK231-9807 1R12-1047 100 1DK23N AB1DK23N-9320 1R12-363 93 SP1B34A ABSP1B34A-7103 1B14-350 20
1DK108 ABIDK10B-5410 1R9-071 4 10K231 AB1DK231-9697 1R12-1095 102 1DK23N ABIDK23N-9338 TR12-637 % SPIB34A ABSP1B34A-7104 1B14-351 2
1DK20D ABIDK20D-9422 TR11-028 53 1DK23I ABIDK231-9568 1R12-205 88 1DK23P ABIDK23P-8903 TR11-252 59 SP1B34A ABSP1B34A-7112 1B14-358 2
1DK20D AB1DK20D-8901 1R11-149 64 1DK23I AB1DK231-9060 1R12-285 68 1DK23P AB1DK23P-9974 1R12-1048 95 SP2BOSRA ABSP2BO8RA-7325 2B8-550 45
1DK20D ABIDK20D-9448 R1-150 54 10K231 ABIDK231-9567 1R12-325 8 1DK23P ABIDK23P-8944 TR12-366 69 SP2BIZR ABSP2B12R-7795 2810-226 7
1DK20D ABIDK20D-9387 TRT1-159 54 1DK23I ABIDK231-9010 1R12-352 89 1DK23P ABIDK23P-9342 TR12-450 % SP2BIZR ABSP2B12R-6910 289-200 2
1DK20D AB1DK20D-9421 1R11-171 60 1DK23I AB1DK231-9070 1R12-370 89 1DK23P AB1DK23P-9923 1R12-481 96 SP2B12R ABSP2B12R-6935 2B9-201 2
1DK20D AB1DK20D-9376 TR11-200 55 1DK23I AB1DK231-8802 1R12-434 90 1DK23P AB1DK23P-9504 1R12-484 A SP2B12R ABSP2B12R-6905 2B9-206 7
1DK20D ABIDK20D-9377 TR11-201 55 1DK23I ABIDK231-9797 1R12-437 % 1DK23P ABIDK23P-AB02 TR12-494 n SP2BIZR ABSP2B12R-6908 289-210 2
1DK20D ABIDK20D-9378 1R11-202 55 1DK23I ABIDK231-8805 1R12-438 70 1DK23P ABIDK23P-9922 1R12-498 97 SP2BIZR ABSP2B12R-6897 289-229 %
1DK20D AB1DK20D-8900 1R11-204 55 1DK23I AB1DK231-8806 1R12-445 90 1DK23P AB1DK23P-9936 1R12-499 72 SP2B12R ABSP2B12R-6940 2B9-230 2
1DK20D ABIDK20D-9476 R11-205 56 10K231 ABIDK231-9335 1R12-620 92 1DK23P ABIDK23P-9921 1R12-502 72 SP2BIZR ABSP2B12R-6902 289-239 2
1DK20D ABIDK20D-9616 TR11-242 57 1DK23I ABIDK231-9634 1R12-636 92 1DK23P ABIDK23P-9471 1R12-504 8l SP2BIZR ABSP2B12R-7768 289-245 2
1DK20D AB1DK20D-9379 1R12-178 64 1DK23I AB1DK231-9336 1R12-648 92 1DK23P AB1DK23P-9935 1R12-532 97 SP2B12R ABSP2B12R-6932 2B9-246 25
1DK20 ABIDK20E-9439 TR11-039 62 10K231 ABIDK231-9069 1R12-069 66 1DK23P ABIDK23P-9472 TR12-553 73 SP2BIZR ABSP2B12R-6941 289-265 u
1DK20E AB1DK20E-9385 IR11-178 64 1DK23I ABIDK231-8813 1R12-1204 102 1DK23P ABIDK23P-PS73 1R12-553 73 SP2BIZR ABSP2BI2R-6926 289-288 2
1DK20E AB1DK20E-9465 1R11-179 65 1DK23K AB1DK23K-9083 1R12-066 66 1DK23P AB1DK23P-9470 1R12-554 73 SP2B12RA ABSP2B12RA-6927 2B9-218 23
1DK20 ABIDK20E-P708 R11-179 65 10K23K ABIDK23K-9213 1R12-090 67 1DK23P ABIDK23P-9502 1R12-554 73 SP2B12RA ABSP2B12RA-6943 289-250 3
1DK20E ABIDK20E-8919 IRT1-191 65 1DK23K ABIDK23K-9082 1R12-092 100 1DK23P ABIDK23P-9473 1R12-586 74 SP2B12RA ABSP2B12RA-6948 289-251 3
1DK20F AB1DK20F-9293 1R10-120 52 1DK23K AB1DK23K-9227 1R12-130 67 1DK23P AB1DK23P-9902 TR12-640 75 SP2B12RA ABSP2B12RA-6944 2B9-252 VA]
1DK20F ABIDK20F-9291 1R10-122 52 1DK23K ABIDK23K-9392 1R12-143 75 1DK230 ABIDK230-9491 1R12-553 73 SP2B12RA ABSP2B12RA-6945 289-253 3
1DK20F ABIDK20F-9295 TR11-166 64 1DK23K ABIDKZ3K-9096 1R12-155 0BS 67 1DK230 ABIDK230-9275 1R13-117 103 SP2BI2RA ABSP2B12RA-6946 289-254 2 )
1DK20G AB1DK20G-9617 1R11-219 56 1DK23K AB1DK23K-9219 1R12-182 67 1DK23R AB1DK23R-1731 1R12-432 101 SP2B12RA ABSP2B12RA-6947 2B9-255 24 q
1DK20G AB1DK20G-9622 1R11-221 56 1DK23K AB1DK23K-9223 1R12-188 68 1DK23R ABTDK23R-9876 1R12-523 102 SP2B12RB ABSP2B12RB-7897 2B9-495 27 ;
1DK206 ABIDK206-9547 TR11-268 57 1DK23K ABIDK23K-9092 1R12-220 68 1DK23s ABIDK235-9250 IR13-115 103 SP2B2R ABSP2B22R-7424 2812300 7 i
1DK20H ABIDK20H-9618 1R11-220 56 1DK23K ABIDKZ3K-9194 1R12-356 68 1DK23s ABIDK235-9252 1R13-116 103 SP2B22R ABSP2B22R-7344 2812-304 2 S
1DK20H AB1DK20H-9675 1R11-221 56 1DK23K AB1DK23K-9299 1R12-366 69 1DK25A AB1DK25A-8709 1R13-159 108 SP2B22R ABSP2B22R-7403 2B12-307 28 ™
1DK20H ABIDK20H-9625 1R11-222 57 10K23K ABIDK23K-9296 1R12-400 70 1DK258 AB1DK25B-8723 1R12-097 110 SP2B22R ABSP2B22R-7400 2812309 2
1DK20H ABIDK20H-9541 1R11-268 57 1DK23K ABIDK23K-8924 1R12-436 70 1DK258 ABIDK25B-8782 1R13-109 110 SP2B2R ABSP2B22R-7405 2812313 2
1DK20J AB1DK20J-9626 1R11-292 62 1DK23K AB1DK23K-9362 1R12-441 70 1DK25B AB1DK25B-8710 1R13-124 103 SP2B22R ABSP2B22R-7409 2B12-319 29
1DK23F AB1DK23F-9039 1R12-095 8 1DK23K ABIDK23K-9082A 1R12-509 72 1DK258 AB1DK25B-8755 1R13-124 103 SP2B2R ABSP2B22R-7401 2812320 2
1DK23F ABIDK23F-9031 1R12-350 76 1DK23K ABIDK23K-P769 1R12-541 7 1DK258 ABIDK25B-8752 1R13-138 104 SP2B22R ABSP2B22R-7437 2812320 2
1DK23F AB1DK23F-9033 1R12-351 77 1DK23K AB1DK23K-9026 1R12-567 74 1DK25B AB1DK25B-8751 1R13-159 108 SP2B22R ABSP2B22R-7410 2B12-406 30
1DK23F ABIDK23F-9077 1R12-359 7 10K23K ABIDK23K-9093 1R12-621 97 1DK258 ABDK25B-8753 1R13-207 110 SP2B22R ABSP2B22R-7404 2812410 30
1DK23F ABIDK23F-8963 1R12-465 85 1DK23K ABIDK23K-9228 1R13-039 104 1DK258 ABIDK25B-8740 1R13-210 m SP2B2R ABSP2B22R-7181 2812411 30
1DK23F AB1DK23F-9334 1R12-508 85 1DK23L AB1DK23L-9101 1R12-103 78 1DK25C AB1DK25C-9580 1R13-118 106 SP2B22R ABSP2B22R-7183 2B12-412 30
1DK23F ABIDK23F-9307 1R12-508 85 10K23L AB1DK23L-9238 1R12-145 79 1DK25¢ ABIDK25C-8748 1R13-152 107 SP2B2R ABSP2B22R-7180 2812425 3l
1DK23F ABIDK23F-8961 1R12-555 85 10K23L ABIDK23L-9241 1R12-142 78 1DK25¢ ABIDK25(-8749 1R13-153 107 SP2B22R ABSP2B22R-7406 2812426 31

148 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 149



CROSS REFERENCE INFORMATION cont

COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR  PAGE
BELLOWS # # # # BELLOWS # # # #
AUTOMANN CONT. CONTITECH
SP2B22R ABSP2B22R-7429 2812427 3l 10105-15 1010515P460 64645 | TRIZ-159 108
SP2BI2R ABSP2B22R-7184 2812429 3l 10 10.5AV-17.5 10105AV12P513 64420 |  TRI3-130 106
SP2B22R ABSP2B22R-7423 2B12-432 31 1010-15 1010-15S518 64396 1R13-138 104
SP2B22R ABSP2B22R-6850 2B12-463 32 1010-15 1010-155522 64397 1R13-124 103
SP2B22RA ABSP2B22RA-7443 2812-305 19 1010-15 1010155713 64639 | TRI3-207 110
SP2B22RA ABSP2B22RA-7499 2B12-317 19 1010-15 1010-15S773 64725 1R13-210 m
SP2B22RA ABSP2B22RA-7447 2B12-324 19 1010-15 1010-15S 871 66340 1R13-109 110
SP2B22RA ABSP2B22RA-7790 2812324 19 1010-16 1010-165724 64649 |  TRI3-I55 105
SP2B22RA ABSP2B22RA-7446 2B12-402 32 1010-21 1010-21 P 570 64252 1R13-152 107
SP2B22RA ABSP2B22RA-7444 2B12-416 33 1010-21 1010-21 P 434 64394 1R13-118 106
SP2B22RA ABSP2B22RA-7473 2812428 32 101021 101021P486 6419 | IRI3-IS 107
SP2B22RA ABSP2B22RA-7472 2B12-434 32 1010-21 1010-21 P 774 64728 1R13-208 107
SP2B22RB ABSP2B22RB-7545 2B12-345 33 1110.5-15 1110.5-15 A 415 64253 1R14-038 112
SP2B22RB ABSP2B22RB-7550 2812-346 3 11105-15 11105-15A414 6424 | IRI4-037 112
SP2B22RB ABSP2B22RB-7555 2812440 3 11105-15 11105154422 6428 | IRI3-120 106
SP2B34R ABSP2B34R-7145 2B14-354 33 11105-17 1110.5-21 A 313 64273 1R13-038 108
SP2B34R ABSP2B34R-7146 2814-355 34 11105-17 11105174316 64342 | TR14-028 17
SP2B34R ABSP2B34R-7136 2814-356 34 11105-17 11105174364 64343 | TR14-026 17
SP2B34R ABSP2B34R-7140 2B14-359 34 1110.5-17 1110.5-17 A 365 64344 1R14-018 116
SP2B34R ABSP2B34R-7135 2B14-360 34 11105-17 1110.5-17 A 367 64346 1R14-115 118
SP2B34R ABSP2B34R-7123 2814-367 3 11105-17 1105-17A377 64347 | IRI3-047 104
SP2B34RB ABSP2B34RB-6801 2B14-365 35 1110.5-17 1110517 A 377 64347 1R14-160 19
SP2B34RB ABSP2B34RB-6803 2B14-366 34 11105-17 1110.5-17 A 405 64349 1R14-159 19
SP2B34RB ABSP2B34RB-6805 2814-462 36 11105-17 11105-17A507 64350 | TR14-130 118
SP2B34RC ABSP2B34RC-7557 2B14-383 36 1110.5-17 1110.5-21 A 318 64352 1R14-030 114
SP2B34RC ABSP2B34RC-7782 2B14-470 36 11105-17 1110.5-21 A 370 64354 1R14-019 114
SP2B34RC ABSP2B34RC-6799 2814476 36 11105-17 1010-1655783 64746 | TRI3-039 104
SP3B22R ABSP3B22R-8008 3B12-300 37 1110.5-17 1110.5-21 A 965 67625 1R14-201 116
SP3B22R ABSP3B22R-8025 3B12-300 37 1110.5-19 1110.5-19 A 431 64391 1R14-137 118
SP3B22R ABSP3B22R-8010 3812-301 37 1110522 11105224530  6M22 | IRI4-I74 116
SP3B22R ABSP3B22R-8030 3812-301 37 1110522 11105225712 64637 | IRI4-127 120
SP3B22R ABSP3B22R-8018 3B12-303 37 1110.5-22 1110.5-22 5750 64688 1R14-113 120
SP3B22R ABSP3B22R-8006 3812-304 37 1110522 11105224752 34690 | IRI4-170 115
$P3B22R ABSP3B22R-8027 3812310 38 1110.50-16 111050-16P523 64421 | IRI4-17] 13
SP3B22R ABSP3B22R-8033 3B12-312 38 1110.5C-16 1110.5C-16 A 320 64254 1R14-039 123
SP3B22R ABSP3B22R-8032 3B12-319 38 1110.5C-16 1110.5C-16 A 378 64357 1R14-042 112
SP3B22R ABSP3B22R-8042 3812322 40 11105C-16 11105C16A706 64628 |  1R14-198 113
SP3B22R ABSP3B22R-8043 3B12-323 40 1110.5C-16 1110.5C-16 A 729 64660 1R14-155 13
SP3B22R ABSP3B22R-7994 3B12-328 39 1110.5F-17.5 11 10.5F-17 P 745 65593 1R14-172 121
SP3B22R ABSP3B22R-7990 3812329 3 11105F-17.5 11105F-17P745 65593 |  1R14-190 122
SP3B22R ABSP3B22R-7995 3B12-329 39 66.5-11 66.5-115027 68108 1R9-065 46
SP3B22R ABSP3B22R-7996 3B12-335 39 66.5-13 66.5-135 039 68121 1R9-038 48
SP3B22R ABSP3B22R-8038 3812415 a 66513 665135446 68123 | TR9-070 48
SP3B32R ABSP3B32R-7808 3B14-354 41 66.5-13 66.5-135 056 68136 1R9-003 47
SP3B32R ABSP3B32R-7798 3B14-356 42 910-10,910-10.5 910-10P 311 64260 1R12-095 83
SP3B32R ABSP3B32R-7818 3814-359 42 910-10,910-10 5 910-10P328 6430 | IRIZ-35] 7
SP3B32R ABSP3B32R-7800 3814-360 42 910-10,910-10 5 910-10P331 6431 | TRIZ-359 7
SP3B32RA ABSP3B32RA-7845 3B14-450 16 910-10,910-10 .5 910-10 P 339 64433 1R12-350 76
SP3B32RA ABSP3B32RA-7846 3B14-451 16 910-10,910-10 5 910-10P3%8 64436 |  TRIZ-560 8
SP3B32RA ABSP3B32RA-7850 3814-452 16 910-10,910-10 5 910-10P399 64437 | IRIZ:559 86
SP3B32RA ABSP3B32RA-7838 3B14-453 16 910-10,910-10 .5 910-10 P 400 64438 1R12-558 86
SP3B32RA ABSP3B32RA-7839 3B14-456 17 910-10,910-10.5 910-10P 471 64439 1R12-435 106
SP3B32RA ABSP3B32RA-7843 3B14-457 17 910-10,910-10 5 910-10P471 64439 | IRI2-508 8
SP3B32RA ABSP3B32RA-7847 3B14-459 17 910-10,910-10 5 910-10 P 473 64440 1R12-465 85
SP3B32RA ABSP3B32RA-7855 3B14-462 17 910-10,910-10.5 910-10 P 480 64441 1R12-556 85
SP3B32RA ABSP3B32RA-7859 3814-463 17 910-10,910-10 5 910-10P503 64444 | IRIZ-557 8
SP3B32RA ABSP3B32RA-7862 3B14-464 18 910-10,910-10 5 910-10P542 64658 |  IR12-555 8
BLUEBIRD 910-12 910-12A427 64395 1R12-367 89
990671 TR10-087 50 910-12 910-12P319 64445 | IRIZI2 8
1286814 IRT1-151 54 910-12 91012437 64446 | IRI2-309 84
12TA-1-2 1R12-095 83 910-12 910-12P 329 64447 1R12-355 89
300961250 1R12-095 83 91012 910-12P395 64451 | IRIZ-505 %
CHANCE BUS 910-12 910-12P488 64459 | IRIZ-487 8
23891728 1R11-152 54 910-12 910-12 P 495 64460 1R12-571 87
910-12 910-12P54 64463 | TRIZ-563 87
910-12 910124707 64633 | IRIZ:512 91

CROSS REFERENCE INFORMATION cont

Find Products and Order Online | www.infinityairsprings.com

COMPETITOR COMPETITOR GOODYEAR  PAGE COMPETITOR COMPETITOR GOODYEAR  PAGE
BELLOWS # # # # BELLOWS # # # #
CONTITECH CONT. CONTITECH CONT.
910-12 910-12P024 68009 | IRIZ-562 87 910-19 910-19P315 64279 | IRIZ-103 78
910-12P 543 TR12-1094 100 910-19 910-19P435 64268 | IRIZ-375 101
910-13.5/9 10-14 910-14 P 345 64258 1R12-352 89 910-19 910-19 P 326 64323 1R12-167 0BS 79
910-13.5/9 10-14 910-14 P 345 64258 1R12-421 49 910-19 910-19 P 355 64324 1R12-395 80
910-13.5/9 10-14 910-14P312 64274 | IRIZ-069 66 910-19 910-19P35 64325 | IRIZ-145 79
910-13.5/9 10-14 910-14P 312 64274 1R12-669 75 910-19 910-19 A 358 64327 1R12-261 80
910-13.5/9 10-14 910-14P 312 64274 1R12-676 92 910-19 910-19 A 358 64327 1R12-281 80
910-13.5/9 10-14 9101355433 64267 | IRIZ-T19 m 910-19 910-19P384 64329 | IRI2-480 81
910-13.5/9 10-14 9101355433 64267 | IRI3-239 m 910-19 910-19P390 64331 | 1R12-265 0BS 80
910-13.5/9 10-14 910-14A330 64464 1R12-370 89 910-19 910-19 P 390 64331 1R12-446 96
910-13.5/9 10-14 910-14P450 64472 | TRIZ-205 8 910-19 910-19P438 64335 | TRIZ-I9 79
910-13.5/9 10-14 910-14 P 461 64473 1R12-325 89 910-19 910-19 P 470 64338 1R12-439 81
910-13.5/9 10-14 910-14 P 462 64474 1R12-438 70 910-19 910-19 P 472 64339 1R12-568 82
910-13.5/9 10-14 910-14P465 64475 | TRIZ-620 92 910-19 910-19P552 64340 | TRIZ-644 9
910-13.5/9 10-14 910-14P469 64477 | IRIZ-434 % 910-19 910-19A552 64761 | IRIZ-613 82
910-13.5/9 10-14 910-14 P 490 64479 1R12-648 92 910-19 910-19 P 439 65356 1R12-357 0BS 80
910-13.5/9 10-14 910-14A496 o484 | TRIZAY7 % 910-19 910-19P801 65387 | IRIZ-467 81
910-13.5/9 10-14 910-14A545 64486 |  IRIZ-445 % 910-19 P 898 1R12-1097 102
910-13.5/9 10-14 910-14 A 545 64486 1R12-492 90 910-19 910-19 P 946 67479 1R12-142 78
910-13.5/9 10-14 910-14P 709 64632 1R12-285 68 910-19 910-19P 973 67703 1R12-208 79
910-13.5/9 10-14 910-14A575 65361 | IRIZ-543 9l 910-21 910-21P361 64291 | IRIZ-335 9
910-13.5/9 10-14 910-14 A 575 65361 1R12-636 92 910-21 910-21 P 360 64382 1R12-363 93
910-13.5/9 10-14 910-13.5P 874 68151 1R12-1047 100 910-21 910-21 P 360 64382 1R12-663 95
910-14P 577 1R12-1204 102 910-21 910-21P505 64384 |  IRIZ-256 %
910-14 P 882 1R12-1095 102 910-21 910-21 P 511 64385 1R12-637 94
910-16 910-16 P 408 64259 1R12-182 67 910B-17.5 910B-17.5A323 64371 1R13-117 103
910-16 910-16P407 64262 | TRIZ-09 67 9 10BP-20 910B-195P889 66908 |  IR12-432 101
910-16 910-16 P 310 64269 1R12-092 100 9 10BP-20 910B-19.5P 171 69310 1R12-523 102
910-16 910-16 P 310 64269 1R12-509 72 910D-21 910D-21 A 324 64375 1R13-115 103
910-16 910-16P409 64275 | TRI2-188 68 910021 910D21A363 64376 | IRI3-Tl6 103
910-16 910-16P410 64276 | TRIZ-365 69 9105-16 910-16A382 64266 |  TRIZ-603 9
910-16 910-16 P 325 64292 1R12-155 0BS 67 910S-16 910S-16 P 382 67473 1R12-303 98
910-16 910-16P325 64292 | TRI2-358 68 99-10 99-10P 538 65389 | IR11-222 57
910-16 910-16P332 64293 | IRIZ-621 97 99-10 99-10P 862 66113 | 1R11-220 56
910-16 910-16 P 333 64294 1R12-066 66 99-12 99-12P 314 64255 1R11-028 53
910-16 910-16 P 352 64297 1R12-356 68 99-12 99-12P 515 64256 1R11-242 57
910-16 910-16P353 64298 | IR12-130 67 99-12 99-12P 563 64286 | IR11-150 54
910-16 910-16 P 372 64301 1R12-220 68 99-12 99-12P 379 64361 1R12-178 84
910-16 910-16 P 376 64302 1R12-143 75 99-12 99-12P 401 64362 1R11-204 55
910-16 910-16P391 64304 | TRIZ-441 70 99-12 99-12P447 64363 | IR11-202 55
910-16 910-16 P 393 64306 1R12-567 74 99-12 99-12 P 464 64364 1R11-149 64
910-16 910-16P 416 64310 1R12-400 70 99-12 99-12P 477 64365 TR11-200 55
910-16 910-16P497 64314 | TR12-436 70 99-12 99-12P 478 64366 | R11-201 55
910-16 910-17.5P 436 64401 1R12-366 69 99-12 99-12P 479 64367 1R11-159 54
910-16 910-16 P 769 64650 1R12-541 73 99-12 99-12P 479 64367 1R11-203 55
910-175 910-175P429 64278 | IRI2-481 % 99-12 99-12P 516 64368 | R11-205 56
910-175 910-175P418 64334 | TRI2-450 % 99-12 99-12P 705 64627 | IRII-I7I 60
910-175 910-17.5P 426 64398 TR12-640 75 99-14 99-14A337 64379 1R11-039 62
910-175 910-175P428 64399 |  TR12-498 97 99-14 99-14A337 64379 | IRII-I2] 63
910-175 910-175P443 64402 | IRIZ-502 7 99-14 99-14P517 64381 | IRII-I9] 65
910-17.5 910-17.5P 445 64403 1R12-586 74 99-14 99-14P 708 64631 1R11-179 65
910-175 910-17.5P 454 64405 1R12-499 72 99-14 99-14P 895 67492 1R11-178 64
910-175 910-175P502 64409 |  TRIZ-504 8l 99-16 P 568 1R11-292 62
910-17.5 910-17.5 P 548 64412 1R12-532 97 99-9 99-9 P537 65367 1R11-221 56
910-175 910-17.5P 571 64415 1R12-554 73 999 99-9P 859 66109 1R11-268 57
910-175 910-175P573 64417 | IRIZS553 73 99-9 99-9 P 860 66112 | IR1I-219 56
910-17.5 910-17.5P 574 64418 1R12-484 A 9 9K-15 99K-15P 417 64386 1R11-166 64
910-175 910-17.5P 536 64423 1R11-252 59 9 9K-15 9 9K-15 P 424 64388 TR10-120 52
910175 910-175A802 64762 |  TRIZ-494 7 99K-15 99K-ISP425 64389 | TRI0IZ2 52
910-17.5 910-17.5A 930 67586 1R12-1048 95 FD 120-20 FD 120-20 509 64601 2B8-550 45
910-185 910-18.5P 456 64263 1R12-538 101 FD 200-19 FD 200-19 320 64267 2B9-200 20
910-185 910-185P451 64264 |  TRIZ-404 % FD 200-19 FD200-19310 64509 | 289239 2
910-185 910-185P519 64265 |  IRIZ-403 100 FD 200-19 FD200-19315 64510 | 289206 2
910-185 910-18.5 P 406 64277 1R12-424 66, 96 FD 200-19 FD 200-19 362 64511 2B9-210 2
910-185 910-185P520 6410 |  TRIZ-402 95 FD 200-19 FD200-19448 64512 | 289252 3
910-14P 577 1R12-1093 102 FD 200-19 FD200-19448 64512 | 289265 u
Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297

=
=
™
S
P
™




CROSS REFERENCE INFORMATION cont

COMPETITOR COMPETITOR GOODYEAR  PAGE COMPETITOR COMPETITOR GOODYEAR  PAGE COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE
BELLOWS # # # # BELLOWS # # # # BELLOWS # # # # BELLOWS # # # #

CONTITECH CONT. CONTITECH CONT. CONTITECH CONT. DAYTON CONT.
FD 200-19 FD200-19448 64512 | 289280 % FT 530-32 FTS30-32325 64503 | 3B14-359 22 910-19P762 TR12-534 % 354-7847 3814-367 3
FD 200-19 FD200-19450 64513 | 289230 2 FT 530-32 FT530-32329 64504 |  3B14-356 42 910-21P448 TR12-580 % 354-8008 3814-300 37
FD 200-19 FD200-19452 64514 | 2B9-246 2 FT 530-32 FT530-32333 64505 |  3B14-360 4 910-21P817 TR12-609 % 352-8050 1R14-039 123
FD 200-19 FD 200-19 499 64515 2B9-201 2 FT 530-32 FT530-32 336 64506 3B14-354 M 1010-155518 1R13-097 110 352-9039 1R12-095 83
FD 200-19 FD200-19504 64516 |  2B9-288 2 FT 530-35 FTS30-35436 64576 |  3B14-453 16 1010155962 1R13-097 110 352-9053 1R12-309 84
FD 200-19 FD200-19505 64517 | 289229 2 FT 530-35 FTS30-35441 64580 |  3B14-45 16 1010-165533 R13-176 109 352-9069 1R12-069 66
FD 200-19 FD 200-19 510 64519 2B9-245 2 FT 530-35 FT 530-35 455 64581 3B14-364 43 1010-165526 1R13-177 109 352-9069 1R12-669 75
FD 200-19 FD200-19713 67705 |  2B10-226 7 FT 530-35 FT530-35455 64581 |  3B14-457 17 110-5-19A960 1R14-151 115 352-9073 1R11-018 %
FD 330-22 FD330-22331 64268 | 2812406 30 FT 530-35 FT530-35456 64582 |  3B14-451 16 $29-0001 154-007 126 352-9082 1R12-092 100
FD 330-22 FD330-22313 64270 | 2812309 2 FT 530-35 FTS30-35457 64583 | 3814367 3 $29-0046 154123 128 352-9082 1R12-509 7
FD 330-22 FD330-22327 64283 | 2812300 7 FT 530-35 FT530-35457 64583 |  3B14-459 17 $29-0086 154-058 128 352-9083 1R12-066 66
FD 330-22 FD330-22318 64488 | 2812307 2 FT 530-35 FT530-35534 64587 |  3B14-d6d 18 $29-0086 154-175 129 352-909 1R12-358 68
FD 330-22 FD 330-22 334 64489 2B12-320 29 N/A FD 200-25 426 64549 2B9-250 23 SC29-W035 154.5-121 130 352-9101 1R12-103 78
FD 330-22 FD330-22343 64491 | 2812427 3l N/A FD200-25427 64550 | 289253 3 $C29-W087 155040 131 3529105 1R12-132 88
FD 330-22 FD330-22346 64492 | 2812410 30 N/A FD200-25428 64551 | 289255 u SC31-W206 155176 135 3529121 1R13-039 104
FD 330-22 FD 330-22 363 64493 2B12-425 31 N/A FD 200-25 429 64552 2B9-251 23 $C29-Y036 155-186 135 352-9122 1R13-038 108
FD 330-22 FD330-22364 64494 | 2812313 2 N/A FD200-25453 64553 | 289218 3 SC29-Y108 155.07 132 352-9130 1R12-281 80
FD 330-22 FD330-22365 64495 |  2B12-42 3l N/A FD200-25454 64554 | 289252 3 SC29-YG01 155-010 131 352-9148 1R14-026 n7
FD 330-22 FD330-22367 64497 | 2812319 V0 N/A FD200-25454 64554 | 289266 u SC31-B207 155175 135 352-9149 1R14-018 16
FD 330-22 FD330-22368 64498 |  2B12-432 3 N/A FD200-25463 64555 | 289254 2 SC31-¥205 155175 135 3529158 1R14-030 114
FD 330-22 FD330-22471 64499 | 2812412 30 67573 | TRI2-1093 102 SC31-¥215 155175 135 3529177 1R14-028 n7
FD 330-22 FD330-22472 64500 | 2812411 30 62561 | 154044 127 $270-5067 154-044 127 352-9194 1R12-356 68
FD 330-22 FD 330-22 500 64501 2B12-304 27 62844 154-035 127 S$270-5060P02 154-035 127 352-9200 1R14-038 112
FD 330-22 FD330-22540 64502 | 2B12-463 2 64290 | TRIZ-401 101 SZ70-5060P02 154123 128 352-9203 1R12-395 80
FD 330-22 FD330-22780 66300 | 2B12-429 3l 64312 | IRIZ15 101 S270-7065P02 1545121 130 352-9213 TR12-090 67
FD 330-30 FD330-22323 64531 |  2B12-305 19 64326 | TRI2-639 82 S270-8077P02 155-057 132 352-9215 1R14-037 112
FD 330-30 FD330-30340 64532 | 281234 19 64383 | TRI2-580 % FDI10-15766 286-535 4 352-9238 TR12-145 79
FD 330-30 FD 330-30 369 64533 2B12-416 3 64416 1R12-552 73 FD110-17A775 2B7-548 45 352-9321 1R12-261 80
FD 330-30 FD 330-30 369 64533 2B12-446 32 64418 1R12-486 A DANA/SPICER 3529415 1R11-018 49
FD 330-30 FD 330-30 370 64534 2B12-402 32 64435 1R12-561 86 SR1JAT00 1R13-188 110 352-9422 1R11-028 53
FD 330-30 FD330-30371 64535 | 2812434 2 6463 | TRIZ176 109 SRIVAIO1 1R13-174 109 DINA
FD 330-30 FD 330-30 372 64536 2B12-428 32 64638 1R13-177 109 SR1VAT01-1 1R13-188 110 A-8127-19 2B9-200 20
FD 330-30 FD 330-30 502 64539 2B12-317 19 64651 1R12-576 74 SR1VA105 1R13-188 110 AZ-8127-19 2B9-216 2
FD 33126 FD331-26480 64284 | 2B12-440 3 64708 | TRI2-534 % SRIVAI03 154-187 129 20279111 TR12-369 69
FD331-26 FD331-26514 64597 | 2B12:345 3 65649 | TR12-609 % DAYTON 224-8020018 1R13-133 106
FD 331-26 FD 331-26-541 64599 2B12-346 33 66094 2B6-535 44 354-6801 2B14-365 35 224-B020020 1R11-143 63
FD 530-22 FD530-22311 64543 |  2B14-360 34 67452 | 185176 135 354-6803 2814-366 3 224-B020030 TR10-099 51
FD 530-22 FD 530-22 316 64544 2B14-359 34 67451 185-175 135 354-6902 2B9-201 2 E-Z RIDE
FD 530-22 FD 530-22 321 64545 2B14-356 34 67547 1R14-151 15 354-6905 2B9-206 il 8030120 2B9-206 2
FD 530-22 FD530-22342 64546 | 2B14-355 34 67600 | TRI3-097 10 354-6910 289-200 2 8030150 2812-324 19
FD 530-22 FD530-22345 64547 |  2B14-367 3 6763 | 155-040 131 354-6947 289-255 2 8030160 2814-365 3
FD 530-22 FD530-22374 64548 |  2B14-354 3 67638 | 155175 135 3547112 1B14-358 2 8030170 3814-354 n
FD 530-30 FD530-30449 64589 |  2B14-366 ] 67667 | 287548 4 3547123 2814-367 3 8030180 3814-359 42
FD 530-30 FD530-30451 64590 | 2B14-365 35 67770 | 154007 126 3547135 2814-360 3 8030190 2812425 31
FD 530-30 FD530-30532 64593 |  2B14-462 3 67769 | 154123 128 3547136 2B14-356 3 8030192 1R12-309 84
FD 530-35 FD530-35530 64604 | 2B14-383 36 67852 | 155057 132 354-7140 2814-359 3 FAB TEK
FD 530-35 FD530-35543 64605 | 2B14-476 3 67858 | 154-058 128 3547145 2814-354 3 40080 2812309 2
FD 530-35 FD 530-35 544 64606 2B14-470 36 67851 154.5-121 130 354-7146 2B14-355 34 101827 1R12-095 83
FS 33011 FS330-11467 64594 | 1812322 19 67858 | 154175 129 3547181 2812411 30 101828 1R12-092 100
FS 33011 FS330-11468 64595 |  1B12-301 18 67882 | 155010 131 354-7183 2812412 30 101828 TR12-509 72 =
FS 33011 FS330-11474 6459 | 1B12:313 19 68161 | 155175 135 354-7400 2812309 2 10828 1R12-309 84 ]
FS 530-14 FS530-14339 64521 | 1814358 20 68162 | 15518 135 354-7403 2812307 2 FIRESTONE -
FS 530-14 FS530-14442 64523 | 1B14-350 2 68638 | IRI2-422 4 354-7404 2812410 30 6799 2B14-476 36 i
FS 530-14 FSS30-14447 64525 | 1B14-351 2 69075 | TR12-454 70 3547405 2812313 2 6800 2814-362 3 S
FT 330-29 FT330-29434 64285 | 3812303 37 99-14A322 1R12-018 4 354-7406 2812426 3l 6801 2814-365 3 ™
FT 330-29 FT330-29413 64560 |  3B12:319 38 910-10p397 TR12-561 8 354-7409 2812319 2 6803 2814-366 34
FT 330-29 FT330-29431 64562 |  3B12-300 37 910-124104 TR12-422 % 3547410 2B12-406 30 6805 2814-462 35
FT 330-29 FT330-29432 64563 | 3812301 37 910-16P130 TR12-454 70 354-7424 2812-300 7 6850 2812-463 2
FT 330-29 FT330-29466 64565 |  3B12:310 38 910-16P449 IR12-615 101 354-7429 2812427 3l 6897 289-229 2
FT 330-29 FT330-29503 64568 |  3B12-304 37 910-16P770 TR12-576 74 354-7437 2812320 29 6902 289-239 2
FT 330-29 FT330-29520 64570 | 3B12:335 3 910-175P715 TR12-485 n 354-7443 2812-305 19 6905 289-206 2
FT 330-29 FT330-29525 64571 |  3B12:312 38 910-17-5P572 TR12-552 73 3547446 2812-402 2 6908 289-210 2
FT 330-29 FT330-29546 64572 | 3B12-328 % 910-17-5P574 TR12-486 I 354-7447 2812-324 19 6910 289-200 20
FT 330-29 FT330-29547 64573 | 3B12:315 38 910-18-5P521 TR12-401 101 354-7798 3814-356 42 6920 1812-305 18
FT 330-29 FT330-29547 64573 | 3812329 3 910-19P357 TR12-639 82 354-7800 3814-360 42 6926 289-288 2
FT 330-29 FT330-29554 66522 | 3B12-415 a1 910-19P444 1R13-070 0BS 103 354-7818 3814-359 42 6927 289-218 23

152 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 153



CROSS REFERENCE INFORMATION cont CROSS REFERENCE INFORMATION cont

COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE
BELLOWS # # # # BELLOWS # # # # BELLOWS # # # # BELLOWS # # # #
FIRESTONE CONT. FIRESTONE CONT. FIRESTONE CONT. FIRESTONE CONT.
6928 289-225 2 7839 3B14-456 17 WO13587145 2814-354 3 W013588047 3812-326 40
6932 289-246 2 7843 3B14-457 17 WO13587146 2814-355 3 013588048 3812-325 40
6935 289-201 2 7846 3B14-451 16 WO13587180 2812425 3l 29 1R9-065 46
6940 2B9-230 22 7847 3B14-459 17 W013587181 2B12-411 30 5406 1R9-038 48
6941 289-280 2 7850 3B14-452 16 Wo13587183 2812412 20 5409 1R9-003 a7
6943 289-250 23 7855 3B14-462 17 Wo13587184 2812429 3l 5410 1R9-070 48
6944 2B9-252 23 7859 3B14-463 17 W013587185 2B12-318 29 5503 1R14-174 116
6945 289-253 23 7862 3B14-464 18 WO13587325 288-550 45 5505 1R14-113 120
6946 289-254 2 7990 3812329 % WO13587344 2812-304 2 5710 1R8-034 46
6947 289-255 2 7994 3812-328 3 WO13587400 2812309 2 5730 R8-034 46
6948 289-251 23 7996 3812-335 3 WO13587401 2812:320 2 5739 1R11-088 62
7009 1812-301 18 8006 3812-304 37 WO13587403 2812307 2 5766 IRT1-161 60
7043 1B12-305 18 8008 3B12-300 37 W013587404 2B12-410 30 5770 1R10-101 58
7103 1B14-350 20 8010 3812-301 37 WO13587405 2812313 2 5779 1R12-303 9
7105 1814-351 20 8018 3812-303 37 WO13587406 2812426 3l 8050 1R14-039 123
7112 1B14-358 20 8025 3B12-300 37 W013587409 2B12-319 29 8052 1R14-042 112
79 289-240 2 8027 3812310 38 W13587410 2812406 30 8091 R14-171 123
nms 2814-367 % 8030 3812-301 37 WO13587423 2812432 31 8197 1R12-562 87
7124 2812340 29 8032 3812319 38 Wo13587424 2812300 2 8204 1R12-508 8
7133 2B14-367 35 8033 3B12-312 38 W013587429 2B12-427 31 8708 1R13-177 109
735 2814-360 3 8038 3812415 4 WO13587437 2812:320 29 8709 1R13-159 108
7136 2814-356 34 8039 3812416 4 WO13587443 2812-305 19 8710 1R13-124 103
7140 2B14-359 34 8042 3B12-322 40 W013587444 2B12-416 33 8713 1R13-176 109
7145 2814-354 3 8043 3812323 40 WO13587444 2812446 32 8729 1R13-130 106
7146 2814-355 3 8047 3812-326 40 WO13587446 2812402 2 8748 1R13-152 107
7180 2812425 31 8048 3812-325 40 WO13587447 2812324 19 8749 1R13-153 107
7181 2812411 20 W013586799 2B14-476 36 WO13587472 2812434 2 8751 1R13-159 108
7183 2812412 30 WO13586801 2B14-365 3 Wo13587473 2812428 3 8752 1R13-138 104
7184 2812429 3l W013586803 2B14-366 3 WO13587499 2812317 19 8754 1R13-053 105
7185 2812318 2 013586805 2B14-462 36 WO13587545 2812:345 3 8755 1R13-124 103
7325 288-550 I 013586850 2B12-463 2 WO13587550 2812-346 3 8778 1R14-130 118
7344 2B12-304 27 W013586897 2B9-229 25 W013587555 2B12-440 33 8782 1R13-109 110
7400 2812309 28 013586902 289-239 2 W013587557 2814383 3 8792 TR14-045 115
7401 2812320 2 013586905 289-206 2 WO13587782 2B14-470 3 8802 1R12-434 )
7403 2812307 2 W013586908 289-210 2 Wo13587788 289-245 2 8805 1R12-438 70
7404 2B12-410 30 W013586910 2B9-200 20 W013587790 2B12-324 19 8806 1R12-445 90
7405 2812313 28 W013586920 1B12-305 18 WO13587795 2810-226 2 8829 1R12-615 101
7406 2812426 31 W013586926 289-288 2 Wo13587798 3814-356 42 8852 1R12-568 8
7409 2B12-319 29 W013586927 2B9-218 23 W013587800 3B14-360 4 8899 1R10-108 51
7410 2812-406 20 013586928 289-225 2 WO13587608 3814-354 a 8900 1R11-204 55
7423 2812432 3l W013586932 289-246 2 Wo13587816 3814-359 42 8901 1R11-149 64
7424 2B12-300 27 W013586935 2B9-201 2 W013587818 3B14-359 4 8919 1R11-191 65
7429 2812427 3l 013586940 289-230 2 WO13587638 3814-453 16 8924 1R12-436 70
7437 2812320 29 WO13586941 289-265 2 Wo13587843 3814457 17 8934 1R12-563 87
7443 2B12-305 19 W013586941 2B9-280 25 W013587845 3B14-450 16 8944 1R12-366 69
7444 2812416 3 013586943 289-250 3 WO13587846 3814-451 16 8961 TR12-555 85
7444 2B12-446 2 WO13586944 289-252 3 WO13587847 3B14-459 17 8964 1R12-556 85
7446 2B12-402 32 W013586944 2B9-266 24 W013587850 3B14-452 16 8976 1R12-557 86
7447 2812324 19 W013586945 289-253 3 WO13587862 3814-464 18 8986 1R12-558 86
7472 2812434 2 W013586946 289-254 il WO13587990 3812329 3 8997 1R9-065 4 =9
7473 2812428 2 W013586947 289-255 2 WO13587994 3812-328 % 9010 1R12-421 4 ]
7499 2B12-317 19 W013586948 2B9-251 23 W013587995 3B12-329 39 9015 1R12-366 69 ;
7545 2812345 3 W013587008 1812-313 19 WO1358799% 3812-335 % 9017 1R10-085 50 i
7550 2812-346 33 W013587009 1812-301 18 W013588006 3812-304 37 9017 1R10-089 50 S
7555 2812440 3 WO13587043 1B12-305 18 W013588008 3812-300 1) 9018 1R12-304 76 ™
7557 2814-383 36 W013587103 1B14-350 2 WO13588010 3812-301 37 9026 1R12-567 74
7782 2814470 3 13587104 1814-351 2 Wo13588018 3812-303 1) 9029 1R12-559 8
7788 2B9-245 22 W013587105 1B14-351 20 W013588025 3B12-300 37 9031 1R12-350 76
779 2812324 19 W013587112 1B14-358 2 WO13588027 3812310 3 9033 1R12-351 7
779 2810-226 27 W013587119 289-240 2 Wo13588030 3812-301 37 9039 1R12-095 8
7798 3B14-356 42 W013587123 2B14-367 35 W013588032 3B12-319 38 9043 1R10-105 51
7800 3814-360 42 013587124 2812-340 2 W013588033 3812312 3 9053 1R12-309 8
7808 3814-354 41 W013587133 2814367 3% W013588038 3812415 41 9067 1R10-089 50
7816 3B14-359 42 W013587135 2B14-360 34 W013588039 3B12-416 4 9069 1R12-069 66
7818 3814-359 42 W13587136 2B14-356 34 WO13588042 3812322 40 9069 1R12-669 75
7838 3814453 16 W13587140 2814-359 3 WO13588043 3812323 40 9069 1R12-676 92

154 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 155



CROSS REFERENCE INFORMATION cont CROSS REFERENCE INFORMATION cont

COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE
BELLOWS # # # # BELLOWS # # # # BELLOWS # # # # BELLOWS # # # #
FIRESTONE CONT. FIRESTONE CONT. FIRESTONE CONT. FIRESTONE CONT.
9070 TRI2-370 89 9334 1R12-435 106 9921 TR12-502 72 Wo13589015 1R12-366 69
9077 1R12-359 7 9335 1R12-620 9 9922 1R12-498 97 Wo13589017 1R10-085 50
9078 1R12-355 89 9336 1R12-648 92 9923 TR12-481 % Wo13589017 1R10-089 50
9082 1R12-092 100 9346 1R12-439 81 9935 1R12-532 97 W013589018 1R12-304 76
9082 1R12-509 7 9348 1R12:357 80 9936 TR12-499 72 Wo13589026 1R12-567 74
9083 TR12-066 66 9349 1R12-195 79 9961 1R14-115 118 013589029 1R12-559 86
9092 1R12-220 68 9362 1R12-441 70 9974 1R12-1048 95 W013589031 1R12-350 76
9093 1R12-621 97 9365 1R12:571 87 Wo13582119 1R9-065 46 Wo13589033 1R12-351 77
9096 1R12-155 67 9366 1R12-487 85 WO13585406 1R9-038 48 WO13589039 1R12-095 83
9096 1R12-358 68 9367 1R12-256 93 W013585409 1R9-003 47 W013589053 1R12-309 84
9100 1R12-076 87 9370 1R12-580 9 Wo13585410 1R9-070 48 Wo13589067 1R10-089 50
9101 1R12-103 78 9371 1R12-401 101 WO13585435 1R9-003 a7 WO13589069 1R12-069 66
9105 1R12-132 88 9373 1R12-403 100 W013585503 1R14-174 116 W013589069 1R12-669 75
9113 1R12-132 8 9375 1R12-404 % WO13585505 1R14-113 120 Wo13589069 1R12-676 92
9115 1R10-019 57 9376 1R11-200 55 Wo13585710 1R8-034 4 Wo13589070 1R12:370 89
Lavil 1R13-039 104 9377 1R11-201 55 W013585730 1R8-034 46 W013589077 1R12-359 77
9122 1R14-045 15 9378 1R11-202 55 Wo13585739 1R11-088 62 Wo13589078 1R12-355 89
9127 1R12:512 9 9379 1R12-178 8 WO13585766 IRT1-161 60 013589082 1R12-092 100
9130 1R12-281 80 9330 TR10-091 51 Wo13585770 1R10-101 58 Wo13589082 1R12-509 7
9134 1R14-137 118 9386 1R10-089 50 Wo13588050 1R14-039 123 013589083 1R12-066 66
9144 1R14-160 19 937 IRT1-159 54 013588052 1R14-042 112 Wo13589092 1R12-220 68
9148 1R14-026 n7 9387 1R11-203 55 Wo13588091 1R14-171 123 Wo13589093 1R12-621 97
9149 1R14-018 116 9392 1R12-143 75 W013588197 1R12-562 87 W013589096 1R12-155 67
9152 1R14-019 14 9394 1R12-281 80 013588204 1R12-508 85 Wo13589096 1R12-358 68
9158 1R14-030 14 9415 1R11-018 # Wo13588616 1R11-249 61 Wo13589100 1R12-076 87
9164 1R14-159 19 9421 R11-171 60 W013588708 1R13-177 109 W013589101 1R12-103 78
9177 1R14-028 1 9422 1R11-028 53 W013588709 1R13-159 108 Wo13589102 1R12-113 78
9179 1R14-028 17 9436 1R10-089 50 Wo13588710 1R13-124 103 WO13589105 1R12-132 88
9192 1R12-185 79 9439 1R11-039 62 W013588713 1R13-176 109 W013589115 1R10-019 57
9194 1R12-356 68 9441 1R11-121 63 013588729 1R13-130 106 Wo13589121 1R13-039 104
9200 1R14-038 112 9447 1R11-066 53 W013588740 1R13-210 m Wo13589122 1R14-045 115
9203 1R12-395 80 9448 1R11-150 54 W013588746 1R13-208 107 W013589127 1R12-512 91
9213 1R12-090 67 9457 IRT1-151 54 Wo13588748 1R13-152 107 Wo13589130 1R12-281 80
9215 1R14-037 112 9459 IRT1-152 54 W013588749 1R13-153 107 Wo13589134 1R14-137 118
9218 1R13-120 106 9466 1R12-365 6 Wo13588751 1R13-159 108 Wo13589141 1R14-215 19
9219 1R12-182 67 9469 1R11-223 61 W013588752 1R13-138 104 W013589144 1R13-047 104
9223 1R12-168 68 9471 1R12-504 Bl 013588753 1R13-207 110 Wo13589144 1R14-160 19
9227 1R12-130 67 9471 1R12-552 73 WO13588754 1R13-053 105 WO13589148 1R14-026 17
9236HR 1R10-089 50 9472 1R12-553 73 W013588755 1R13-124 103 W013589149 1R14-018 116
9238 1R12-145 79 9473 1R12-586 74 Wo13588774 1R14-172 121 WO13589152 TR14-019 114
9241 1R12-261 80 9476 1R11-205 56 Wo13588778 1R14-130 118 W013589158 1R14-030 114
9243 1R12-480 81 9491 1R12-553 73 W013588782 1R13-109 110 W013589164 1R14-159 19
9245 TR12-446 % 9501 1R12-552 73 W013588792 1R14-045 115 W013589177 1R14-028 17
9250 IRI3-115 103 9541 1R11-268 57 013588802 1R12-434 9 WO13589179 1R14-028 17
9252 1R13-116 103 9542 1R11-268 57 W013588805 1R12-438 70 W013589192 1R12-185 79
9262 1R13-118 106 9547 TR11-268 57 013588806 1R12-445 9 W013589194 TR12-356 68
9264 1R14-127 120 9565 1R12-324 84 W013588806 1R12-492 9 W013589200 1R14-038 112
9265 1R12-375 101 9566 1R12-204 84 W013588829 1R12-615 101 W013589203 1R12-395 80
9270 1R13-239 m 9567 1R12-325 89 013588852 1R12-568 82 W13589210 TR12-645 93
9275 1R13-117 103 9568 1R12-205 88 013588855 1R12-644 9 013589213 TR12-090 67 )
9287 1R12-424 66,96 9580 1R13-118 106 013588899 1R10-108 51 W013589215 1R14-037 112 -
9291 1R10-122 52 9610 1R10-089 50 W013588900 1R11-204 55 W013589218 1R13-120 106 ;
9293 1R10-120 52 %16 1R11-242 57 Wo13588901 1R11-149 64 W013589219 TR12-182 67 i
9295 IRT1-166 64 %17 1R11-219 56 W013588903 1R11-252 59 013589223 1R12-188 68 S
9296 1R12-400 70 9618 1R11-220 56 W013588919 1R11-191 65 W013589227 1R12-130 67 ™
9297 TR12-402 9 9622 1R11-221 56 013588924 1R12-436 0 W013589236 TR10-089 50
9299 TR12-366 69 925 1R11-222 57 013588934 1R12-563 87 W013589238 1R12-145 79
9302 1R12-132 88 9634 1R12-636 92 W013588944 1R12-366 69 W013589240 1R12-639 82
9303 1R12-132 8 9640 1R12-367 89 Wo13588961 1R12-555 85 W013589241 1R12-142 78
9306 1R12-530 7 9648 1R12-538 101 013588963 1R12-465 85 13589241 1R12-261 80
9307 1R12-435 106 9650 1R11-225 59 W013588964 1R12-556 85 W013589243 1R12-480 81
9308 TR12-560 8 975 1R11-221 56 Wo13588976 1R12-557 86 13589245 TR12-446 %
9320 1R12-363 9 9780 1R12-303 9 013588986 1R12-558 86 013589250 IRI3-115 103
9321 1R12-335 93 9781 1R12-603 99 W013588997 1R9-065 46 W013589252 1R13-116 103
9325 TR12-505 9 9797 1R12-437 % Wo13589010 1R12-352 89 13589264 1R14-127 120
9332 TR12-561 8 9807 1R12-1047 100 Wo13589010 1R12-421 % WO13589265 1R12-375 101

156 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFiNITY 157



CROSS REFERENCE INFORMATION cont

COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE
BELLOWS # # # # BELLOWS # # # #
FIRESTONE CONT. FIRESTONE CONT.
W013589270 TRI3-119 m Wo13589547 1R11-268 57
W013589270 1R13-239 m WO13589565 1R12-324 84
W013589275 1R13-117 103 W013589566 1R12-204 84
W013589287 1R12-424 66, 96 W013589567 1R12-325 89
Wo13589291 1R10-122 52 WO13589568 1R12-205 88
W013589293 1R10-120 52 WO13589580 1R13-118 106
W013589295 1R11-166 64 W013589592 1R10-133 52
Wo13589296 TR12-400 0 Wo13589610 1R10-089 50
W013589297 1R12-402 95 W013589616 1R11-242 57
W013589299 1R12-366 69 W013589617 1R11-219 56
W013589302 TR12-132 88 Wo13589618 1R11-220 56
W013589306 1R12-530 77 W013589622 1R11-221 56
W013589307 1R12-508 85 W013589625 1R11-222 57
W013589308 TR12-560 86 WO13589634 1R12-636 92
W013589320 1R12-363 9 WO13589640 1R12-367 89
W013589320 1R12-663 95 W013589648 1R12-538 101
Wo13589321 TR12-256 93 Wo13589650 1R11-225 59
Wo13589321 1R12-335 93 WO13589675 1R11-221 56
WO13589325 1R12-505 % Wo13589780 1R12-303 9
W013589332 1R12-561 86 W013589781 1R12-603 99
WO13589334 TR12-508 8 Wo13589797 1R12-437 9
WO13589335 1R12-620 92 WO13589807 1R12-1047 100
W013589336 1R12-648 92 W013589902 1R12-640 75
W013589338 TR12-637 % Wo13589921 1R12-502 72
WO13589342 TR12-450 % 013589922 1R12-498 97
W013589346 1R12-439 81 W013589923 1R12-481 96
W013589348 TR12-357 80 Wo13589935 1R12-532 97
WO13589349 1R12-195 79 WO13589936 1R12-499 72
W013589362 1R12-441 70 W013589961 1R14-115 118
WO13589365 TR12-571 87 Wo13589974 1R12-1048 9
WO13589366 1R12-487 85 WO15449542 1R11-268 57
W013589367 1R12-256 93 WO0TW359385 1R11-178 64
Wo13589370 TR12-580 9 WOIW359465 1R11-179 65
WO13589371 TR12-401 101 W359060 1R12-265 68
WO13589373 TR12-403 100 3000 153013 126
W013589375 TR12-404 96 3001 153-013 126
WO13589376 TR11-200 55 4001 153011 126
W013589377 1R11-201 55 7001 154-007 126
W013589378 1R11-202 55 7002 154-007 126
WO13589379 1R12-178 84 7003 154-035 127
WO13589380 TR10-091 51 7007 154-067 128
013589386 TR10-089 50 7010 154-008 126
Wo13589387 TR11-159 54 7014 155-120 133
W013589387 1R11-203 55 7017 155-006 131
W013589392 1R12-143 75 7017 155-120 133
WO13589394 1R12-281 80 7031 154-007 126
WO13589415 TR11-018 49 7035 1545-121 130
W013589421 1R11-171 60 7036 155-186 135
WO13589422 TR11-028 53 7040 154-056 127
WO13589436 TR10-089 50 7042 155-120 13
WO13589439 TR11-039 62 7044 155-120 133
W013589441 1R11-121 63 7050 154-035 127
WO13589447 TR11-066 53 7055 154-035 127
W013589448 1R11-150 54 7056 154.5-113 130
W013589457 1R11-151 54 7064 155-157 134
WO13589459 R11-152 54 7080 1545107 130
W013589466 1R12-365 69 7081 155-038 131
W013589469 1R11-223 61 7086 154-058 128
WO13589470 TR12-554 73 7087 155-040 131
W013589471 1R12-504 81 7108 155-057 132
W013589471 1R12-552 73 7110 155-152 134
WO13589472 TR12-553 73 7202 155-176 135
WO13589473 TR12-586 74 7205 155-175 135
W013589476 TR11-205 56 7206 155-176 135
Wo13589491 TR12-553 73 7207 155-175 135
WO13589542 R11-268 57 7215 155-175 135

CROSS REFERENCE INFORMATION cont

Find Products and Order Online | www.infinityairsprings.com

COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE
BELLOWS # # # # BELLOWS # # # #
FIRESTONE CONT. FLEETRITE CONT.
W023583000 153013 126 289-491 289-201 7
Wo23583001 153-013 126 289-490 289-229 2
W023584001 153-011 126 FLXIBLE
Wo23587001 154-007 126 6-336-13 2812-304 7
Wo23587002 154-007 126 6-336-5 2812-304 Vi
W023587003 154-035 127 6-304-156 1R8-034 46
W023587007 154-067 128 6-304-157 1R10-089 50
Wo23587010 154-008 126 6:336-11 1R9-003 47
W023587014 155-006 131 6-336-15 1R10-091 51
W023587014 155-120 133 6-336-166 1R9-047 47
Wo23587017 155-006 131 6:336-174 1R10-089 50
Wo23587017 155-120 133 6:336-175 1R8-034 4
W023587031 154-007 126 6-336-182 1R10-091 51
Wo23587035 1545121 130 6-336-183 1R14-112 120
Wo23587036 155-186 135 6-336-200 IR11-121 63
W023587040 154-056 127 6-336-202 1R12-095 83
Wo23587042 155-006 131 6-336-209 1R10-019 57
W023587042 155-120 133 6-336-212 1R10-087 50
W023587044 155-006 131 6-841-92 1R10-089 50
W023587044 155-120 133 87-0808-0000 1R14-101 17
Wo23587046 154123 128 97240153 1R10-085 50
W023587050 154-035 127 97240153 1R10-089 50
W023587055 154-035 127 97-2410-00006 1R12-169 88
Wo23587056 1545-113 130 97.2410-1 1R12-169 88
W023587080 1545-107 130 97-2410-2 1R12-169 88
W023587081 155-038 131 97-2410-3 1R12-169 88
Wo23587086 154-058 128 97-2410-4 1R12-169 88
W023587087 155-040 131 97-2410-5 1R12-169 88
W023587108 155-057 132 97-5382-001 1R14-101 17
W023587110 155-152 134 97-6693-1 1R12-169 88
W23587202 155-176 135 97-6694-1 1R14-101 17
W023587205 185-175 135 97-9999-0218 1R12-383 77
Wo23587206 155-176 135 T14-1035 1R12-124 118
Wo23587207 155-175 135 97-9999-0186 154-007 126
W023587215 185-175 135 FREIGHTLINER
W01-358-7897 289-495 7 16-10769-000 2812309 28
W01-358-8203 1R12-1094 100 16-11378-000 2B12-406 30
W01-358-8813 1R12-1204 102 16-14318-000 289-201 2
WO01-358-8864 1R12-1097 102 16-13810-000 1R12-303 98
WO1-358-9626 TR11-292 62 16-13810-001 1R12-303 9
WO1-358-9663 1R12-1093 102 16-13810-002 1R12-303 9
WO01-358-9697 1R12-1095 102 16-14377-000 1R12-303 98
Wo2-358-7093 155-190 136 16-15595-000 1R12-303 9
W2-358-7132 154-234 129 16-15595-001 1R12-303 9
W02-358-7155 154-235 129 16-15595-002 1R12-303 9
FLEETRITE 16-16825-000 1R12-303 9
1R11-278 TR11-028 53 16-19465-000 1R12-603 9
1R12-1052 1R12-069 66 16-19468-000 1R12-303 98
1R12-1053 TR12-092 100 16-18335-000 1R12-303 %
1R12-1054 1R12-303 9 18-18335-001 1R12-303 9
1R12-1055 1R12-375 101 6813200017 1R12-603 99
1R12-1056 1R12-403 100 A16-14004-00 1R12-603 99
1R12-1057 1R12-538 101 A16-14004-00 1R12-603 9
1R12-1058 1R12-568 82 18-29919-000 155-176 135
1R12-1059 1R12-615 101 18-40977-000 155-175 135
1R12-1060 1R12-090 67 18-41909-0 155-173 135
1R12-1061 1R12-095 83 18-52651-000 155-175 135
1R12-1062 1R12-401 101 20-12461 154-030 127
1R12-1063 1R12-404 % GYRIS5040 155-040 131
1R12-1064 1R12-603 9 GYR1S5045 155-045 132
1R13-246 1R13-038 108 GYRIS6031 156-031 136
1R13-247 1R13-118 106 FRUEHAUF
1R13-249 1R13-159 108 UAB-5620 2812411 30
1R13-250 1R13-177 109 UCA-0112 2B12-412 30
1R14-241 1R14-039 123 UCA-0112B 2B12-412 30
1R14-242 1R14-171 123 UCC-3054-1 2B12-411 30
Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 A 159

=
=
™
S
P
™




CROSS REFERENCE INFORMATION cont

CROSS REFERENCE INFORMATION cont

COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE
BELLOWS # # # # BELLOWS # # # #
FRUEHAUF CONT. GMC CONT.
MFR-022354 TR12-359 7 61019452 1R10-087 50
MFR-022355 1R12-355 89 61020956 1R12:511 76
UCB-4453-1 1R12-359 77 61020957 1R10-090 50
UCB-9668-1 1R12-355 89 61050310 1R14-112 120
UCE-1304-1 TR12-155 67 65008051 1R8-034 46
UCE-1034-1 1R12-358 68 GRANNING
UCE-1304-2 1R12-309 84 1014 3814-359 42
UCE-9393-1 1R12-281 80 1015 2814-359 3
UCE-9393-3 1R12-281 80 1218 2812-305 19
UCE-9393-4 1R12-281 80 1371 2B9-200 20
GILLIG 1476 3814-359 42
53-13187 RI1-121 63 1589 2812-305 19
53-13188 1R14-018 116 1613 3B14-356 2
53-14006 1R11-121 63 1626 2B14-356 34
53-20415-000 1R14-094 112 275 2812-307 2
53-8212 IR11-121 63 272 2812-309 2
82-19159-000 1R12-1094 100 4514 3B14-360 LY}
87-17289 1R12-505 % 4848 289-201 2
GMC 8221 3812-335 %
2076095 2812320 2 1359 1R12-066 66
693230 2812309 28 1528 1R12-066 66
711954 2812320 2 1971 1R9-038 48
10530086 1R8-034 46 212 1R9-070 48
10530087 TR10-089 50 777 1R12-092 100
10530087 1R10-090 50 27 1R12-509 7
15504181 1R12-511 76 5065 1R12-132 88
15963160 1R12-424 66,9 5112 1R9-065 4
2021085 1R9-038 48 B59 1R12-066 66
2052623 1R14-112 120 HDA
2054879 1R14-112 120 PMABG-6902 289-201 7
2090412 1R14-112 120 PMABG-6910 289-200 20
2475408 1R10-019 57 PMABG-7136 2B14-356 34
6617550 1R8-034 46 PMABG-7140 2B14-359 34
661756 TR10-089 50 PMABG-7400 2812-309 28
661756 1R10-090 50 PMABG-7401 2B12-320 29
661759A TR10-085 50 PMABG-7403 2B12-307 28
661759¢ TR10-085 50 PMABG-7424 2812-300 7
662743 1R9-003 4 PMABG-7446 2812-402 2
662744 1R10-091 51 PMABG-7798 3B14-356 LY}
667302 TR10-085 50 PMABG-9039 1R12-095 8
6675124 1R9-038 48 PMABG-9082 1R12-092 100
667512C 1R9-038 48 PMABG-9082 1R12-509 72
667513A 1R10-030 58 PMABG-9105 1R12-132 88
667513C TR10-030 58 PMABG-9123 1R13-039 104
672755 1R9-053 a7 PMABG-9177 1R14-028 17
677302 1R10-085 50 HENDRICKSON
677302 TR10-089 50 1015 3812322 40
684192 1R10-089 50 1475 2B12-324 19
684192 1R10-090 50 1796 2B12-345 33
684193 TR10-089 50 20018 2812440 3
684193 TR10-090 50 365145 2B12-434 2
684195-3 1R10-089 50 45843-1 2B9-206 il
684242 TR10-019 57 458433 289-200 2
698634 1R8-034 46 5079 287-548 4
6989635 1R10-090 50 B-1080 2B14-356 34
716110 TR10-019 57 B-1159 2812:307 2
716111 1R9-038 48 B-11637 3812-300 37
720414 1R10-030 58 B-12405 3B12-319 38
8870484 1R8-034 46 B-12514-005 2B12-434 32
8870485 TR10-089 50 B-12514-014 2814-360 3
8875032 1R10-085 50 B-1345 2812410 30
8875032 1R10-089 50 B-14486 2B10-226 27
61015009 TR12:511 76 B-14487 3812312 38
61017370 1R14-112 120 B-2630 2B9-201 il
61019449 1R10-085 50 B-2734 2B14-365 35
61019450 1R10-090 50 B-2883 2B12-307 28

Find Products and Order Online | www.infinityairsprings.com

COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE
BELLOWS # # # # BELLOWS # # # #
HENDRICKSON CONT. HENDRICKSON CONT.
B-3184 2814359 3 B-3839 1R14-038 112
B-3518 289-206 2 B-3842 1R12-103 78
B-3798 2812402 2 B-4375 1R12-256 9
B-5270 2B9-206 2 B-4771 1R14-039 123
B-5468 2812410 20 B-4773 1R12-143 75
B-6242 2B12-324 19 B-5060 1R12-145 79
B-6412 2B14-366 34 B-7128 1R14-019 114
B-6861 3814-359 42 B-7193 1R11-018 %
B-7100 3B14-364 43 B-8988 1R12-195 79
B-8701 2B9-255 24 B-9001 1R14-052 112
B-8768 289-200 20 (10443 1R12-208 79
B-8874 3B14-367 43 C-13122 1R14-127 120
B-9830 2B12-416 33 €-20010 1R13-119 m
B-9830 2812446 32 (20124 1R12-375 101
c1013 2812309 2 20127 1R13-118 106
S-12405 3B12-319 38 C-20217 1R12-366 69
5-14795 3812323 40 (20223 1R12-367 89
57853 3B14-451 16 (20414 1R13-118 106
1R13-102 1R13-239 m (-20900 1R13-159 108
20413 1R12-375 101 €-20901 1R14-171 123
29892 TR13-118 106 (21208 1R13-239 m
36514-1 1R14-030 114 (-21623 1R13-124 103
36514-12 1R14-042 112 C-21800 1R13-159 108
36514-13 TR14-039 123 (21966 1R13-177 109
36514-2 1R14-045 115 (-22045 1R13-124 103
36514-3 1R12-132 88 (-22046 1R13-124 103
36514-4 TR14-030 114 22173 1R13-038 108
36514-7 1R12-092 100 (-22948 1R13-176 109
36514-7 1R12-509 72 (-25873 1R14-172 121
36514-8 TR14-045 115 5-20010 1R13-119 m
48195 1R12-188 68 5-20228 1R12-563 87
49048 1R12-365 69 $20901 1R14-171 123
49674 TR12-365 69 s23114 289-495 27
50405 1R12-424 66,96 $23720 1R11-292 62
50405-1 1R12-424 66, 96 S-24445 1R14-240 122
50405-2 1R12-424 66, 96 S-24446 1R14-236 122
50898-1 1R12-402 % 5-25559 1R13-239 m
50898-2 1R12-402 95 S-25871 1R13-237 m
50899-1 1R12-404 96 S-25872 1R13-235 m
50899-2 TR12-404 % 5-29892 TR13-188 110
56917-1 1R12-620 92 S-3467 1R13-038 108
56917-2 1R12-620 92 S-3830 1R13-038 108
571221 TR12-403 100 56195 1R12-185 79
60271-2 1R12-1093 102 HISTEER
65086-2 1R12-620 92 10301 3B14-452 16
B-11650 1R12-095 8 10302 289-252 23
B-12353 1R12-220 68 10302 289-280 2
B-1245 1R12-132 88 10303 3B12-303 37
B-12514-004 1R14-030 114 10303 3812416 41
B-12514-008 1R13-038 108 10307 289-266 2
B-12514-012 1R14-042 112 10313 3B12-415 41
B-14249 1R12-256 93 10315 2B12-346 33
B-2063 1R14-030 114 10316 2814-383 3
B-2064 1R12-095 83 HOLLAND HITCH
B-2065 1R14-028 17 4514 3B14-360 42
B-2066 1R12-092 100 90557329 1R12-1095 102
B-2066 1R12-509 7 HUTCHENS IND.
B-22046 1R13-124 103 10384-01 2B12-313 28
B-2394 1R9-065 46 19141-01 1R11-161 60
B-2694 1R12-395 80 942401 TR12-095 83
B-2827 1R12-352 89 9424-03 1R12-095 83
B-2924 TR12-130 67 9424-1 1R12-097 83
B-3411 TR13-039 104 9630-01 TR12-092 100
B-3467 1R14-045 115 9630-01 1R12-509 72
B-3648 1R14-037 112 9630-03 1R12-093 67
B-3830 1R13-038 108
Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 A 161

=
=
™
S
P
™




CROSS REFERENCE INFORMATION cont CROSS REFERENCE INFORMATION cont

COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE
BELLOWS # # # # BELLOWS # # # # BELLOWS # # # # BELLOWS # # # #

INT'L/NAVISTAR INT'L/NAVISTAR CONT. LINK CAB & SEAT SPRINGS CONT. LOAD GUARD CONT.
168175001 2812432 3l 51755909 1R12-092 100 1101-0041 155-006 131 SC2040 1R13-039 104
168175101 2812-434 2 51755909 1R12-509 7 1101-0042 155-032 131 SC2041 1R13-038 108
1685175C1 289-206 2 55476101 1R11-018 % 1101-0043 155-038 131 502042 1R14-026 n7
1685176C1 2B9-218 23 554762C1 1R11-028 53 1101-0044 155-135 134 $C2043 1R14-018 116
16851771 2812313 2 5547631 1R12-066 66 1101-0045 155-133 133 SC2044 1R14-019 114
1685178C1 2812319 2 554764C1 1R12-069 66 1101-0060 156-046 137 5C2045 1R14-030 114
1685179C1 2B12-425 31 554764C1 1R12-669 75 1101-A042 155-032 131 SC2046 1R14-028 17
16851801 2812-426 3l 554765C1 1R12-093 67 1102-0022 154123 128 SC2047 1R14-037 112
1685181C1 2812427 3l 554766C1 1R12-095 8 1102-0023 154-007 126 5C2048 1R12-090 67
1685182C1 2B12-428 32 554767C1 1R12-097 83 1102-0043 154.5-113 130 $C2049 1R11-018 49
16851831 2814-365 3 554768C1 1R12-103 78 1102-0074 155-157 134 52050 R11-028 53
16851841 2814-367 35 5547691 1R12-113 78 LOAD GUARD 52052 1R14-039 123
55478201 1B14-358 20 554770C1 1R12-132 88 SC2010 2B9-201 2 $C2053 1R12-113 78
5547831 289-200 2 55477201 1R13-038 108 SC2011 289-200 2 SC2054 1R12-093 67
5547851 2812300 7 55477301 1R13-039 104 sc012 1B14-358 20 52055 TR13-049 104
554786(1 2B12-305 19 55477401 1R13-048 108 SC2013 2B14-360 34 SC2056 1R13-048 108
554787C1 2812-307 2 554775C1 TR13-049 104 SC2014 2B14-356 3 52058 1R12-097 8
5547851 2812-309 2 554776C1 1R14-018 16 sc015 2814-359 3 SC2070 TR12-182 67
554789C1 2812320 29 55477701 1R14-019 114 SC2016 2814-354 3 52098 1R14-045 115
55479001 2B12-324 19 55477801 1R14-026 17 SC2017 2B14-355 34 $C2099 1R14-060 15
554791C1 2812-402 2 554779C1 1R14-028 n7 sc2018 2812411 30 52108 TR12-142 78
554792(1 2812-406 30 554780C1 1R14-030 114 SC2019 2812412 30 52109 1R12-145 79
55479301 2B12-410 30 55478101 1R14-037 112 $C2020 2B12-309 28 SC2110 1R12-178 84
554794C1 2812411 30 1680378C1 154-016 126 SC2022 2812410 20 SC211T 1R14-025 114
5547951 2812412 30 20277101 155-072 133 5C2023 2812-406 30 sa211s 1R14-031 114
554796(1 2B14-354 33 KENWORTH $C2024 2B12-300 27 SC2116 1R14-038 12
554797C1 2814-355 3 (81-1003 TR12-1204 102 5C2025 2812320 2 SC2120 TR12-256 9
5547981 2814-356 3 K-102-A IRT1-018 # 5C2026 2812-305 19 SC2121 1R14-042 112
554799C1 2B14-359 34 K-303-14 1R11-028 53 SC2027 2B12-402 32 SC2776 1R13-070 103
554800C1 2814-360 3 K-303-15 1R11-028 53 5C2028 2812324 19 LOAD AIR
554801C1 3814-354 41 K-303-16 1R11-242 57 502029 3814-356 42 [ Pl07sa 2B6-535 4
55480201 3B14-356 42 K-303-18 1R11-219 56 SC2030 3B14-360 4 MACK TRUCK
554803C1 3814-359 42 K-303-19 1R11-220 56 5C2031 3814-354 41 2270532 2B8-550 4
554804C1 3814-360 42 K-303-22 1R11-221 56 52032 3814-359 42 570K1113 2B8-550 4
160581C1 TR12-090 67 K-303-25 1R11-222 57 SC2071 289-206 2 5701239 2814-354 33
1660694C1 1R12-178 84 K-303-28 1R11-221 56 $C2072 2B9-218 23 20910892 1R12-647 98
16700431 IR12-401 101 K-303-5 IR11-018 # SC2073 2812313 28 21244322 TR12-1049 %
16724011 1R12-204 8 K-303-6 1R11-028 53 SC2074 2812319 29 21669088 TR12-1049 %
1675495C1 1R12-205 88 KWIK-LOC/TODCO SC2075 2B12-425 31 3645027 1R12-404 96
1681579C1 1R12-142 78 53671 2814-367 3 5C2076 2812-426 3l 3645028 1R12-365 69
16817371 1R12-145 7 (P-5523 2812427 3l sc077 2812427 3l 5701332 1R13-070 103
1681738C1 1R12-167 79 CP-3281 1R12-092 100 $C2078 2B12-428 32 57QL39306 1R13-070 103
168173901 1R12-182 67 (P-3281 1R12-509 72 SC2079 2814-365 3 570L411M 1R12-365 69
168174001 1R12-167 79 (P-5125 1R12-092 100 52080 2814-367 % 570L414M 1R12-404 %
1681742C1 1R14-025 114 CP-5125 1R12-509 77 SC2101 2B12-432 31 57QL519M 1R12-647 98
168174501 1R14-031 114 CP-5152 1R12-092 100 SC2119 3B12-301 37 57QL54M 1R12-615 101
16817461 1R14-038 12 (P-5152 1R12-509 72 S22 289-250 23 227053108M 156-026 13
1681747C1 1R14-042 112 LES AUTOBUS SC2123 2B9-251 2 22705312BM 155-154 134
1681748C1 1R14-045 115 10530086 1R8-034 4 SC124 289-252 23 2270533 154-007 126
16817491 1R14-060 115 10530087 1R10-090 50 52125 289-253 23 22705348 154-067 128 )
1685174C1 1R14-039 123 661759 1R10-085 50 52126 289-254 2 22705388 155-055 132 -
1686386C1 1R12-401 101 698934 1R8-034 46 SC2127 2B9-255 24 227Q539301 154-008 126 ;
20139472 1R9-054 a7 698935 1R10-090 50 SC2128 2812-434 2 270547M 155-164 134 o
20139482 1R9-056 47 65001705 R8-034 46 5C2129 2814-366 34 MASA S
2027911Q1 1R12-538 101 65008052 1R10-090 50 SC2130 3B12-300 37 227002002 2B12-309 28 ™
2027911Q2 1R12-538 101 65006637 153-011 126 SC2131 3812303 37 227004001 289-201 2
202791133 TR12-538 10 LINK CAB & SEAT SPRINGS 52132 3812-304 7 27138412 289-200 20
2027912C1 1R12-324 84 1101-0001 183-011 126 SC2784 3B12-312 38 mc
202791301 1R12-325 8 1101-0020 154-007 126 5C2033 TR12-095 83 126136 289-240 2
350243094 1R12-432 10 1101-0021 154-008 126 SC2034 TR12-069 66 120:3-52 2812-340 il
354173201 1R12-523 102 1101-0023 154-044 127 SC2034 1R12-669 75 12-01-1002 1R14-141 118
354173301 1R11-175 60 1101-0024 154-056 127 $C2035 1R12-092 100 12-01-1048 1R14-141 118
359611201 1R12-622 9 1101-0025 154-175 129 5C2035 TR12-509 72 12-01-1090 1R14-182 7
501559C1 1R12-090 67 11010030 1545-073 129 5C2036 TR12-066 66 12-01-1143 1R14-205 113
501559C2 1R12-090 67 1101-0031 154.5-179 130 SC2038 1R12-103 78 12-01-1249 1R14-216 114
517096091 1R12-220 68 1101-0040 155-005 130 SC2039 1R12-132 88 12-03-1029 1R14-106 17

162 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 163



CROSS REFERENCE INFORMATION cont CROSS REFERENCE INFORMATION cont

COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE
BELLOWS # # # # BELLOWS # # # # BELLOWS # # # # BELLOWS # # # #
MCl CONT. NEWAY CONT. NEWAY CONT. NOVABUS CONT.
12-03-1041 IR11-115 60 905-57-026 1814-358 2 905-57-087 1R13-070 103 61202944 1R12:511 76
12-03-6034 1R11-143 63 905-57-028 114-358 2 905-57-089 1R12-560 86 65001705 1R8-034 46
12-04-1158 1R14-222 121 905-57-039 2B14-355 H 905-57-090 1R12-370 89 65001706 1R8-034 46
12-04-6007 1R12-545 73 905-57-041 114-358 2 905-57-097 1R11-225 59 N15558 1R10-085 50
12-1-126 1R12-288 76 905-57-023 2B14-476 36 905-57-099 1R12-363 9 N15558 1R10-089 50
12F-4-34 TR10-091 51 905-57-236 3812-322 40 905-57-102 1R14-170 115 N16374 1R11-121 63
126-1-60 1R12-304 76 905-57-237 289-250 B 905-57-103 1R14-113 120 N17842 1R11-130 59
12)-1-23 1R12-139 88 905-57-257 2B14-469 18 905-57-110 1R13-047 104 N21361 1R12-422 49
12)-1-88 1R12-154 75 AR-1520 2814-355 M 905-57-111 1R14-159 19 N35162 1R11-232 65
12)-3-53 1R11-047 53 AR-1834 114-358 2 905-57-112 TR12-480 81 N38168 1R10-120 52
12K-1-45 1R12-288 76 TC-1442 2812-300 7 905-57-113 TR12-441 70 N39112 1R12-092 100
12K-3-11 1R12-156 84 TC-144-3 2812-320 2 905-57-117 1R12-502 72 N12687 153-011 126
12L-1-104 1R12-217 75 TC-144-4 212-309 2 905-57-118 TR12-481 % ORION
1211126 1R12-288 76 900-44-197 1R14-031 114 905-57-119 1R12-498 97 010132404-4 1R12-383 7
1211133 1R12-304 76 900-44-199 1R12-097 8 905-57-120 1R10-120 5 0201175114 1R10-109 51
121-1-135 1R12-304 76 900-44-200 1R12-093 67 905-57-121 1R11-166 64 20117526 1R10-127 52
1211136 1R12-217 75 900-44-201 1R12-113 78 905-57-122 1R10-122 52 20217501 1R11-147 63
12L-1-140 1R12-39 69 900-44-216 1R12-093 67 905-57-125 1R14-137 118 T14-1044 1R10-109 51
121-1-142 1R12-304 76 900-44-647 1R12-093 67 905-57-126 TR12-439 81 PACCAR
12L-1-169 1R12-394 69 900-44-653 1R12-113 78 905-57-129 1R12-435 106 20-19036 154-235 129
1211215 TR12-454 70 900-44-658 1R13-048 108 905-57-139 1R10-122 52 (81-1011 1R12-1097 102
120-4-212 1R9-053 4 900-44-668 1R13-048 108 905-57-149 TR12-505 90 PEERLESS
1214-261 1R10-091 51 900-44-670 1R13-049 104 905-57-152 1R12-586 74 0550-00001 2B12-425 3
12145 TR10-091 51 900-44-701 1R12-103 78 905-57-155 1R14-160 119 0550-00015 1814-350 2
12148 1R9-053 4 900-44-702 1R13-049 104 905-57-156 1R12-499 72 0550-00030 3814-354 f
12M-4-6 TR10-091 51 900-44-708 1R12-097 8 905-57-157 1R12-532 97 0550-00010 1R14-018 116
14002 1R11-200 55 900-54-218 1R12-113 78 905-57-159 1R12-571 87 0550-00051 1R12-350 76
1496372 1R10-099 51 900-54-234 1R12-097 8 905-57-160 1R12-487 8 0550-00070 1R14-026 17
1498928 1R11-189 59 905-44-608 1R13-070 103 905-57-167 1R13-152 107 0550-00080 1R14-019 114
1510979 1R13-133 106 905-54-060 1R13-049 104 905-57-168 1R13-153 107 0550-00081 1R14-019 114
1512076 1R11-143 63 905-57-003 1R14-028 17 905-57-170 1R12-434 90 PETERBILT
29921011 1R12-403 100 905-57-005 1R14-030 114 905-57-173 TR12-508 8 03-01649 1R12-069 66
39390246 1R10-101 58 905-57-006 1R12-092 100 905-57-179 1R12-586 74 03-01649 1R12-669 75
61004846 1R12-212 87 905-57-006 1R12-509 7 905-57-185 1R13-038 108 03-02038 1R12-069 66
MERITOR 905-57-007 1R12-621 97 905-57-200 1R14-174 116 03-02038 1R12-669 75
\ \ 20279 \ 1R13-130 [ w6 ] 905-57-008 1R12-103 78 905-57-209 1R13-120 106 03-02456 1R12-069 66
MILSCO 905-57-009 1R12-103 78 905-57-210 1R12-487 8 03-02456 1R12-669 75
\ \ 07067A \ 15-057 | 1 ] 905-57-011 1R12-095 83 905-57-211 1R12-554 73 03-04759 1R12-069 66
MONOCO COACH 905-57-012 1R12-351 7 905-57-212 TR12-552 73 03-04759 1R12-669 75
\ \ 14002 \ 1R11-200 s 905-57-019 1R13-039 104 905-57-213 1R12-553 73 03-05107 1R12-356 68
NABI-HF 905-57-020 1R13-038 108 905-57-214 TR12-485 7 03-06213 1R12-567 74
5009273 1R14-218 119 905-57-023 1R12-095 8 905-57-215 1R12-484 7 03-07111 1R12-567 74
5014470 1R14-177 119 905-57-027 1R12-092 100 905-57-216 1R12-486 n 0307112 1R12-069 66
630-5056 1R12-505 90 905-57-027 1R12-509 7 905-57-223 1R12-508 8 03-07112 1R12-669 75
633-7773 1R12-487 8 905-57-029 1R9-065 46 905-57-225 1R12-487 8 03-07887 1R12-568 82
633-9668 1R11-249 61 905-57-031 1R12-220 68 905-57-230 1R12-562 87 2310042 1R12-069 66
NEW FLYER 905-57-032 1R12-621 97 905-57-275 1R12-543 9 23-10042 1R12-669 75
13 1R13-053 105 905-57-034 1R9-065 46 AR-T115-1-F 1R14-028 117 2903200 155-186 135
14635 1R12-285 68 905-57-035 1R12-621 97 AR-1115-1-6 1R13-039 104 29-06016 155-190 136
55089 1R11-178 64 905-57-037 1R12-092 100 AR-1215-1-F 1R14-030 114 (81-6000 TR12-1204 102 =0
5920815 1R9-003 47 905-57-037 1R12-509 72 AR-1215-1-6 1R13-038 108 R81-6002 154-235 129 ]
5973877 1R9-003 47 905-57-038-1 1R12-370 8 AR-1315-1-F 1R12-092 100 R81-6003 154-234 129 -
5973923 1R9-003 47 905-57-052 1R13-039 104 AR-1315-1-G 1R12-092 100 PEZZANI 'zn
5993113 1R9-003 47 905-57-054 1R12-092 100 AR-1515-1 TR12-351 7 AR-21-A 2814-360 U S
65 1R12-285 68 905-57-054 1R12-509 7 AR-250-12 1R13-153 107 PREVOST ™
9594 1R12-512 9 905-57-069 1R14-030 114 AR-250-14 1R13-152 107 63-0166 289-240 2
99865 1R11-179 65 905-57-070 1R13-070 103 AR-250-15 1R13-152 107 63-0173 289-200 2
NEW HOLLAND 905-57-071 1R13-038 108 AR-250-16 1R13-153 107 63-0174 289-216 21
48100494 1R12-1047 100 905-57-075 1R12-092 100 AR-250-17 1R13-153 107 63-0185 2812-340 29
NEWAY 905-57-075 1R12-509 7 AR-90112 1R12-370 89 360258 1R12-631 9
570-07-180 2812-425 3 905-57-076 1R13-038 108 NOVABUS 63-0040 1R12-127 66
905-57-001 2814-360 34 905-57-077 1R13-038 108 61015009 1R12:511 76 63-0044 1R10-085 50
905-57-002 1812-301 18 905-57-078 1R13-039 104 61076863 1R10-105 51 63-0044 1R10-089 50
905-57-014 2812-300 27 905-57-082 1R12-103 78 61202328 1R11-169 64 63-0064 1R12-127 66
905-57-015 2812-320 2 905-57-083 1R13-039 104 61202651 1R11-169 64 63-0067 1R10-087 50
905-57-016 2812-309 2 905-57-085 1R12-095 83 61202652 1R11-169 64 63-0077 1R10-108 51

164 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 165



CROSS REFERENCE INFORMATION cont CROSS REFERENCE INFORMATION cont

COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE
BELLOWS # # # # BELLOWS # # # # BELLOWS # # # # BELLOWS # # # #
PREVOST CONT. REYCO CONT. RIDEWELL CONT. SILENT DRIVE
63-0090 1R11-090 62 21055-01 1R12-557 86 1003588805C 1R12-438 70 AS-7446 2B12-402 32
63-0092 1R11-088 62 21598-01 1R12-556 85 1003588919C 1R11-191 65 AS-8025 3B12-310 38
63-0093 1R11-243 65 23377-01 1R12-555 85 1003588924C 1R12-436 70 AS-8027 3B12-310 38
63-0094 1R11-090 62 23631-01 1R14-039 123 1003588986C 1R12-558 86 SMOOTH RIDE
63-0099 1R11-243 65 RIDEWELL 1003588997C 1R9-065 46 P10-755C 2B12-304 27
63-0102 1R11-244 61 1002B09270G 2B9-270 24 1003589010C 1R12-421 49 SPRINGRIDE
63-0104 1R11-088 62 1003586801C 2B14-365 35 1003589029C 1R12-559 86 566223087 1R11-278 1R11-028 53
63-0105 1R11-243 65 1003586805C 2B14-462 36 1003589039C 1R12-095 83 566223087 1R11-280 1R11-221 56
63-0106 1R11-090 62 1003586850C 2B12-463 32 1003589053C 1R12-309 84 566243143 1R12-1069 1R12-069 66
63-0109 1R11-109 63 1003586902C 2B9-239 25 1003589073C 1R11-018 49 566243143 1R12-1070 1R12-092 100
63-0125 1R12-631 93 1003586905C 2B9-206 21 1003589082C 1R12-092 100 566243143 1R12-1074 1R12-401 101
63-0126 1R11-244 61 1003586910C 2B9-200 20 1003589082C 1R12-509 72 566243143 1R12-1080 1R12-538 101
63-0129 1R11-097 59 1003586932C 2B9-246 25 1003589083C 1R12-066 66 566243143 1R12-1060 1R12-090 67
63-0151 1R12-377 99 1003586945C 2B9-253 23 1003589101C 1R12-103 78 566243144 1R12-1072 1R12-303 98
63-0158 1R10-087 50 1003586946C 2B9-254 24 1003589105C 1R12-132 88 566243144 1R12-1082 1R12-603 99
63-0162 1R12-406 49 1003586947C 2B9-255 24 1003589121C 1R13-039 104 566243145 1R12-1073 1R12-375 101
63-0178 1R12-145 79 1003586948C 2B9-251 23 1003589122C 1R13-038 108 566243145 1R12-1077 1R12-432 101
63-0179 1R12-156 84 1003587112C 1B14-358 20 1003589158C 1R14-030 114 566243145 1R12-1079 1R12-523 102
63-0180 1R12-288 76 1003587135C 2B14-360 34 1003589177C 1R14-028 117 566243145 1R12-1081 1R12-568 82
63-0181 1R12-217 75 1003587136C 2B14-356 34 1003589200C 1R14-038 112 566243146 1R12-1083 1R12-615 101
63-0182 1R12-304 76 1003587140C 2B14-359 34 1003589218C 1R13-120 106 566243147 1R12-1061 1R12-095 83
63-0183 1R12-396 69 1003587145C 2B14-354 33 1003589245C 1R12-446 9% 566243151 1R12-1078 1R12-508 85
63-0224 1R12-394 69 1003587146C 2B14-355 34 1003589250C 1R13-115 103 566243152 1R12-1071 1R12-256 93
63-0226 1R8-034 46 1003587180C 2B12-425 31 1003589252C 1R13-116 103 566243153 1R12-1075 1R12-403 100
63-0259 1R11-244 61 1003587400C 2B12-309 28 1003589275C 1R13-117 103 566243153 1R12-1076 1R12-404 9%
63-0260 1R11-243 65 1003587406C 2B12-426 31 1003589334(C 1R12-435 106 566263105 1R13-257 1R13-038 108
95-0208 153-011 126 1003587437C 2B12-320 29 1003589378C 1R11-202 55 566263106 1R13-258 1R13-118 106
950208 153-013 126 1003587443C 2B12-305 19 1003589387C 1R11-203 55 566263107 1R13-259 1R13-119 m
R & S TRUCK & BODY 1003587473C 2B12-428 32 1003589447(C 1R11-066 53 566263108 1R13-262 1R13-159 108
1027405 2B9-200 20 1003587800C 3B14-360 42 1003589448C 1R11-150 54 566263109 1R13-263 1R13-176 109
1027505 2B9-201 21 1003587808C 3B14-354 4 1003589457C 1R11-151 54 566263109 1R13-264 1R13-177 109
1027519 2B12-309 28 1003587818C 3B14-359 42 1003589459C 1R11-152 54 566263110 1R13-260 1R13-124 103
1027556 2B14-356 34 1003587839C 3B14-359 42 1003589797C 1R12-437 90 566263111 1R13-261 1R13-130 106
1040201 2B12-307 28 1003588008C 3B12-300 37 1003589961C 1R14-115 118 566283062 1R14-244 1R14-039 123
1082914 2B12-402 32 1003588010C 3B12-301 37 1013580702C 1R12-097 83 566283062 1R14-245 1R14-171 123
1090201 2B12-307 28 1003588030C 3B12-301 37 1013580708C 1R11-018 49 578923215 2B9-494 2B9-229 25
1090214 2B14-359 34 1006587437C 2B12-320 29 1013580712C 1R12-093 67 578923216 2B9-492 2B9-200 20
1090215 2B12-300 27 $-1326-C 2B14-360 34 1013589039C 1R12-095 83 578923216 2B9-493 2B9-201 2
1090023 1R13-039 104 S-1505-C 3B14-360 42 1013589102C 1R12-113 78 SUSPENSIONS INC.
1090216 1R14-028 17 S-1728-C 2B9-201 21 1013589123C 1R13-049 104 200042 2B9-201 21
1090217 1R12-092 100 S-2683-C 2B12-305 19 1013589124C 1R13-048 108 200117 3B12-310 38
1090217 1R12-509 72 $-2685-C 3B14-359 42 1013589154C 1R14-031 114 200118 2B9-252 23
1090218 1R12-095 83 S-2845-C 2B9-206 21 S-2061-C 1R12-095 83 200177 3B14-452 16
1090276 1R12-132 88 $-3159-C 2B12-426 31 $-2572-C 1R14-038 112 200180 2B9-254 24
1090326 1R14-159 119 $-3363-C 2B12-320 29 S$-2573-C 1R14-028 17 200448 2B12-307 28
10907 1R12-261 80 $-3364-C 1B14-358 20 $-2574-C 1R14-030 114 200620 3B12-304 37
REYCO S-4302-C 2B12-307 28 $-3052-C 1R13-039 104 200835 2B9-250 23
12906-01 2B9-218 23 $-4512-C 2B9-200 20 $-3053-C 1R13-038 108 200981 2B12-313 28
12906-02 2B9-218 23 S-4538-C 2B12-425 31 S-4695-C 1R14-028 17 201602 2B12-317 19
18813-01 2B12-440 33 $-4540-C 2B14-354 3 S-4797-C 1R14-028 17 200041 1R12-142 78 =3
19983-01 2B14-383 36 §-4830-C 3B14-354 4 $-5356-C 1R12-095 83 200457 1R12-095 83 q
20018-01 2B12-440 33 S-5844-C 3B12-301 37 S-542-C 1R12-092 100 200458 1R14-038 12 E
12882-01 1R12-092 100 S-788-C 2B12-309 28 S-542-C 1R12-509 72 201335 1R12-256 93 m
12882-01 1R12-509 72 1000001 1R12-467 81 $-570-C 1R12-132 88 201869 1R12-092 100 E
12882-02 1R13-039 104 1000002 1R14-127 120 $-5828-C 1R12-103 78 201869 1R12-509 72 ™
12883-01 1R12-103 78 1000006 1R14-151 115 S-740-C 1R12-103 78 202796 1R13-130 106
12883-02 1R13-038 108 1000008 1R14-175 121 SAUR AXLES (SAS) TAURUS
12884-01 1R12-188 68 1001R12584G 1R12-584 74 P-10-755 2B12-300 27 AS218-6902 2B9-201 21
12884-01A 1R12-188 68 1001R13-087 1R13-097 110 P50-733A (LIFT) 2B9-201 21 AS218-6910 2B9-200 20
12928-01 1R12-421 49 1001R13-097 1R13-097 110 PB10-784 2B12-434 32 AS218-6927 2B9-218 2
17360-01 1R12-560 86 1001R13-109 1R13-109 110 P50-705 1R12-132 88 AS214-7400 2B12-309 28
17361-01 TR11-204 55 1003580725C 1R12-132 88 P50-733B 1R13-039 104 AS214-7404 2B12-410 30
17636-01 1R12-195 79 1003585410C 1R9-070 48 P50-734 1R12-095 83 AS214-7405 2B12-313 28
20074-01 1R12-561 86 1003588725C 1R13-097 110 SEARS SEAT AS214-7406 2B12-426 31
20446-01 1R11-205 56 1003588802C 1R12-434 90 §-20235 154.5-121 130 AS214-7409 2B12-319 29
21054-01 1R11-201 55 1003588802X 1R12-445 90 $-9383 154.5-121 130 AS214-7410 2B12-406 30

166 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 167



CROSS REFERENCE INFORMATION cont CROSS REFERENCE INFORMATION cont

COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE
BELLOWS # # # # BELLOWS # # # # BELLOWS # # # # BELLOWS # # # #
TAURUS CONT. TRIANGLE CONT. TRIANGLE CONT. TRIANGLE CONT.
AS214-7180 2B12-425 31 6316 4331 2B12-406 30 6360 8399 1R12-559 86 6396 8513 1R13-130 106
AS214-7181 2B12-411 30 6316 4334 2B12-320 29 6360 8311 1R12-095 83 6412 4530 2B14-383 36
AS214-7183 2B12-412 30 6316 4343 2B12-427 31 6360 8328 1R12-351 77 6412 4543 2B14-476 36
AS214-7429 2B12-427 31 6316 4346 2B12-410 30 6360 8331 1R12-359 77 6412 4544 2B14-470 36
AS103-9073 1R11-018 49 6316 4363 2B12-425 31 6360 8339 1R12-350 76 6415 8537 1R11-221 56
AS302-9302 1R12-132 88 6316 4364 2B12-313 28 6360 8398 1R12-560 86 6415 8538 1R11-222 57
AS500-0702 1R12-097 83 6316 4365 2B12-426 31 6360 8399 1R12-559 86 6417 8414 1R14-037 112
AS500-9031 1R12-350 76 6316 4367 2B12-319 29 6360 8400 1R12-558 86 6417 8415 1R14-038 112
AS500-9033 1R12-351 77 6316 4368 2B12-432 31 6360 8480 1R12-556 85 6417 8422 1R13-120 106
AS500-9039 1R12-095 83 6316 4N 2B12-412 30 6360 8484 1R12-508 85 6361, 6388 8319 1R12-132 88
AS500-9077 1R12-359 77 6316 4472 2B12-411 30 6360 8503 1R12-557 86 6361, 6388 8327 1R12-309 84
AS502-0725 1R12-132 88 6319 4325 3B14-359 42 6360 8542 1R12-555 85 6361, 6388 8329 1R12-355 89
AS502-9053 1R12-309 84 6319 4329 3B14-356 4 6363 8310 1R12-092 100 6361, 6388 8395 1R12-505 90
AS502-9105 1R12-132 88 6319 4333 3B14-360 42 6363 8310 1R12-509 72 6361, 6388 8544 1R12-563 87
AS502-9113 1R12-132 88 6319 4336 3B14-354 4 6363 8317 1R13-039 104 6361/88 8427 1R12-367 89
AS504-9069 1R12-069 66 6325 4310 2B9-201 2 6363 8332 1R12-621 97 6361/88 8488 1R12-487 85
AS504-9096 1R12-358 68 6325 4315 2B9-206 21 6363 8333 1R12-066 66 6361/88 8495 1R12-571 87
AS504-9069 1R12-669 75 6325 4320 2B9-200 20 6363 8352 1R12-356 68 6362/85/88 8312 1R12-069 66
AS504-9069 1R12-669 75 6325 4362 2B9-210 21 6363 8353 1R12-130 67 6362/85/88 8312 1R12-669 75
AS506-0712 1R12-093 67 6325 4450 2B9-230 22 6363 8372 1R12-220 68 6362/85/88 8330 1R12-370 89
AS506-9069 1R12-069 66 6325 4452 2B9-246 25 6363 8376 1R12-143 75 6362/85/88 8450 1R12-205 88
AS506-9069 1R12-669 75 6325 4505 2B9-229 25 6363 8382 1R12-303 98 6362/85/88 8461 1R12-325 89
AS506-9080 1R12-066 66 6325 4510 2B9-245 22 6363 8391 1R12-441 70 6362/85/88 8462 1R12-438 70
AS506-9082 1R12-092 100 6325 4524 2B10-226 27 6363 8393 1R12-567 74 6362/85/88 8465 1R12-620 92
AS506-9082 1R12-509 72 6326 4339 1B14-358 20 6363 8407 1R12-090 67 6362/85/88 8469 1R12-434 90
AS506-9093 1R12-103 78 6326 4442 1B14-350 20 6363 8408 1R12-182 67 6362/85/88 8496 1R12-437 90
AS506-9194 1R12-356 68 6326 4447 1B14-351 20 6363 8409 1R12-188 68 6363/91 8406 1R12-424 96
AS509-9101 1R12-103 78 6328 4323 2B12-305 19 6363 8416 1R12-400 70 6363/91 8451 1R12-404 9%
AS509-9102 1R12-113 78 6328 4340 2B12-324 19 6363 8436 1R12-366 69 6363/91 8456 1R12-538 101
AS509-9203 1R12-395 80 6328 4370 2B12-402 32 6363 8497 1R12-436 70 6363/91 8519 1R12-403 100
AS509-9238 1R12-145 79 6328 4371 2B12-434 32 6365 8316 1R14-028 17 6363/91 8520 1R12-402 95
AS509-9348 1R12-357 0BS 80 6328 4372 2B12-428 32 6365 8364 1R14-026 17 6364/69/91/6414 8428 1R12-498 97
AS509-9241 1R12-261 80 6328 4502 2B12-317 19 6365 8365 1R14-018 116 6364/69/91/6414 8429 1R12-481 96
AS621-9121 1R13-039 104 6329 4311 2B14-360 34 6365 8367 1R14-115 118 6364/69/91/6414 8443 1R12-502 72
AS621-9123 1R13-049 104 6329 4316 2B14-359 34 6365 8405 1R14-159 119 6364/69/91/6414 8454 1R12-499 72
AS621-9148 1R14-026 17 6329 430 2B14-356 34 6365 8523 1R14-160 119 6364/69/91/6414 8501 1R12-554 73
AS621-9149 1R14-018 116 6329 4342 2B14-355 34 6366 8313 1R14-045 115 6364/69/91/6414 8548 1R12-532 97
AS621-9177 1R14-028 17 6329 4345 2B14-367 35 6366 8318 1R14-030 114 6364/87 8315 1R12-103 78
AS621-9179 1R14-028 17 6329 4374 2B14-354 33 6366 8370 1R14-019 114 6364/87 8321 1R12-281 80
AS621-9961 1R14-106 n7z 6332 4426 2B9-250 23 6367 8320 1R14-039 123 6364/87 8355 1R12-395 80
AS621-9961 1R14-115 118 6332 4427 2B9-253 23 6367 8378 1R14-042 112 6364/87 8356 1R12-145 79
£$622-9122 1R13-038 108 6332 4428 2B9-255 24 6368 8314 1R11-028 53 6364/87 8390 1R12-446 96
AS622-9124 1R13-048 108 6332 4428 2B9-280 25 6368 8379 1R12-178 84 6364/87 8435 1R12-375 101
AS622-9154 1R14-031 114 6332 4429 2B9-251 VA] 6368 8401 1R11-204 55 6364/87 8438 1R12-195 79
AS622-9156 1R14-019 114 6332 4448 2B9-252 2 6368 8447 1R11-202 55 6364/87 8470 1R12-439 81
AS622-9158 1R14-030 114 6332 4453 2B9-218 23 6368 8468 1R11-171 60 6364/87 8472 1R12-568 82
MC 6332 4463 2B9-254 24 6368 84771 1R11-200 55 6367, 6397 8514 1R11-219 56
10530087 1R10-090 50 6334 4413 3B12-319 38 6368 8478 1R11-201 55 6386/94 8434 1R13-118 106
661759C 1R10-085 50 6334 4430 3B12-304 37 6368 8515 1R11-242 57 6386/94 8486 1R13-153 107
684192 1R10-090 50 6334 4431 3B12-300 37 6368 8516 1R11-205 56 6399/6413 8530 1R14-174 116 =
684193 1R10-090 50 6334 4432 3B12-301 37 6368 8563 1R11-150 54 6399/6413 8539 1R14-127 120 q
6989635 1R10-090 50 6334 4434 3B12-303 37 6369 8323 1R13-117 103 4337 2B12-320 29 ;'
61020957 1R10-090 50 6334 4466 3B12-310 38 6369 8467 1R12-553 73 4369 2B12-446 32 '2"
TOYO 6334 4508 3B12-312 38 6371 8324 1R13-115 103 4369 2812416 33 ~
TRL230H3603 1R11-028 53 6334 4520 3B12-335 39 6371 8363 1R13-116 103 4436 3B14-356 42 ™
TRL-240/393 1R12-092 100 6334 4546 3B12-328 39 6372 8337 1R11-039 62 4437 3B14-359 42
TRL-240/393 1R12-509 77 6334 4547 3B12-329 39 6372 8517 1R11-191 65 4439 3B14-360 42
TRL-250 1R12-103 78 6335 4441 3B14-452 16 6373 8360 1R12-363 93 4454 2B9-266 24
TRL-270/476 1R13-038 108 6335 4456 3B14-451 16 6373 8505 1R12-256 93 4455 3B14-364 43
TRAILERS DE MONTERREY 6336 4449 2B14-366 34 6374 4468 1B12-301 18 4457 3B14-367 43
73312A 2B12-424 30 6336 4451 2B14-365 35 6378 8417 1R11-166 64 4464 2B12-434 32
733128 2B9-216 2 6360 8311 1R12-095 83 6378 8424 1R10-120 52 4465 2B12-432 31
TRIANGLE 6360 8328 1R12-351 77 6378 8425 1R10-122 52 4469 3B12-300 37
6316 4313 2B12-309 28 6360 8331 1R12-359 77 6383 8431 1R14-137 118 4480 2B12-440 33
6316 4318 2B12-307 28 6360 8339 1R12-350 76 6390 8460 1R13-159 108 4499 2B9-201 21
6316 4327 2B12-300 27 6360 8398 1R12-560 86 6390 8522 1R13-124 103 4503 3B12-304 37

168 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFINITY 169



CROSS REFERENCE INFORMATION cont CROSS REFERENCE INFORMATION cont

COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE COMPETITOR COMPETITOR GOODYEAR PAGE
BELLOWS # # # # BELLOWS # # # # BELLOWS # # # # BELLOWS # # # #
TRIANGLE CONT. TRP CONT. TRP CONT. TRP CONT.
4509 288550 4 AS70350 1545121 130 AS91580 TR14-030 114 AS9780P 1R12-303 9
4513 2812324 19 AS70360 155-186 135 AS91940 TR12-356 68 AS97970 1R12-437 9
4514 2B12-345 33 AS70870 155-040 131 AS92030 1R12-395 80 AS98070 1R12-1047 100
4525 3B12-312 38 AS71030 1B14-350 20 AS92130 TR12-090 67 AS99210 1R12-502 72
4541 2812-346 3 AST1050 1B14-351 2 A592190 TR12-182 67 A599220 1R12-498 97
8322 1R11-018 49 AST1080 155-057 132 A592230 1R12-188 68 A599230 1R12-481 %
8325 1R12-155 67 AS71350 2B14-360 34 AS92380 1R12-145 79 AS99350 1R12-532 97
8325 TR12-358 68 AST1400 2B14-359 3 A592430 TR12-480 81 AS99360 1R12-499 72
8345 1R12-421 49 AS71450 2B14-354 33 AS92450 1R12-446 96 AS99610 1R14-115 118
8358 1R12-261 80 AS71800 2B12-425 3 AS92500 1R13-115 103 AS99740 1R12-1048 95
8361 TR12-261 80 AS72060 155-176 135 A592520 TR13-116 103 ASC7750 287-548 4
8366 1R14-028 17 AS72150 185-175 135 AS92650 1R12-375 101 ASP1710 3B12-304 37
8377 1R13-047 104 AS73250 2B8-550 45 AS92700 1R13-119 m ASP8890 1R12-432 101
8397 TR12-561 86 AS74000 2812-309 28 A$92750 1R13-117 103 TRUCKSTELL
8410 R12-365 69 AS74030 2812307 2 AS92870 1R12-424 66,96 63640 3814-354 a
8433 1R13-239 m AS74050 2B12-313 28 AS92910 1R10-122 52 63641 2B14-360 34
8444 TR13-070 103 AST4100 2B12-406 30 A592930 TR10-120 52 63644 2814-360 3
8446 1R9-070 48 AST4240 2812-300 27 A592950 TR11-166 64 63647 1R12-103 78
8449 1R12-615 101 AS74430 2B12-305 19 AS92960 1R12-400 70 TIX
8471 1R12-435 106 AS74460 2B12-402 32 AS92970 1R12-402 95 1999408 2B9-225 22
8479 1R11-203 55 AS75500 2812-346 3 A592990 TR12-366 69 VoLvo
8482 1R12-435 106 AS75550 2812-440 3 A593020 1R12-132 8 2076095 2812320 P
8490 1R12-370 89 AS75570 2B14-383 36 AS93070 1R12-435 106 35203-0005 2B14-354 33
8501 1R12-554 73 AS77820 2814470 36 AS93080 TR12-560 86 35203-3204 2B14-354 3
8518 1R13-097 110 AST7950 2810-226 Vi A593200 1R12-363 9 20396293 1R12-615 101
8521 1R12-401 101 AS78080 3B14-354 a AS93210 1R12-335 93 20413888 1R12-615 101
8525 1R9-065 4 As78620 3B14-464 18 A593250 TR12-505 % 20505399 1R12-615 101
8526 1R13-177 109 AST9960 3812-335 % A593320 1R12-561 86 20733034 1R12-647 9
8533 1R13-176 109 AS80080 3B12-300 37 AS93350 1R12-620 92 21669088 1R12-1049 95
8479 1R11-203 55 AS80100 3812-301 37 AS93460 TR12-439 81 3180673 1R12-423 4
8482 1R12-435 106 ASB0180 3812-303 37 AS93490 1R12-195 79 31809842 1R12-462 7
8490 1R12-370 89 AS80270 3B12-310 38 AS93620 1R12-441 70 35003-3201 1R12-182 67
8501 TR12-554 73 AS80320 3812319 38 A593650 TR12:571 87 35003-3203 1R12-182 67
8518 1R13-097 110 ASB0330 3812312 38 AS93660 1R12-487 8 35003-3204 1R12-182 67
8521 1R12-401 101 AS80500 1R14-039 123 AS93670 TR12-256 9 35003-3209 1R12-182 67
8525 1R9-065 46 ASB0910 1R14-171 123 AS93710 1R12-401 101 3934699 1R12-615 101
8526 1R13-177 109 ASB2040 1R12-508 85 AS93730 TR12-403 100 8061151 1R12-400 0
8533 1R13-176 109 AS87090 1R13-159 108 AS93750 1R12-404 % 8079902 1R12-615 101
TRP AS87290 1R13-130 106 AS93760 TR11-200 55 8084296 1R12-615 101
AS24676 1R12-467 8l AS87480 1R13-152 107 AS93770 IR11-201 55 8097092 1R12-615 101
AS55030 1R14-174 116 ASB7490 1R13-153 107 AS93780 1R11-202 55 8169868 1R12-400 70
AS55031 1R14-170 15 AS87520 1R13-138 104 AS93790 1R12-178 84 66003-0004 155-060 132
AS67990 2B14-476 36 AS87550 1R13-124 103 A593850 IR11-178 64 66003-0007 154-042 127
AS68010 2B14-365 3 AS87740 1R14-172 121 AS93870 TR11-203 55 66003-3201 154-074 128
AS68030 2B14-366 34 AS87820 1R13-109 110 AS93920 1R11-159 54 8169029 155-070 133
AS68050 2B14-462 36 AS83020 1R12-434 % A593920 1R12-143 75 WATSON & CHALIN
AS68500 2812-463 32 AS88050 1R12-438 70 AS94210 RI1-171 60 AS-0001 289-200 2
AS68860 2B9-229 25 AS88290 1R12-615 101 AS94220 1R11-028 53 AS-0002 2B9-239 25
AS69020 289-239 2 As88520 1R12-568 82 AS94480 R1-150 54 AS-0003 2812-309 2
AS69050 289-206 2 As88550 1R12-644 9 AS94660 1R12-365 69 As-0004 2B14-356 3 )
AS69080 289-210 2 AS89030 1R11-252 59 AS94710 TR12-504 81 AS-0005 2812402 2 -
AS69100 2B9-200 20 AS90100 1R12-352 89 AS94720 1R12-553 73 AS-0006 3B14-356 LY} ;
AS69260 289-288 2 AS90260 1R12-567 74 AS94730 TR12-586 74 AS-0007 2812-307 2 o
AS69270 289-218 3 AS90390 1R12-095 83 AS94760 1R11-205 56 As-0008 2814-359 3 S
AS69320 2B9-246 25 AS90690 1R12-069 66 AS95010 1R12-485 7 AS-0009 2B12-300 27 ™
AS69350 289-201 2 AS90700 1R12:370 89 AS95010 TR12-552 73 As-0014 2812-320 2
AS69400 289-230 2 AS90820 1R12-092 100 AS95670 1R12-325 89 As-0019 3812-300 37
AS69410 2B9-265 24 AS90830 1R12-066 66 AS95680 T1R12-205 88 AS-0019-1F 3B12-328 39
AS69430 289-250 3 AS91010 1R12-103 78 AS595800 TR13-118 106 As-0020 289-206 7y
AS69440 289-252 3 AS91210 1R13-039 104 AS96160 1R11-242 57 As-0021 2814-365 3%
AS69440 2B9-266 24 AS91220 1R13-038 108 AS96250 1R11-222 57 AS-0025 3B14-359 42
AS69450 289-253 3 A591220 1R13-045 115 A596340 TR12-636 9 As-0027 2812-305 19
AS69460 289-254 il AS91300 1R12-281 80 AS96400 1R12-367 89 A5-0030 288550 4
AS69470 2B9-255 24 AS91340 1R14-137 118 AS96480 1R12-538 101 AS-0032 2B14-470 36
AS69480 289-251 3 As91380 1R14-159 19 AS96750 R11-221 56 As-0033 3814-359 42
AST0090 1B12-301 18 AS91440 1R13-047 104 AS9780A TR12-603 % AS-0034 2B14-476 3

170 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFiNiTY ]



CROSS REFERENCE INFORMATION cont
NOTES

WATSON & CHALIN CONT.
AS-0035 289-210 2
AS-0041 289-250 Vel
£S-0048 3812-319 38
AS-0048-1F 3812-329 %
AS-0048-26 3812-324 38
AS-0048-36 3812-342 39
AS-0058 289-229 2%
£S-0075 3812-303 7
AS-0086 3814-452 16
AS-0087 2812-346 3
AS-0087-1F 2812-345 B
£S-0088 289-245 2
£S-0089 2814-383 %
AS-0010 1R14-028 17
AS-0011 1R12-092 100
£S-0012 1R12-095 8
£S-0013 1R13-039 104
AS-0015 1R12-132 88
£S-0017 1R11-028 53
AS-0018 1R12-066 66
£S-0023 1R13-038 108
£S-0023-16 1R14-154 15
AS-0026 1R9-065 4
AS-0028 1R12-066 66
£S-0029 1R9-070 48
AS-0036 1R12-335 9
AS-0039 1R14-039 123
£S-0040 1R12-103 78
AS-0044 1R12-421 49
AS-0047 1R14-174 116
AS-00476 1R14-170 15
£S-0049 1R12-441 70
AS-0050 1R12-370 89
£S-0053 1R12-370 89
AS-0054 1R12-487 8
AS-0056 1R12-439 81
AS-0057 1R12-580 99
AS-0061 1R12-480 81
AS-0073 1R13-120 106
£S-0077 1R12-069 66
£S-0077 1R12-669 75
AS-0078 1R14-042 12
AS-0082 1R14-038 n
£5-0083 1R13-039 104
AS-0084 1R13-239 m
AS-0090 1R12-502 7
£S-0095 1R12-309 84
£S-0096 1RI3-115 103
AS0098 1R13-207 110
AS-0101 1R12-356 68 =0
AS-0104 1R12-256 9 n
AS-01076 1R13-155 105 -
AS-01136 1R12-541 i 'zh
AS-01146 1R12-540 9 =
AS-0144 1R14-190 122 ™
£S-0241 1R14-232 i
AS-0246 1R14-236 122

172 INFINITY Find Products and Order Online | www.infinityairsprings.com Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297 INFiINITY 113



INFINITY ENGINEERED PRODUCTS
STANDARD TERMS AND CONDITIONS OF SALE

Definitions:

a. “Buyer” means Infinity Engineered Products and “Seller” means the legal entity contracting with
the Buyer.

b. “Order” and “Purchase Order” are used synonymously.

¢. “Delivery Date” means the required date of delivery for Goods on the Purchase Order or Blanket
Order Release; or the acceptance in total of the Services provided by the Seller.

2. Acceptance, Modification, and Entire Agreement: Placement of this order constitutes
Buyer’s offer to Seller upon terms and conditions stated herein and on the face of the purchase
order and does not constitute an acceptance by the Buyer of any offer to sell. This order becomes a
binding contract, subject to the terms and conditions thereof, when accepted by acknowledgment or
commencement of performance and is binding on the heirs, successors, assigns, and representatives
of the Seller. Placement of this order is expressly conditioned upon Seller’s acceptance of all the
terms and conditions of purchase contained on or attached to this order. Any acknowledgment form
or other form of Seller containing terms and conditions of sale submitted to Buyer from Seller shall
not have the effect of modifying the terms and conditions hereof. Any such additional or different
terms and conditions are hereby objected to and rejected by the Buyer. Buyer may consider Seller’s
request for changes only if such request is made in writing and directed to specific clauses in this
order within ten (10) days of issuance of this order. By acceptance of the order, Seller agrees fo
comply with the terms and conditions contained herein and to provide all Goods and/or Services

as described within the purchase order. These terms and conditions constitute the enfire agreement
between the parties and supersede any previous oral or written representations, including but not
limited fo provisions in Seller’s quotations, proposals, terms and conditions, acknowledgments,
invoices or other documents. No change or modification o Buyers terms and conditions shall be
binding upon Buyer unless specifically accepted in writing.

3. Delivery: Time is of the essence in regard to fulfilling this order. Seller shall deliver the

Goods and/or Services ordered by Buyer no later than the Delivery Date. Seller shall immediately
notify Buyer in the event that Seller’s performance is delayed o likely to be delayed, in whole or

in part, and Seller shall provide Buyer with all information regarding any reasons for such delay.
Such notice shall not constitute a waiver by Buyer of any Seller’s obligations under the purchase
order. Buyer has the right to cancel all or a portion of this order which has not been delivered in
accordance with the Delivery Date. Seller will limit and phase expenditures, incurrence of costs,

and purchases and subcontract commitments for raw materials and components in such fashion

to ensure continuity in production and permit performance and completion of each production
increment in sequence without creating any unreasonable accumulations of raw materials or work in
process of components for any production increments. If the specified mode of transportation for the
Goods would not permit the Seller to meet the Delivery Date, Seller shall ship Goods by air freight
or other expedient means acceptable fo the Buyer and Seller shall pay the costs of such freight

for such expedited shipment, over the cost of the specified mode of fransportation. Seller shall

be liable for any production line stoppages or related expenditures incurred by Buyer or charged

to Buyer by its customers, which are caused by the failure of Seller to delivery its Goods and/or
Services in a timely manner. Default in delivery caused by Acts of God or other extraordinary events
or occurrences beyond Seller’s control and without its fault or negligence shall not make Seller
liable therefore, provided Seller immediately notifies Buyer of said event and the estimated delay
in delivery. It the Goods and/or Services ordered by Buyer are in excess of the volume stated on the
order, and/or its releases, or are delivered more than five (5) days prior fo the Delivery Date, Buyer
may reject such delivery of Goods andy/or Services and may return such rejected Goods at Seller’s
own risk and expense, including, without limitation, transportation and insurance charges. Buyer
may delay delivery or acceptance occasioned by reason of force majeure or other causes beyond its
control. Seller shall hold such Goods at the direction of the Buyer and shall deliver them when the
cause affecting delay has been removed. Causes beyond Buyer’s control include, without limitation,
government action or failure of the government to act where such action is required, strike or other
labor issues, fire, destruction or impairment of fucilities, or Acts of God.

4. Default of Seller: If Seller shall (a) fail to deliver Goods and/or Services within the time
scheduled or in compliance to the Delivery Date or (b) fail to perform any other provision of this
order or (c) become insolvent, or (d) file or have filed against it a pefition under any state or federal
bankruptcy or insolvency law, then, and in any such event, without prejudice to Buyer’s other
rights or remedies Buyer shall have the right at its option fo terminate this order, in whole or in
part. Upon any such fermination Buyer may exercise any and all rights accruing to it, both at law
including those set forth in the Uniform Commercial Code or in equity and may also (1) require
Seller to deliver forthwith any or all Goods , or parts thereof, which have been produced, or are in
process of production pursuant to this order, in which event Buyer shall pay Seller the order price
for the acceptable completed items so delivered and shall reimburse Seller for its costs actually
incurred with respect to the partially completed Goods so delivered, provided that such costs in no
event shall exceed the order price equitably allocated therefore and (2) procure, for such items and
in such manner as it may deem appropriate, Goods and/or Services similar to those terminated,
and to recover from Seller the excess cost incurred by Buyer in procuring such similar Goods and/or
Services. Seller’s obligations under the Warranty, Patent and Confidentiality provisions of this order
shall survive such termination.

5. Price: This is a firm price order. Seller represents and warrants to Buyer that the price for Goods
and/or Services provided under the purchase order are the lowest prices, whether or not published,

for which the Seller has sold or is selling such Goods and/or Services, taking info account any
differences in quantities and/or delivery schedule. Buyer shall be entitled to receive from Seller

a price reduction if Seller offers substantially similar Goods or Services to others at a lower price
(taking into account differences in quantities and delivery schedule) at any time during the period
beginning on the date of the order and ending ninety (90) days after the final payment due date for
such Goods or Services. Buyer may take volume discounts refroactively.

All payments due under the purchase order to Seller shall be paid in United States dollars as agreed
by Buyer and Seller, from the date of invoice from the Seller. Partial payments may be made af
Buyer’s option. Buyer may set-off any amount owed by Buyer to Seller against any amount owed
Buyer from Seller. Seller’s acceptance of payment constitutes an unconditional waiver and release
of any statutory lien, mechanic’s lien, stop notice, bond right, and claim for payment. Seller
warrants, represents and covenants that when final payment is accepted from Buyer, title to all
work, materials, and/or equipment shall pass to Buyer free and clear of all liens, claims, security
interests or any other encumbrances; and all applicable taxes have been fully paid; and all laborers,
mechanics, and subcontractors have been paid or will be paid in full from the final payment. Seller
shall pay, without charge to Buyer, any federal, state or local tax or other government charge or
assessment relating to the production, sale or shipment of any Goods or provision of Services under
the purchase order unless otherwise expressly agreed to in writing by the Buyer. Seller shall make
spare parts for Goods purchased pursuant fo the order available to the Buyer at Seller’s current price,
less all applicable discounts. All costs associated with custom product tooling shall be paid by Seller,
unless otherwise expressly agreed to in writing by Buyer. Seller shall bear responsibility for all errors
confained in any invoice, acceptance, acknowledgment or confirmation it provides to the Buyer.

6. Changes: Buyer may make changes in the drawings and specifications on any item af any
time. If such changes result in delay or additional expense to Seller, an equitable adjustment of
price and delivery schedule will be made.

7. Specifications: If drawings, blueprints, or specifications are furnished by the Buyer, the purchase
order shall be based upon such drawings, blueprints, or such specifications, and approval of samples by
Buyer shall not relieve the Seller from strict and full compliance with such blueprints or specifications.
Goods and/or Services not conforming to such blueprints or specifications may be rejected.

8. Inspection / Acceptance: Seller agrees to permit Buyer’s inspectors fo have access to Seller’s
plant at all reasonable times for the purpose of inspecting the items as set forth in this order and

work in process for production of such items. All items are subject to final inspection and approval at
Buyer's facilities or other place designated by Buyer. Such inspection shall be made within a reasonable
time after delivery irrespective of the date of payment. The date of payment and the payment for any
item purchased hereunder shall not constitute approval or acceptance of such material by Buyer and
Buyer's right of inspection shall survive payment. Any inspection records relating to the Goods and/or
Senvices on the order shall be available fo Buyer for @ minimum of one (1) year after delivery to Buyer.
No inspection (including source inspection) test, approval (including design approval) or acceptance

of Materials shall relieve the Vendor from its obligations hereunder or be deemed acceptance of the
Materials. Buyer may (1) assess Seller a fee associated with the delivery of defective Goods (2) assess
the Seller for all incurred costs and may (3) return rejected items at Seller’s expense and Seller shall
bear all costs of return and risk of loss as to rejected items. Seller shall, at Buyer's election, replace any
rejected items returned to Seller hereunder, refund the full purchase price thereof and bear the costs
associated with any air freight or expedited delivery to the Buyer of conforming product to remedy any
defects of nonconformity to specifications, drawings, or provided samples.

9. Packaging and Shipping: All items shall be prepared and packed for shipment in a manner
that will prevent damage in transit. Buyer is not liable for extra charges for packing, cartage or any
other expense related therefo unless stated in this order. Seller shall provide Buyer’s part number,
order number, line number and release number on all invoices, packing slips, container labels and
any other shipping documentation.

10. Warranty: Seller warrants that all goods and/or services provided by it (i) shall be of good
quality and workmanship and free of defects, latent or patent; (i) shall conform to all specifications,
drawings or descriptions which are supplied by Buyer; (iii) shall be merchantable and suitable

and sufficient for their intended purpose; and (iv) shall be free from any claim of any third party.,
including without limitation any claims of infringement. Seller may not negate, exclude, limit or
modify any warranty otherwise available to Buyer. Any attempt by Seller to do so is ineffective

and shall not in any way bind Buyer. Buyer’s inspection or acceptance of any goods or services, or
Buyer’s payment for goods or services shall not constitute a waiver by it of any warranty. None of
the remedies available to Buyer for breach of any of the forgoing warranties may be limited except
to the extent and in the manner agreed upon by Buyer in a separate written agreement specifically
designating such limitation and signed by an authorized representative of Buyer.

11. Cancellation, Termination for Convenience: Buyer reserves the right to cancel this
purchase order, or any part thereof, at any time, even though Seller is not in default hereunder,
by giving written notice to the Seller in the event of such cancellation. Buyer shall pay for all
goods and services delivered and completed and an equitable settlement shall be arrived at for
the costs incurred by Seller for goods and materials in process not to exceed thirty (30) days
average procurement by the Buyer over the previous ninety (90) days prior fo notification. Where
cancellation is by reason of termination of a contract of the United States Government under which

Find Products and Order Online | www.infinityairsprings.com

this purchase order has been placed, Buyer will pay the Seller at such time as Buyer is paid by

the United States Government. Upon receipt of any notice of cancellation hereunder, Seller, unless
otherwise directed, will immediately discontinue all work in process and immediately cancel all
orders or subcontracts given or made pursuant to this purchase order. Exercise by Buyer of the rights
of cancellation reserved in this paragraph shall give rise to no liability on the part of the Buyer
except as specified in this paragraph and shall not have the effect of waiving damages the Buyer
might otherwise be entitled to.

12. Patent, Trademark, Copyright Indemnity: Seller agrees to indemnify Buyer and its
successors, assigns and customers and hold them harmless from and against all caims, liability,
loss, damage or expense, including attomey’s fees and expenses, arising from or by reason of any
suit, claim or demand relating to trademark, patent or copyright infringement or litigation based
hereon with respect to the Goods and/or Services, or any part thereof, covered by this order and
such obligations shall survive acceptance of the Goods and/or Services and payment thereof by
the Buyer. Seller agrees that it will assume the defense of the Buyer and/or its successors, assigns
and customers and users of its products against any such aforementioned suit, claim, or demand,
pendency of any such suit, claim or demand; provided that it is given reasonable notice of the
pendency of any such suit, claim, or demand.

13. Indemnity: Seller will indemnify, defend and hold harmless Buyer, its affiliates, successors
and assigns, and its and their respective officers, directors, employees, independent contractors,
agents, successors and assigns (collectively, the “Indemnified Parties”), from and against any and
all liabilities, losses, costs, expenses, claims and proceedings which any of the Indemnified Parties
may suffer or for which any of the Indemnified Parties may become liable and which arise out

of any of the following; Seller’s breach of any provision herein or any other agreement between
Buyer and Seller; the manufacture or delivery of Goods or any defect in the Goods an/or Services,
workmanship or otherwise; any act or omission of the Seller; any actual or alleged infringements

of any infellectual property right of any other party, resulting from any sale, use or manufacture of
any Goods delivered hereunder; Seller’s failure to comply with any federal, state, county or local
laws, ordinance, regulations and codes; and any and all actions, suits, proceedings, demands,
assessments, judgments, costs and expenses, including reasonable attorneys” and consultants” fees
incident o any of the foregoing. If there is a claim against Buyer arising out of the foregoing, Seller
will have the right, at its option and expense, to defend any such proceeding, claim or demand. If
Seller defends such claim, Buyer shall still have the right, at its cost and expense, to participate in
the defense with counsel of its own choosing. Buyer may refain counsel and conduct the defense

of the proceeding, claim or demand in question as it may deem proper in its sole discrefion, at the
sole cost and expense of Seller. Seller may not settle any such proceeding, claim or demand without
Buyer’s consent, which shall not be unreasonably withheld.

14. Subcontract, Assignment: Seller shall not, without the prior written consent of Buyer,
make any contract with any other legal entity for fumishing any of the completed or substantially
completed Goods and/or Services covered by this order or assign this order or any right hereunder.

15. Buyer’s Property: Al tools, dies, jigs, pattems, equipment or material and other items
purchased, furnished, charged to or paid for by Buyer and any replacement thereof, shall remain
the property of Buyer. Such property shall be plainly marked to show it is the property of Buyer
and shall be safely stored and maintained apart from other property held by Seller. Seller shall not
subsfitute the property for Buyer’s property and shall not use such property except in filling Buyer's
orders. Seller shall hold such property at its own risk and upon Buyer’s written request deliver the
property to Buyer in the same condition as originally received by Seller, reasonable wear and tear
excepted. Title to and right of possession to special tooling, dies, jigs, patterns and equipment, the
cost of which is fully or substantially amortized in the price of the Goods purchased, shall remain
with Seller but Seller shall, at no additional cost o Buyer, hold such special tooling for Buyer’s
exclusive use and Seller shall not dispose of such tooling without prior written approval of Buyer.
Seller shall take all necessary measures to preserve Buyer’s title to Buyer’s property, free of all
encumbrances. Buyer retains the right in addition to other rights provided by law, o enter Seller’s
premises and remove Buyer-owned property with or without a court order. Seller shall assume and
shall indemnify Buyer against any and all liability for damages to property or injury to, or death of
any persons which may arise from, may be incidental to the presence of, or may involve the use of
Buyer-owned property whether such damage, injury or death is caused by defects in the property,
negligence in the use thereof or otherwise.

16. Drawings, Specifications and Technical Information: The ideas, information and
designs contained in or shown upon, and the drawings, specifications, photographs and other
engineering and manufacturing information supplied by Buyer shall remain Buyer’s property, shall
be refained in confidence by Seller and not be disclosed to any other person or entity, and shall not
be used nor incorporated into any product or item later manufactured or assembled by Seller for
anyone other than Buyer. Any unpatented knowledge or information concerning Seller’s processes,
present or contemplated products or their uses, which Seller may disclosed to employees of Buyer
in connection with the ordering, acquisition and use by Buyer of the goods or services covered by
this order shall, unless otherwise specifically agreed in writing, be deemed to have been disclosed
as part of the consideration for this order and Seller agrees not to assert any claim against Buyer by
reason of any alleged use to which any such information or knowledge may be put by Buyer.

17. Chemical Substances: Not withstanding anything to the contrary hereafter represented by
either party to the other, Seller warrants that each and every chemical substance sold or otherwise
transferred by Seller to Buyer as of the time of such sale or transfer that is required or permitted to
be reported for the inventory of chemical substances (409 CFR Part 710) has been reported to EPA
gither by Seller or by others for incorporation in the inventory of chemical substances compiled and
published by the administrator of the Environmental Protection Agency pursuant to the Federal Toxic
substances Control Act (PL 94-469).

18. Hazardous Materials: Seller shall notify Buyer of any inherent hazard related to any
materials which could be exposed during handling, transportation, storage, use, resale, disposal
or scrap. Said notice shall be sent to the Buyer’s Director of Supply Chain Management and shall
specify the product name and part number, the nature of the hazard, proper precautions that must
be undertaken by Buyer or others to protect against the hazard, and any additional information
necessary fo profect ifs inferest.

19. Compliance with Law: Seller represents and warrants that the performance of this order

in fumishing of goods and/or service called for shall be in accordance with the applicable standards,
provisions and stipulations of all pertinent federal, state, or local laws, rules, regulations, executive
orders or other ordinances, including but not limited to the Fair Labor Standards Act, as amended and
of regulations and orders of the United States Department of Labor issued under Section XIV thereof, the
Occupational Safety and Health Act of 1970, and the Toxic Substances Control Act, each as amended
and in connection therein. Seller shall include the following legend on all invoices: “We hereby certify
that the goods were produced in compliance with all applicable requirements of the Fair Labor Act, as
amended, and of regulations and orders of the United States Depariment of Labor and that the goods
as installed and/or used by Buyer will comply with the Occupational Safety and Health Act of 1970 as
amended and the implementing rules and regulations promulgated by the Secretary of Labor”.

If Seller is providing goods to Buyer, Seller agrees to review and comply with Buyer’s

conflict minerals policy statement (available at the url: http//phx.corporate-ir.net/phoenix.
zhiml?c=131738&p=irol-conflictMineral) and to use commercially reasonable efforts to: (a)
identify whether such goods confain tantalum, tin, tungsten or gold; (b) conduct a reasonable
country of origin inquiry regarding the origin of such minerals in such goods to determine whether
such minerals originated in covered countries, as defined in Section 1502 of the Dodd-Frank Wall
Street Reform and Consumer Protection Act; (c) if such minerals originated in covered countries,
conduct due diligence on the chain of custody of the source of such minerals for the purpose

of identifying the smelter of said materials; and (d) assist Buyer in conducting reasonable due
diligence concerning the smelters of such minerals. Seller shall include the substance of this Section
in any agreement between Seller and its lower tier sellers and provide Buyer with reasonable
documentation of Seller’s and its lower tier sellers” due diligence efforts, in a format prescribed by
Buyer, when requested by Buyer.

20. Equal Opportunity: During the performance of this order, the Seller shall comply

with provisions of Executive Order 11246, including all amendments thereto relative to Equal
Employment Opportunity and the implementing rules and regulations of the Department of Labor on
Equal Opportunity Employment, all of which are incorporated herein by specific references and Seller
shall on Buyer’s request, so certify.

21. Gratuities: Seller represents and warrants to Buyer that Seller has not offered or given any
employee, agent, or representative of Buyer, or any government, any gratuity with the intent of
securing any business from Buyer or favorable treatment under any agreement with Buyer. Any
breach of this warranty shall be a material breach of the terms and conditions of each and every
purchase order between Buyer and Seller.

22. Waiver: Failure of Buyer to insist on performance of any of these terms and conditions shall
not be construed as a waiver of such items, conditions or requirements and shall not affect the right
of Buyer thereafter to enforce each and every ferm, condition or requirement hereof.

23. Severability: If any language herein shall be invalidated for any reason, that language shall
be considered deleted and the remainder shall be unaffected and shall continue in full force and
effect to the fullest extent permitted by law.

24, Survival: The parties acknowledge and agree that the Terms and Conditions are intended

to govern the rights, duties and obligations of the parties following the closing. Accordingly, this
Agreement shall survive and shall not be deemed merged into, the execution or delivery of any Good
and/or Service.

25. Cumulative Remedies: Nothing herein shall limit Buyer’s rights in law or equity for
damages resulting from the delivery of any Goods and/or Services. The remedies provided herein
are cumulative and are in addition to any other remedies provided at law, or in equity, and nothing
herein shall be construed as prohibiting Buyer from pursuing any other remedies at law or in
equity available to it for any breach or threatened breach of these Terms and Conditions, all of such
remedies being cumulative in every respect. No waiver of any breach or violation hereof shall be
implied from forbearance or failure by Buyer to take action thereon.

26. Choice of Law and Personal Jurisdiction: This contract is made in the County of
Harrison and shall be governed and construed in accordance with the laws of the State of Texas.
Any action relating to this contract shall be instituted and prosecuted in the courts of the County of
Harrison, State of Texas or the United States District Court for the Eastern District of Texas. Seller
agrees fo submit to the exclusive jurisdiction of such courts and further agrees not fo contest such
venue as a forum non conveniens. Pending any decision, appeal or judgment in such proceedings
or the settlement of any dispute arising under this order, Seller shall proceed diligently with the
performance of the order in accordance with decision of the Buyer.

27. Miscellaneous:
A. The relationship of Buyer and Seller is that of independent contractors.
B. Unless authorized by Buyer in writing, the names of Buyer, its parent, subsidiaries and/or
affiliated corporations or any of their trademarks shall not be used by Seller.
(. No news release, public announcement, denial or confirmation of same or any part of the
subject matter of this purchase order or any phase of this purchase order shall be made without
the prior written approval of Buyer.

Order By Phone: (800) 527-8492 | Order By Fax: (800) 874-4297



NOTES

Find Products and Order Online | www.infinityairsprings.com

]

INF A FVYEE AV4

wr IINI I &

ENGINEERED PRODUCTS

The quality you trust, now from the leader in roadway safety.

Infinity Engineered Products is now is now the official manufacturer of Goodyear® Air
Spring products, including Super Cushion® rolling lobe and bellows air springs, sleeve and
custom designed air springs. Designed to reduce driver fatigue, component wear and
downtime, Goodyear® Air Spring products lead the industry in comfort and performance.

GOODSYEAR.

AIR SPRINGS




North America

Infinity Engineered Products

3524 Southwestern Blvd.

Fairlawn, OH 44333

234-466-7232

Customer Service — (800) 527-8492

www.infinityairsprings.com

The GOODYEAR trademark is used by Infinity
Engineered Products under license from the Goodyear
Tire & Rubber Company. © 2020 Infinity Engineered
Products. All Rights Reserved. Printed in the USA.

N AN N ==
INFiiNiT Y

ENGINEERED PRODUCTS



